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(1.4) : Given an input, a coding machine
Mﬁtd pas&. codes for six batches every day as fol-

[
P07 o pk Po Exam.10.10.2004)
S I’ﬂ:'::e: you should know about type of questions’
pase Code ¢

chl:you questions should of know type about

patch 11 ¢ about you type questions know should of
about of you should type know questions.

oy tch 1l :

g ::dsoonm]mesixﬂlbatch

dy. - heiret batch begins work at 10.00 a.m. Each batch
. one hour. There is a rest period of one hour

R gorts for .
v . the fourth batch’s work 1s over.
1. Ifthe inputon a day is ‘eight friends are sitting in

the d.l’dC'. then what will be the pass code for the
W patchat3.00p.m.?

(1} the circle in friends are sitting eight
1w (2] circle sitting are the in cight friends

(3) sitting friends the are circle In eight

(4) circle friends sitting eight are in the

with a pass code ‘sentence awarded by high court
was executed’. However, he was compelled to worlk.
in the batch at 12 noon on that day. What was his

pass code then ?
(1) awarded sentence executed high by court was

{5) None of these
3, Ajay was to attend the batch at 4.00 p.m. on a day
the

7 {2) was executed by awarded court high sentence

J {3) by high was sentence court awarded executed

o (4 high sentence awarded executed court was by
{5) None of these

3. What will be the input on a day on which pass
code for the immediate pre-rest hour batch is ‘an-
swer-sheet information your the on fill up’ ?

(1) fill up your information on the answersheet
{2) fill answersheet up the your on information
(3) information your up answersheet on fill the
(4) information up on the fill answersheet your
(5) None of these
4. The pass code for the 6th batch on a day was ‘'mark

your answer against appropriate serial number’.
What was the input provided to the machine on

carefully and answer the given questions :

the Input following certain steps as

is done following the same rules as explain:
fllustration.

e /
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(3) number against serial appropriate answer mark
your
(4) your answer number mark
against '
(5) None of these
Directions (3-8) : Study

serial appropriate

the following information

Gtven an input line,
Input : 47deecrtg056thereoftcn32 12
Step I: 47 desert go 56 there often 32 12
Step II : there 47 desert go 56 often 32 12

Step I : there 12 often 47 desert go 56 32

Step IV : there lzoﬁen3247desertgo56

Step V : there 12 often 32 go 47 desert 56
Arrangement in Step V is the final arrangement and

Step V is the last step.

In each of the following questions the rearrangement
ed in the above

8. If the fourth step of input is ‘wonderful 22 seashore
36 48 fine 62 morning, what was the first step ?

(1) fine 48 wonderful 22 seashore 36 62 morning
(2) fine 48 wonderful 22 36 seashore 62 morning
(3} fine 48 seashore wonderful 22 36 morning 62
(4) fine 48 seashore wonderful 36 22 morning 62
{5) Cannot be determined
6. What will be the third step for the following input ?
Input : paper cornmon 36 51 pencil 28 test 66
(1) test 28 paper pencil common 36 51 66
(2} test 28 pencll 66 paper common 36 51
(3) test 66 pencil paper 28 common 51 36
{4) test 28 pencil paper common 36 51 66
(5) None of these
7. 1f Step 11 of an Input is ‘waive 14 available time 38
46 probation 85, how many more steps will be re-
guired to complete the arrangement ?
{1) Three (2) Four {3) Five
(4) Two (5) None of these

. that day ?
] Y
(1) oum! i 8. Which step will be the last step for the input "27
your agalnst appropriate serial an mark sports 48 television commentary 18 house 3677
) 2) numb mv @v @V
er your agajnst ropriate answer-
. serial yourag mark approp (4) viI {5) None of these
’




|
of an input Raving fIrst"f

‘be the fourth step T
* ;rch: ;.SM‘:llumber game 54 23 always lacldns 543 ;g 75
(1} number 16 lacking 23 game al;;ay e
{2) number 16 lacking 23 always 54 gam

(3) number 16 lacking 23 game 54 always 75
{4) Cannot be determined

5) None of these
Dl(.l':cﬂonl {210-16} : Study the following information

estions :
carefully and answer the given ques
(gﬂentl.l Bank Of Commerce PO Exam. 21.12.2008)

hine when
A word and number arrangement mac
given an input line of words and numbers rearranges

articular rule in each step. The

tt':lfor:dggllg‘;lnnfll:sﬁat!on of input and rearrangement.
Input :basket 83 32 all turn 76 51 now
Step! :turn basket 83 32 all 76 51 now
Step II : turn 32 basket 83 all 76 51 now
Step M : turn 32 now basket 83 all 76 51
Step IV : turn 32 now 51 basket 83 all 76
Step V :turn 32 now 51 basket 76 83 all
Step VI : turn 32 now 51 basket 76 all 83

and Step V1 is the last step of the rearrangement of

the above input.
As per the rules followed in the above steps, find out

in each of the following questions the appropriate step
for the given input.
10.Input : 20 ask never 35 62 84 tall grass

Which of the following steps will be the last but one ?
) v 2 vi (3} v
{4y v (5) None of these
11.Step II of an input is : window 14 victory 63 52 24
task for o
Which of the following is definitely the input ?
(1} victory 63 window 14 52 24 task for
{2) 63 victory window 14 52 24 task for
(3) victory 63 window 52 14 24 task for
(4) Cannot be determined
(5) None of these
lz.Stng Il of an input is : yes 15 ulira 96 73 52 home
res
How many more steps
the rearrangement ?
{1} Three (2} Five
4) Two (5} None of thege
13.Input:49bcxstme8463mdom'37
mcih?of the following will be Step V of the above
(1) store 37 on 49 door 63 box 84
{2) store 37 on 49 door box 84 63
{3) store 37 on 49 box 84 63 door
(4) There will be no such step
(5) None of these

14.Input : glow wheel 32 57 py
lake 12 46
o gh
OW many steps wijj be required to complete the

will be required to complete

(3) Four

1Wlwanunym AT pyees 2w wcam 24 6a %
house L.
Which of the following steps will be the lasy 5
1) IX (2} viuu (@) iy
4 Vi (5) None of these

186. Input : bag full 32 84 27 coin new 56
(1) Seven (2) Eight @) PFive
(4) Six (5) None of these

Directions {17-23) : Study the foll oty
LT

tion carefully and answer the given questiony .

(PNB Agriculture Officer Exam, 4.0,

A word and number arrangement “‘ﬂchlneh“
given an input line of words and numberg ma"'ilﬁ
them following a particular rule in each step, y,, fole:
ing is an illustration of input and rearrangemen, %
: put over there 39 56 now 28 g4

: there put over 39 56 now 28 84
there 28 put over 39 56 now 84
there 28 put 39 over 56 now 84
and Step III is the last step of the &b%
input.

As per the rules followed in the above steps, ng
out in each of the following questions the apmel'late

step for the given input.
17. Input : bag cover 43 32 tyre 51 ship 25

Which of the following will be step V of the above
input ?

(1) tyre 25 ship 32 bag cover 43 51

{2) tyre 25 ship 32 cover 43 bag 51

(3} tyre 25 ship 32 cover bag 43 51

(4) There will be no such step

(5} None of these

'Step II of an input is : party 23 81 68 53 call a)
Invite

Which of the following is definitely the input?

(1) 81 23 party 68 53 call all invite

(2) 81 68 53 call all invite 23 party

(3) 81 68 53 call all 23 invite party

{4) Cannot be determined

{5) None of these

dS;ep {1 of an input is ; mine 17 lamp 86 51 34 how
y

Which of the following steps will be the last but

Input
Step 1
Step I :
Step Il :

18.

19.

one ?
~(ayva (2) v B X
4w {5) None of these
20. Input ; height world 96 73 age old 51 65

How many ste s
l'earrangci;:e nt‘?‘ will be required to complete the
(1) Five

(4) Four

Step Il of an input
year 15 time 52

(2) Six (3) Seven

(5) None of these
is :
39 64 sound byte

21.

ment ?
(1) Five Which of
2) Six of the following wil) be th, last but onestep?
4 (3) Sev € last but o
“) Eight (5) None of these ~ " (‘ A 2) vin 8) v
-—— (5] None ftheﬂe
(B a3 L i .
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g, Step 1l of an inpucis ;
victory 12 54 41 ulira set 32 line
How many more steps will be required to complete

the rearrangement ?
(1) Three {2} Four {3} Five
{4) Six (5} None of these

ons (23-28) : A word and number arrange-

at machine when given an Input line of words and
pumbers rearranges them following a particular rule in
Q vach step. The following is an illustration of input and

rearrangement.
3 (indian Overscas Bank PO Exam. 05.04.2000)

" mpm:gonowszss'lﬂoragalnss
step! : 65 go now 52 38 17 for again
step Il : 85 again go now 52 38 17 for
gtep !l : 65 again 52 go now 38 17 for
steptV: 65 again 52 for go now 38 17
stepV : 65 again 52 for 38 go now 17
stepVl: 85 again 52 for 38 go 17 now

f As per the rule followed in the above steps, find out
in each of the following questions the appropriate
step for the given input.

23, Input :
home turf 39 24 86 44 roll over

which of the following steps will be the last ?
nx (2) IX {3) VII
{4) VI {(5) None of these
24, Step It of an input is : -
04 car 86 window shut 52 31 house
Which of the following is deflnitely the input ?
(1) 94 car window 86 shut 52 31 house
(2} 86 window 94 car shut 52 31 house
(3) car shut window 86 52 31 house 94
(4) Cannot be determined
(5} None of these
28. Step IV of an input is :
58 box 47 dew 15 21 town pot
Which of the following steps will be the last ?

(1) vii 2) VI (3) viII
{4} IX {5) None of these
26, Inpuf :

show 51 36 new far 81 46 goal
Which of the following steps will be the last but one ?

mva (2) VIII 3 VI
av (5) None of these
27.Input :

buy win task 52 38 43 door 12

Which of the following will be step IV?
(1) 52 buy 43 door 38 task 12 win

(2) 52 buy 43 door 38 task win 12

(3) 52 buy 43 door task win 38 12

(4} There will be no such step

(5) None of these

given an input line of words

them following a particular rule in
ing is an lustration of input and rearrangement.

Step |
Step I : 17 table shop 20 53 oven desk 39

Step 1 : 17 table 20 shop 53 oven desk 39

28, Step 11 of an tnput 13 :
76 ask 12 32 begin over join 42
How many more steps will be required to complete
the rearrangement ?
{1) Four {(2) Five
{4) Three (5) None of these
Directions (29-34) : Study the following informa-

(3) Six

tion carefully and answer the given questions !

(United Bank Of India PO Exam. 21.08.2009)

A word and number arrangement machine when
and numbers rearranges

each step. The follow-

: shop 17 table 20 53 oven desk 39

Input
+ 17 shop table 20 53 oven desk 39

Step IV : 17 table 20 shop 39 53 oven desk

Step V : 17 table 20 shop 39 oven 53 desk
and Step V is the last step of the rearrangement.
As per the rules followed in the above steps, find

out In each of the following questions the appropriate
step for the given input.

29. Step Il of an input is :
15 yes 62 51 48 talk now gone
Which of the following will be step VI ?
{1} 15 yes 48 talk 51 now gone 62
(2) 15 yes 48 talk 51 62 now gone
(3) 15 yes 48 talk 51 now 62 gone
(4) There will be no such step
(5) None of these
80. Step IIl of an Input is :
21 victory 30 joint 64 47 all gone
How many more steps will be required to complete
the rearrangement ?
{1) Three (2) Four
(4) Six {5) None of these
$1. Input : 89 bind 32 goal house 61 12 joy
How many steps will be required to complete the

(3) Five

arrangement ?
(1) Four (2) Five (3) Six
(4) Seven (5) None of these

32. Input :

save 21 43 78 them early 36 for
Which of the following steps will be the last but

one?
(1) vI (2) VI (3) vl
4V (5) None of these

33. Input : desire 59 63 all few 38 46 zone
How many steps will be required to complete the

rearrangement ?
(1) Four (2) Five (3) Six
(4) Seven (5) None of these
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34. Input : win 92 task 73 59 house range ??h -+ above
Which of the following wili be step IV ol

input ?
{1} 34 win 59 task 73 range 92 house

(2) 34 win 92 59 task 73 house range
(3) 34 win 92 task 73 59 house range
(4) There wiil be no such step

5) None of these )

Mm‘ ] (35-39) : Study the following. informa

tion carefully and answer the given questions : o001
{Andbra Bank PO Exam. 08.07.2

hine when
A word and number arrangement mac

given an input line of words and numbers rear;'a;;f:f
them following a particular rule in each step. The fo

Ing 1s an fllustration of input and rearrangement, |

Input  : base 35 or gone 62 49 87 ahead
Step I : 87 base 35 or gone 62 49 ahead
Step Il : 87 ahead base 35 or gone 62 49
Step Il : 87 ahead 62 base 35 or gone 49
Step IV : 87 ahead 62 base 49 35 or gone
Step V : 87 head 62 base 49 gone 35 or
and Step V is the last step of the rearrangement.
As per the rules followed in the above steps, find
out in each of the following questions the appropriate
step for the given input,
8. Input : how was Yyour stay 56 25 36 64
Which of the following will be step VI ?
(1} 84 how 56 was your stay 25 36
(2) 64 how 56 stay 36 was 25 your
(3) 64 how 56 stay 36 was your 25
(4) There will be no such step
(5} None of these
36. Input : power fail now 52 24 75 gate 34
Which of the following steps will be the last but

one ?
(mw v @) v1
4 vi (5) None of these
37. Step IIf of an input is : 91 car 85 14 27 few new
house '

Which of the following s definitely the input ?

(1) 85 14 91 car few new house

(2) car 91 85 14 27 few new house

(3) car 85 14 27 few new housge 91

(41 Cannot be determined

{5) None of these

3s8. Sl:;p Hofaninputis: 75 down 16 24 farm eager 62

]

How many more steps will he re uired to complet
the rearrangement 7 ! plete

(1} Four (2) Five (3) Six

(4} Seven (5) None of thege
89. Input ; 14 33 when they came 6] 48 home

4 INPUT ™ \ P
1 W ollowyy,

jons {40—46) : Study the f
Dl-l";:“y and{ answer the given Questiong. Oy,
tion care {Corporation Bank PO Exay, 22,,

A word and number arrangement Machyy,

given an input line of words and numberg .-Ea"ha“";::

ule in ¢ach ste
a particular r P- The
thc?sﬂlc:lﬁnsfmuon of input and rearrangemen, ‘.
Ing

16 96 helght star
oo gj‘;'r;f ;; 27 16 height star
oo lll 96 far joy 35 27 16 height star 1
gf:f: m 96 far 35 joy 27 16 l;e;glhet star
Step IV : 96 far 35 height joy 16 star
Step V : 96 far 35 height 27 joy 16 star
and Step V Is the last step of the rearrange,. |
As per the rules followed in the above Steps, |
out in each of tht: follntmdng questions the appropnah
en input.
8;;13 rrt:':-ptuhte:got:gamsl: 19 12 stable room 35 75 House
. How many steps will be required to complere e

4

arrangement ?
(1) Five {2) six (3} Seven
{4) Four (5) None of these

41. Input : bake never store 51 26 33 age 49
Which of the following will be step v ?
(1) 51 age 49 bake 33 never 26 store
{2) 51 age 49 bake never store 26 33
(3) 51 age bake never store 26 33 49
(4) 51 bake never store 26 33 age 49
(5) There will be no such step
42. Input : always go there 39 62 47 time 24
Which of the following steps will be the last by

one?
(BVRY | (2) vii (3} vin
(4} IX {5) None of these

43. Step Il of an input is : 67 ask 34 12 46 for my date
Which of the following ig definitely the input ?
{1) 34 12 46 for my date ask 67
(2) 34 12 46 for my date 67 ask
(3) 12 34 67 a5k 46 for my date
(4) Cannot be determined
{5) None of these
44. Step I of an input is : 84 for 56 29 17 won loss
game :

Which of the following steps will be the last ?

(1) vin 2) 1x (3) VI
4 v {8) None of these

48. Step INf of ap, Input 1s : 86 box 63 18 gear card 51
new

10w many more steps wil be required to complet?
the ATangement ?

(1) Three (2) Two (3) Four
(4) Five {5) None of thege




nrO; N /swpwofan lnput s B9 bﬂnd“card 14 27 win
" ¥ ine following will be step VI ?
1-2%. "‘mlcnbel‘ld 46 card now 27 win 14
:""h ) (1159bcnd4ecard27nowwm 14
rnal;n (2]  end 46 card 27 now 14 win
Olit (959 714 46 card 27 14 win now
) #5977l be no such step

. TR e 83) ¢ Study the foll
D“‘:l‘]::’:n'd[ answer the given quesg?t:sg. nforma-
e (indian Bank Rural Marketing
i d number arraonf;:;re::m 0:-01-3010}
;l' ‘:n woh:dpuinunc of words and numb?r:cremz
e 21 a cular rule in each step. The follow-

M, | dﬂ‘“’f il ustration of input and rearrangement,
g | mg”t“ . cup for hot 34 69 72 tea 27
A Jop¥ | :27cup for hot 34 69 72 tea

i sep |1 : 27 tea cup for hot 34 69 72

, Siep il : 27 tea 34 cup for hot 69 72

. sep [V : 27 tea 34 hot cup for 69 72

| 50 97 tea 34 hot 69 cup for 72

’ sttll; V1 : 27 tea 34 hot 69 for cup 72

: Stel VIl 27 tea 34 hot 69 for 72 cup and Step VII
i SP" 1o the last step of the rearrangement.
| ag per the rules followed in the above steps, find
i each of the following questions the appropriate
© o for the given input.
47, Input : kind 12 96 heart water 59 42 yes

How many steps will be required to complete the

remangement?
{1} Three (2) Four {(3) Flve
{4) Six (8) None of these

4. input : jungle 43 mode 25 basket 38 target 19
Which of the following steps will be the last but

one?
(i (2) vill (3) X
(RY] {5) None of these

49, Step Il of an input is : 12 world 31 ask cart ball 87
75 :
Which of the following will deflnitely be the input ?
(1) 31 ask cart ball 87 75 world 12
[2) 31 ask cart ball 87 75 12 world
(3) 31 ask 12 world cart ball 87 75
(4) Cannot be determined
(5) None of these
5. Step II of an input is : 24 year 56 43 last part 64
over
How many more steps will be required to complete

the rearrangement ?
(1) Ftve (2) Six (3) Seven
(4) Pour (8) None of these

B, :ot? I of an fnput is ; 32 station 46 81 73 march
or

:"hleh of the following will be step VI ?
1 32 station 46 march 73 go for 81

(2) 32 station 46 march 73 81 go for

(3) 32 station 46 march 73 go 81 for

{4) There will be no such step

(5) None of these)

Directions (82-86) : Study the following informa-
tion carefully and answer the given questions :

(Indian Bank PO Exam. 17.10.2010)

A word and number arrangement machine wht:ﬂs

given an input line of words and numbers it
them following a particular rule in each step. The 10

ing is an illustration of Input and rearrangement.

Input : day 74 night 36 25 68 all for
Step I : all day 74 night 36 25 68 for
Step I : all 74 day night 36 25 68 for

Step III : all 74 day 68 night 36 25 for

Step IV : all 74 day 68 for night 36 25

Step V : all 74 day 68 for 36 night 25
and Step V is the last step of the re
the above input.

As per the rules followed in the above steps.
out in each of the following questions the approp
step for the given input.

B2. Input : war 52 and peace 43 16 now 24
How many steps will be required to complete the

arrangement of

find
riate

rearrangement?
(1) Four (2) Five (3) Six
(4) Seven (5) None of these

883, Step IIl of an Input : bond 86 goal 12 33 like high
46
Which of the following will be step VII ?

{1) bond 86 goal 46 like 12 33 high
(2) bond 86 goal 46 high like 33 12
(3) bond 86 goal 46 high 33 like 12
(4) There will be no such step

(6) None of these
B4. Stepll of an Input s : car 73 18 25 wear 49 long for

Which of the following is definitely the input ?
(1) 18 25 wear 49 long for car 73
(2) 73 18 car 25 wear 49 long for
(3) 18 73 25 car wear 49 long for
{4} Cannot be determined
{5) None of these
58. Input : mind new 27 35 19 59 own tower
Which of the following steps will be the last but

one?
(1) VI (2) v 3) Vv
(4) VII (5) None of these

88. Step IV of an Input : dear 63 few 51 16 29 yes now
How many more steps will be required to complete
the arrangement ?

(1) Four (2) Five

(4) Two (3) None of these

Directions (67 - 61) : Study the following
intormation carefully and answer the given questions :

(Bank Of India Banking Officer
Exam.24.01.2010)

{3) Three




A word and number arrangement machine Wh:‘;
given an input line of words and nupibers rearrang:

them following a particular rule in each step. ‘T‘hti follow-
ing Ia an illustration of input and rearrangement.

Input : rose petal 29 32 86 goal 41 toll
Step I : 29 rose petal 32 86 goal 41 toll
Step I : 29 toll rose petal 32 86 goal 41
Step I1 : 29 toll 32 rose petal 86 goal 41
Step IV : 20 toll 32 rose 4] petal 86 goal
87. Input : man 79 over 63 like 43 joy 15
How many steps will be required to complete the
rearrangement ?
(2} Seven (3) Eight
{4) Nine (3} None of these
88. Step II of an Input: 27 world g0 57 48 stem 35 kite
How many more steps will be required to complete

the rearrangement ?
(1} Five {2) Four (3) Three
{4) Six {5} None of these

B9. Input : 94 Join for 81 style home 32 48
Which of the following steps will be the last ?
B IRY| 2) v (3)-vin
(4) 1x {5) None of these
80. Step 111 of an Input : 18 tower 38 basket 82 76 hall
new
Which of the following steps will be step VII ?
(1) 18 tower 38 hall 76 new basket 82
(2) 18 tower 38 new 76 hall 82 basket
(3) 18 tower 38 hall 76 new 82 basket
(4) There will be no such step
{5) None of these Memory)
61. StepIll of an Inputis : 15 yes 24 80 today never go
59

Which of the Tollowing wil] definitely be the Input ?
(1} 24 80 today never go 59 15 yes
{(2) 24 80 today yes never g0 59 15
{3} 24 15 yes 80 today never go 59
(4) Cannot be determined
(5) None of these
Directions (62-66) ; 5 word and number arrange-

ment e when given an input line of words and

(Allahabag Bank PO Exam, 2!.02.2010]

¢ 17 put show op 3927 85 gold
: show 17 put op 392785 gold
: show 85 17 put on 39 27 gold

As per the rucs suiuwuu ‘“u:‘:u:nwe y -
out in each of the followingq 8 the gy, - oy 6t

fnput.

r the

it g i 1537 tr o 5.6
n -

Which of the following wiil be step v of the .

input t?er‘ 85 now 67 full glass 15 37
(f;; ::ter 85 now 67 glass full 15 37
(3) water 85 now 67 glasse 37 full 15
(4) There will be no such step

(6) None of these

Step 1I of an input fs :

Which of the following steps will be the

one ?
(1) vl
(4) VI

. Step Il of an input is :

win 75 voice 16 39 store gap 26

Which of the following is definitely the Inpyt

(1) voice 15 win 75 39 store gap 26

(2} voice win 75 15 39 store gap 26

(3) 15 75 win volce strre gap 26

{(4) Cannot be determined

{5} None of these

Step II of an input is :

tube 83 49 34 garden flower rat 56

How many more steps will be required to comple

(2) IX 3) vy

(5) None of these

the rearrangament ?
{1) Four {2) Ftye (3) Six
(4) Three {5} None of these
66. Input: '
hunt for 94 37 good 28 48 book
How many steps wil be required to Complete the
rearrangement 9
(1) Four (2) Five (3} Six
{4) Seven (5} None of these

Directions {67-72) ; Study the following informa.
tion carefully and answer the given questions :

Input €one 93 gver 44 84 now for 31
StepI . 31 gone 93 over 44 84 now for
Step I ; 33 over gone 93 46 84 now for
Step I ; 3; over 46 gone 93 84 now for
Step IV ; g1 over 46 now gone 93 84 for
StepV : 31 over 4

AS per the rules followeq in th fnd
¢ above steps,
Out in each of the following Questions the approprialt

step for the glven inpyg,

—LBPRE,.;@_
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step 111 of an Input : 15 window 29 93 86 sail tower

‘?vl;l);ch of the following will be step VI ?
) 15 window 29 tower 86 sail 93 buy
@1 5 window 29 tower 86 93 sall buy
{3) 15 window 29 tower 93 86 sail buy
(4) There will be no such step,
(5) None of these
g8. Input : station hurry 39 67 all men 85 59
How many steps will be required to complete the

(1) Four {2} Five (3) Six
(4) Three {5} None of these

g9. Step Il of an input is : 49 zone car battery 56 87 71

down
which of the following is definitely the input ?

(1) car 49 battery zone 56 87 71 down
(2) zone 49 car battery 56 87 71 down
(3} battery car 49 zone 56 87 71 down
(4) Cannot be determined.
{5) None of these

70. Input : news 79 53 glory for 46 29 task
Which of the following will be step IV ?
(1) 29 task 46 news 53 glory 79 for
{2) 29 task 46 news 53 79 glory for
(3) 29 task 46 news 79 53 glory for
(4) 29 news 79 53 glory for 46 task

{5) None of these
71. Step Il of an input is : 27 tube 34 gas chamber row

74 53 .
Which of the following steps will be the last but

one?

(Hvt 2) viI

4V {5) None of these
72. Step I of an input is : 19 year 85 74 near gone 26

store
How many more steps will be required to complete

the rearrangement ?
{3) Two

(1) Three (2) Four
{4) Five - (5) None of these

Directions (73-77) : Study the following informa-

tion carefully and answer the given questions :
(Punjab & Sind Bank PO Exam. 16.05.2010}

A word and number arrangement machine when
given an input line of words and numbers rearranges

them following a particular rule in each step. The follow-
Ing is an illustration of input and rearrangement.
Input : 96 gain 63 forest 38 78 deep house
Step1 : deep 96 gain 63 forest 38 78 house
Step II : deep 38 96 gain 63 forest 78 house
Step Il ; deep 38 forest gain 96 63 78 house
Step IV : deep 38 forest 63 gain 96 78 house
StepV : deep 38 forest 63 gain 78 96 house

Step VI : deep 38 forest 63 gain 78 house 96
and Step VI s the last step of the rearrangement of

(3) vim .

{ INPUT |-

As per the rules followed in the above steps, find

out in each of the following questions the appropriate

step for the given input.
73. Input : train 59 47 25 over burden 63 sky

Which of the following steps will be the last but

one ?
(Vi 3w

(4) vl

2 v
{5) None of these

74. Input : service 46 58 96 over therc desk 15

Which of the following will be step V1 ?
(1) desk 15 over service 46 58 96 there
(2) desk 15 over 46 service there 58 96
(3) desk 15 over 46 service 58 there 96
(4) desk 15 over 46 service 58 96 there
(5) There will be no such step

75. Step Il of an input is :

below 12 93 house floor 69 57 task .
Which of the following will definitely be the input

(1) 93 house 69 57 below task floor 12

(2) 93 house below 69 57 task floor 12

(3) 93 house floor 69 57 task below 12

(4) Cannot be determined

(5) None of these

76. Step Il of an input is :
art 24 day 83 71 54 star power
Which of the following steps will be the last ?
mv (2) v (3) X
(4) V1l (5} None of these

77, Step Il of an input is : :
cold 17 wave 69 never desk 52 43
How many more steps will be required to complete

the rearrangement ?
{1) Six {2) Five

{4) Three . (5) None of these
Directions (78 - 82) : Study the following informa-

tion carefully and answer the given questions :
{(Bank Of Baroda PO Exam. 30.05.2010)

A word and number arrangement machine when
given an input line of words and numbers rearranges
them following a particular rule in each step. The follow-
ing is an illustration of input and rearrangement.
Input : nine poll 19 34 12 69 hour call

Step 1 : call nine poll 19 34 12 69 hour

Step 11 : call 12 nine poll 19 34 69 hour

Step III: call 12 hour nine poll 19 34 69

Step IV: call 12 hour 19 nine poll 34 69

Step V : call 12 hour 19 nine 34 poll 69

(3) Four

the above input.

step for the given input.
78. Step Il of an input is : bend 15 will care 46 53

then

How many more steps will be required to compl
the rearrangement?

(1) Five (2) Three

(4) Six (5) None of these

(3) Four

the above input.

A
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and Step V is the last step of the rearrangement of

As per the rules followed in the above steps, find
out in each of the following questions the appropriate
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79. Input : land 62 clear over 41 37 again t1516 e bt
Which of the following steps will be the

one ? 3) VIl

{1) vir 2) IX
) vi {5) None of these

80. Step il of an input is : desk 12 year victor 86 71
store 65
Which of the following will be step VII ?
(1) desk 12 store 65 year 71 victory 86
(2) desk 12 store 65 71 year victory 86
(3) desk 12 store 65 year victory 86 71
{4) There will be no such step
{5) None of these
81. Input: earn 39 23 48 station 19 begin day
How many steps will be required to complete the
rearrangement 7
(1) Five (2} Seven (3) Eight
(4) six (5) None of these
82. Step Il of an input is : and 25 Jjungle 93 84 kite
more 36
Which of the following is definitely the input ?
(1) 93 84 kite more and 36 25 Jungle
(2} 93 84 and 25 kite Jungle more 36
(3) jungle 93 and 84 25 kite more 36
(4} Cannot be determined
(5) None of these
Directions (83-87) : Study the following informa-
tion carefully to answer the given questions.
(Central Bank Of India PO Exam. 25.07.2010)
A word and number arrangement machine when
given an input line of words and numbers rearranges
them following a particular rule. The following is an ilI-
lustration of input and rearrangement, steps —
Inpat : why is 25 bigger than 14 but smaller than 32
Step I: than 14 why is 25 bigger but smaller than 32
Step I : than 14 is 25 why bigger but smaller than 32
Step I : than 14 is 25 than 32 why bigger but smaler
StepIV:than 144s 25 than 32 why smaller bigger but
8tep V : than 14 is 25 than 32 why smaller byt bigger
and step V is the last step of the rearrangement of
tt:;-; ::ove input as the intended rearrangement is ob.

(2) Iv
{5) None of these

@) v

84, How many steps would be needed ¢ compltt,

arrangement?
(4 VII (5} None of thege
85. Which of the following would be Step 1y o
(1) than 20 than 30 equal 40 any nupyj,, teag

more does not "
{2) than 20 any number less than 30 ang More

not equal 40
30 40 than than equal number 4y,
(3} 20 Y ey
more does not y
{(4) 20 than 30 than 40 equal numbey any joy,
more does not ay

(5} None of these
Which of the following would be the Step i o

. (1) 20 than 30 than any number Iess ang mOred%

not equal 40
(2) than 20 than 30 equal 40 any numbe, tess gy

more does not
{3) than 20 than 30 any number less ang MOre o,

not equal 40
(4) than 20 than 30 any number less anq More g,

not 40 equal
{5} Nonte of these

87. Which word/number would be on 8th POSition frey,
left side in StepV ? .
(1) any (2) not (3) 40
(4) number (5) None of these

Directions (88 - 84) : Study the following infory,.
tion to answer the given questions :
{Bank Of India PO Exam, a1, 10.201

A word and number arrangement machine Wwhen
given an input line of words and numbers réarranges
them following a particular rule. The following ts an .
lustration of input and rearrangement.

Input : mix 12 in form 35 are 20 with 47 given
Step I : are form mix 12 in 35 20 with 47 given
Step Il : are form given in mix 12 35 20 with 47
Step III: are form given in mix with 12 35 99 47
Step IV: are form given in mix with 47 35 12 20
* are form given in mix with 47 35 29 19

Input for the questions

Input : Whep 13 e over
45 is 29 team 89 given fine 37 provide zero 90

(3) Zero when 1] 8iven fine 37 provide 90 over 4518
29 team 89

{4) Fine given when 99 g ovel
9 11 37 2ero
45 is 29 team ! 37 provide

(5) None of thege
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- ch word/number wouid be on 4th Position (from

“,
X o9 o in Step 1 ?
. ) Given (2) ts (3) when
) b (5} None of these
] ' many steps would be needed to comp
%*ﬂu 00 e ngement ? mplete the
O,y |‘. ) Vil . (5rl None of these
3y ! step IV, which of the following word
Wy | g1 1% C\ibe on 8th position (from lefy ? /number
8, (1) 2r0 (2) when 3 11
g (5} None of these

, (4) provide
| which step number would be the following output ?
' | o Fine given is over provide team when 11 37 zero 90

oy, 4529 89
a3, which of the following would be Stepv ?
{ '11) Fine given is over provide team whe
Oy [1)4537“ 29 n zero 90 89
l 9) Fine given is over provide team whe
Ogy ”90452989 n zero 11 37
3) Fine given is over provide team when 11 37 Zero
{4) Fine given is over provide team when zero 11 29
37 45 89 90
(5} None of these
. g4. Which of the following would be the final arrange-
ment ?
] (1} Zero when team provide over is given fine 90 89
45 37 29 11
(2) Fine given is over provide team when zero 90 89
45 37 29 11
(3} Fine given is over provide team when zero 90 89
4537 1129
{4) Fine given is over provide team when zero 11 29
37 4589 90
(5) None of these

Directions (95-99) : Study the following informa-
tion carefully and answer the questions which follow :
{United Bank Of India PO Exam. 14.11.2010)

Aword and number rearrangement machine when
given an input line of words and numbers rearranges
them following a particular rule. Following is an illustra-
tion of input and the rearrangement.

Input : flight 37 delay an 53 87 hour 19 by 46

Step! : 87 flight 37 delay 53 hour 19 by 46 an

Step It : 87 53 flight 37 delay hour 19 46 by an.

Step Il 87 53 46 flight 37 hour 19 delay by an

Step IV: 87 53 46 37 hour 19 flight delay by an

StepV : 87 53 46 37 19 hour flight delay by an
Step V is the last step of the arrangement of the
above input as the intended rearrangement is ob-
tained.
As per the rules followed in the above steps, an-
;‘l:'fr the following questions based upon the in-

24 cross 82 road 93 safe 13 jam halt 46

Which of the following would be the second st€p
after the rearrangement ?

(1) 93 82 46 24 13 safe road jam halt cross

(2) 93 82 46 24 road safe 13 jam halt cross

(3) 93 82 24 road safe 13 jam 46 halt cross

(4} 93 24 82 road safe 13 jam halt 48 cross

{5) None of these )
. Which of the following would be the final arrange

ment ?
(1) 93 82 46 24 13 safe road jam halt cross
(2) 93 82 46 13 24 safe road jam halt cross
(3) 13 24 46 82 93 safe road jam halt cross
(4) 93 82 46 24 13 cross halt jam road safe
(5) safe road jam halt cross 93 82 46 24 13
Which of the following will be step VI of the above
input ?
(1) 93 24 82 road safe 13 jam halt 46 cross
{2) 93 82 24 road safe 13 jam 46 halt cross
(3) 93 82 46 24 road safe 13 jam halt cross
(4) 93 82 46 24 13 safe road jam halt cross
(5) There will be no such step as it gets arranged
before step VI

In step I11, which of the following woul
word/number from the left ?
{1) 82 (2) 46
4)13 (5) Road
. Which step would be the following output ?

93 24 82 road safe 13 jam halt 46 cross

(ni 2y (3) 1l

4w (5) VI

Directions {100-104) : Study the following infor-
mation to answer the given questions :

(PNB Management Trainee Exam. 28.11.2010)
A word and number arrangement machine when
given an input line of words and numbers rearranges
them following a particular rule. The following is an il-
lustration of input and rearrangement.
(All numbers in these questions are two digit num-

bers)

97.

98. d be the third

(3) Jam

Input : 16 today 32 waiting 21 are 11 people 46 bus
66 long :

Stepl : 16 today 32 waiting 21 11 people 46 bus 66
long are

Step I : 16 today 32 waiting 21 people 46 bus 66 long
11 are

Step HI : 16 today 32 waiting 21 people 46 66 long bus
11 are

Step IV : today 32 waiting 21 people 46 66 long 16 bus
11 are

Step V : today 32 waiting people 46 66 21 long 16 bus
11 are

Step VI : today 32 waiting 46 66 people 21 long 16 bus
11 are

Step VI : today waiting 46 66 32 people 21 long 16 bus
11 are

Step VIII : walting 46 66 today 32 people 21 long 16 bus
11 are

o
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16 bus
Step IX : walting 66 46 today 32 people 21 long
11 are

16 bus
Step X : 66 walting 46 today 32 people 21 long
11 are

of the
Step X s the last Step of the amngem:rr:: of the
above input as the Intended arrangem

tained.
Now, answer the questions based on the following

input :
Input : 23 you 13 wake 81 me 43 before 72 go 34
. up
100. Which of these words /numbers would be fourth
(from left side) in Step IV for the input ?
(1) me {2) 43 {3) &8l
{4) wake (5} None of these
101. The following stands for which step of the rearrange-

ment ?
you wake 81 43 72 34 up me 23 go 13 before
(1} StepIX  (2) Step IV (3) Step VI
(4) Step V (5) None of these
102. Whlchgf the following would be Step II for the above
input ?
(1) 23 you wake 81 me 43 72 34 up go 13 before
(2) 23 you 13 wake 81 me 43 72 go 34 up before
{3) 23 you wake 81 me 43 72 go 34 up before 13
(4) 23 you wake 81 me 43 72 go 34 up 13 before
(5) None of these
103. How many Steps would be needed to complete the
rearrangement for the above input ?
(Ux (2) X1 (3) vinr
{4) vliI () None of these -
104, Which of the following would be the last but one
step for the input ?
(1) you 81 72 wake up 43 34 me 23 go 13 before
{2) you 81 72 wake 43 up 34 me 23 go 13 before
(3} you wake 81 72 43 up 34 me 23 go 13 before
{4) 81 you 72 wake 43 up 34 me 23 go 13 before
(5} None of these _
Directions (105 - 109) ; Study the following infor-
mation to answer the given questions : )
(Bank Of Maharashtra Exam, 19.12,2010)
A word and number arrangement machine when
given an input line of words and numbers rearranges
them following a particular rule. The following is an iI-
lustration of input and rearrangement,

Input : 52 peak 91 snow freeze 46 cold 15 high 31 73
trek
Stepl : 15 52 peak snow freeze 46 cold high 31 73
trek 91
Step Il : 71'3 31 52 peak snow freeze 46 cold high trek
91
Step 111 ; ;g gl 46 peak snow freeze cold high trek 52

he re
he last step of t arrang,,
Step V1 I8 { ed in the above steps, fing o ‘:'l‘tn

t

How o

r the rules fo uestions the appropriate Ste ln‘ir
P8 o,

of the follmgg for the questions, Toy
given inp @7 hot sun 19 best 83 ice 49 4,

| 4 cm
(3)x

arrangement ?
1 X ge (2} vill

{4) v1I (5) None of these
1d be the follow,
Step number wou ngoy
108 ‘1?3‘:71149 al.)ce best hot sun ice cut 67 77 83 lpun
) (2)vi (3)v
:4) v {5) None of these
07. Which of the following would be the Step | 5
107. (1). 19 37 49 hot sun best ice ace cut 67 77 "
(2) 83 67 hot sun best ice 49 ace 77 cut 37 19
(3) 19 67 ace best hot sun ice 49 77 cut 37 8

(4} 19 67 hot sun best ice 49 ace 77 cut a3y 83

(5) None of these
108. Which of the following would be the fing) ‘

ment?
(1) 67 77 83 ace best cut hot ice sun 19 37 49

(2} 19 37 49 ace best cut hot ice sun 67 77 83
(3} 19 37 49 67 77 83 ace best cut hot ice gy
(4} 19 37 49 ace ice best cut hot sun 67 77 83

(5) None of these
108. In Step [V, which of the following word/nupy,
would be on 7th position (from the right) ?
{1) sun (2) best (3} 67
(4) cut (5) None of these
Directions (110-114) : Study the following infor.
mation carefully and answer the given questions :
(Oriental Bank Of Commerce py
Exam. 26.12.2010 (st sitting
. A word and number arrangement machine wheq
given an input line of words and numbers rearranges
them following a particular rule. The following is an ii-
lustration of input and rearrangement. (Single digit num-
bers are preceded by a zero. All other numbers are two
digit numbers),

fput :are 74 82 we 02 10 saving 56 our own 43 Ivs.
Stepl :weare 7402 10 saving 56 our own 43 lives 82.
Step H :we saving are 02 10 56 our own 43 lives 74 82.

Step I : we saving own are 02 10 our 43 lives 56 7482
Step IV : we saving own our are 02 10 lives 43 56 7482
Step V :we saving own our lives are 02 10 43 56 7482

Step V 1s the last step of the arrangement of the

above input as the intended arrangement is ol
tained,

110. Which of the following would be step IV for the ot
lowing inpyt ?

Input : 19 there is 8] g7 hope 45 for 33 one 49 betl®!
day 08,

(1) ;hgere one Is hope for 19 27 better day 08 33 ®
8].

2 ‘tll;e;e one is hope 19 27 for better day 08 33 6
1
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(here one I8 hope 19 27 for better day 81 49 45

i e
Yy is hope for 19 27
7? LY @ :ge;el .one pe better day 08 33 40
"Dl 3 ihere 18 one hope 19 27 for better day 08 33 45
lelh (5,45 81.

(122 - 123} : The following are the steps
0 ;vand V of an input represented byA B, C, D

Oy i “'s put not necessarily In this order. Rearrange them
By, 9 o rderof the steps and then answer the given quea-

"

0% _bide the 11 32 laws 50 93 17 of countless 21
, s nature.

(A) the of nature abide 11 laws 17 countless 2] 32
8 50 93.
l9 (8)the of nature laws abide 11 countless 17 21 32
33 50 93.
gure 93.
ing (D)the of nature laws countless abide 11 17 21 32
¢ 50 93.
; (E) the of abide 11 32 laws 17 countless 21 nature
50 93.
1. which of the following will be step Il ?
(NA (21 B @c

(4D (5) E
e 113 Which of the following will be step IV ?

(A 2} B (3)C

4D O E

pirections (113-114) : These questions are based
on the following input :
mput : 50 62 the best 67 bargain 42 In stores 17 89
. now 75 avallable.
113. Which of the following would be Step IH for the in-
t?
(I;')J the stores 50 62 best 67 bargain 42 in 17 now
available 75 89.
{2) the stores now in 50 best bargain 42 17 avail-
able 62 67 75 89.
(3) the stores now 50 62 best bargain 42 in 17 avail-
able 67 75 89.
(4) the stores now 50 62 bargain best 42 in 17 avail-
able 67 75 89.
(5) the stores now in 50 bargain best 42 17 avail-
able 62 67 75 89,
114. Which of the words/numbers below would be at
the fifth position (from the left end) in Step V of the

(Single digit numbers are preceded by a Zero. Al
other numbers are two digit numbers.)

Input : when 19 will you 07 be 40 coming 62 home
100 89 h

Step 1 : be whenl9 will you 07 40 coming 62 ome
100 89 home

Step Il : be 07 when 19 will you 40 coming 82 o
100 89

Steplll  be 07 coming when 19 will you 40 62 home
so0%e home

Step IV : be 07 coming 19 when will you 40 62 ho
100 89 40 62

StepV : be 07 coming 19 home when will you
100 89

Step V1 : be 07 coming 19 home 40 when will you 62
100 89

Step VI ; be 07 coming 19 home 40 when 62 will you
100 89

Step VIII: be 07 coming 19 home 40 when 62 will 89
you 100

Step VIII is the last step of the arrangement of “l')f
above Input as the intended arrangement i8 0
tained. 4
As per the rules followed in the above steps. Fin
out In each of the following questions the appropri-
ate steps for the given input.

Input for the questions
(115 - 118):
Input: next 57 problem 82 14 trend 02 purchase gr owth
41
118. How many steps would be needed to complete the
arrangement ?
mv 2)vi (3) v1II
(4) V11 (5) Cannot be determined
118. Which of the following would be the final arrange-
ment ?
(1) growth 02 next 14 problem 41 purchase 57 82
trend. ‘
(2) growth next problem purchase trend 02 14 41
57 82.
(3) growth 02 next 14 problem 41 purchase 57 trend
82.
{4) growth 82 next 57 purchase 41 problem 14 next
02

(5) None of these)
117. Which of the following would be step 1 ?
(1) 41 purchase 02 trend 14 82 problem 57 next

laput ? growth.

() in (2) best (3 17 (2) growth 02 next 57 problem 82 14 trend pur-

(4) bargain (5) 42 chase 41,

Directions (113-121) : Study the following infor- 3) 41 growth next 57 problem 82 14 trend 02 pur-
mation carefu]]y and answer the questions which follow : (3) chags.:). P P

(Indian Bank PO Exam. 02.01.2011 (Ist sitting) {4) growth next 57 problem 82 14 trend 02 pur-
Mﬁ word and number arrangement machine when chase 41.
bem f““ Input line of words and numbers rearranges (8) growth next 57 purchase 82 14 trend 02 prob-
on a particular rule. Following Is an illustra- lem 41. ,
of input and the rearrangement.

o
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] INPUT which of the follMﬂgzgle:rm
.1 139 V in the above arT .
sixth pos! step (2) ropes (3) By
118, Which word/number would bel ;‘ the (1) kite (5} None of these
tion from the Jeft end in Step 11 roblem (4) 35 ition of 'In’ In step v
(1) Purchase (2) 14 d @ 124, What m,-:: ;rg:: the left end
(4) 41 {5) tren (1) Fou right end
-121): Third from the
lnPtlt-JU‘Zh word/number would be at position (3) Seco grom the Ieft end
e IEE right end in Step Il ? (4) Thudfrom the left end
{1) and (2) 15 (5) Fchu“o‘ f the following is the last step mhalou
{3) just ) 14 120. vght:1 « given tnput ?
20, Which of the following would be step Il of the ar- () ample blue in Kite strong ropes 77 5, 73
120. Whic
? 19 12
(r;n::::?t?:t value 14 22 time 05 ; 5. (2) ample blue in kite ropes strong 12 19 A2y "
(2) and 5 just 14 value 22 time 15. 57 77 lue ample
(3) and 05 just 14 time 145 2222 J;I;l; (3) strong ropes kite in blue ample 77 57 4, %y
d just value time 1 . 19 12
g; ;::ng?} these te the (4) ample blue in kite ropes strong 57 77 9 353&
121, How many steps would be needed to ‘i:g:;pslfep ? 19 12
arrangement and which would be the (5) None of these

(1) Step IV : and 05 just 14 time 15 value 222.
{2) Step V ; and 05 just 14 time 15 value 22,
(8) Step V : 22 and 15 just 14 time 05 just.
(4) Step VI: and 05 just 14 time 16 value 22.
(5) None of these
Directions (122-136) : Study the following infor-
mation carefully and anawer the given questions :
(Union Bask Of India PO Exam, moz.at:‘oll
A word and number arrangement machine, when
glven an input line of words and numbers, it rearranges
them following a particular rule. The following is an il-
lustration of input and rearrangement.
+ 25 93 as hill stamp bolt 45 34 63 total 13

Input
alter rise
Step I : alter 25 93 as hill stamp bolt 45 34 63 total
rise 13
Step I : alter as 93 hill stamp bolt 45 34 63 total rise
2513
Step HI : alter as boit 93 hill stamp 45 63 total rise 34
2513
Step IV : alter as bolt hill 93 stamp 63 tota] rise 45 34
2513
Step V : alter as bolt hill rise 93 stamp total 63 45 34
2513
Step VI : alter as bolt hill rige stamp total 93 63 45 34
25 13

Step V1 is the Jast step of the above arrangement as
the intended arrangement 1s obtained.

As per the rules followed in the above gte , find
out In each of the following questions the apptl'?pﬂate
steps for the given input,

Input : ropes 12 33 strong 35 19 in
priis. g blue ample kite

122, What is the Position of ‘47" step III ?
(1) Fifth from the left end
(2} Seventh from the left end
(3) Sixth from the Jeft end
{4) Sixth from the right eng
(5) Seventn from the right end

126. How many steps are needed to completa thiy 5,
’ ment ?
range @) @

:«3 3’1 {8) None of theases
Directions (137-131) : Study following Informy,

wer the given questions :
to ans (Corporation Baak PO Bxam. 10,01y,

A word and number arrangement machine
given an input line of words rearranges thiem following,
particular rule. The following is an Mustration of Inpuy

and rearrangement.

Input  : age road own wire tire ink pen uni dioe e
Step I : unli age road own wire tire Ink pen eat diee
Step II : uni own age road wire tire ink eat pen dice

Step IIl : uni own ink age wire tire eat road pen dice
‘Step IV : uni own ink eat age wire tire road pen dice

And step four Is the last step of the rearrang.
ment.

As per the rules followed in the above steps, fini
out In each of the following questions the appropriai
steps for the given input.

Input for the questions
Input  : gem stat ace cast omit fan rate uncut erain

put
127, Whlcl'f? of the following would be the final amang®
ment '

(1} cast gem fap rate stat uncut omit {nput eraat
(2) uncut omy Input era ace cast fan gem rate 88
(3) uncut omit input era ace stat rate gem fan ¥
(4} uncut omyt input era ace stat fan gem rate &
(5) None of thege
128. In Step . which of the following word would be?
Position from the left ?
(1) rate (2) ace

(4 (3) stat
) gem (5) None of these
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< log 1=nq\ e
vh
r , ¥ om_u gel'll
ong % g% peut @) 1t @v
mll:" (5) None of these
il vofthe rearrangement, if omit is related
to
0 in sl;’ | sate 15 related to fan in a certain way, to
ot o of the following would ace be related to, fol-
whi g the samme pattern ?
oWl (2) input
(5) None of these

(@) g™
whi h of the foliowing would be Step vi1 ?
1)

)

)

oD umber would be the following output 7
stat ace rate era Input fan caat

1 rate (3) stat
18] °lllp
gncut omit input era ace stat rate gem fan cast
yncut omit input era ace rate stat fan gem cast
334 '@ Uncut omit Input era ace cast fan gem rate stat

3 4 @ Uncut omit input era stat ace rate gem fan cast

(5) There will be no such step as the input gets re-
«d before step VII

47 3533

;
“ !15"[
|

a7 3 ; pirections {132 ~ 139) : Study the following infor-
3 : gon 10 answer the given questions :
puiks (UCO Bank PO Exam. 30.01.2011)
thyg v 4 word and number arrangement machine when
L an input line of word and numbers rearranges
e following & particular rule. The following is an 1l-
tion of Input and rearrangement. (All numbers in
uestions are two digit numbers)

"ulthn Me?uvcd 18 a 12 once 93 upon 32 time 46 wolf
1301, [+ alived 18 12 once 93 upon 32 46 time wolf
 Whey, siep Il s aonce 18 12 93 upon 32 46 lived time wolf
I'.'""ﬂsa siep I1I: @ once upon 18 12 93 32 46 lived time wolf
Inpy gip IV: 2 once upon 93 18 12 82 46 lived time wolf
eat step V: @ once upon 93 46 18 12 32 lived time wolf
ice step VI: a once upon 93 46 32 18 12 lived time wolf
fice Step VI is the last Step of the arrangement of the
above input as the intended arrangement is ob-
toe tained.
Hee Directions (132 - 136) : Now, answer the ques-
nge- s based on the following input :

find foput: unique 84 can 77 open 88 quick 13 base
Hate 53amiss 11 equal 98 start

132, Which of the following would be Step II for the above
input ?
(1} amiss equal unique 84 77 open 86 quick 13

o base 53 11 98 can start
ge- (2) amiss equal open unique 84 77 86 quick 13

base 53 11 98 can start
e (3) amiss equal open unique 84 77 86 13 53 11 98
tat base can quick start
" (4) amiss unique 84 77 open 86 13 base 53 11 equal
sl 98 can quick start _

(5) None of these

133, Which of these words/numbers would be fifth (from
right side) in Step Il for the input?
(1) 53 @ 11 (3) equal

(4) 98 (5} None of these

al

134. Which of the following would be the last step for

the tnput?
(1) amiss equal open unique 98 86 84 77 53 131
base can quick start
(2) amiss equal open unique 98 84 86 77 53 13 11
base can quick start
(3) amiss equal open unique 98 86 84
can base quick start a3
(4) amiss equal open unique 98 86 £4 77 53111
base can quick start
(5) None of these
138, How many Steps would be needed to ¢
arrangement for the above Input?
(1) viL (2) 1t @V
(4 v (5) None of these i
1386. The following stands for which step of the rearrange

77531311

omplete the

ment?

amiss equal open unique 98 84 77 86 198311
base can quick start

(1) Step Il (2) Step V (3) Step V1

{4) Step IV (5} None of these
low are flve steps

Directions (137-139) : Given be 3 (E)
in a jumbled order in the form of (A), (B), (C), (D} an S ich
for an Input. Arrange them according to the order in W

they should appear based on the example given. Then

answer the questions that follow.
(1) arrival on 16 44 28 66 finish match
(2} arrival on 66 44 28 16 finish match
" (3) arrival 16 44 28 on 66 finish match
(4) arrival on 66 44 16 28 finish match
(5) arrival on 66 16 44 28 finish match

187. Which of the following will be Step II ?

Ha (2B @C
4)D (B E _

138. Which of the following will be Step IIf ?
(1A (2) B (3)C
(4D 5} E

1389. Which of the following will be Step 17
ma 2)B @3c
4D (B E

Directions (140-144) : Study the following infor-
matfon to answer the given questions —
(Allahabad Bank PO Exam. 17.04.2011)
A word and number arrangement machine when
given an input line of words and numbers rearranges
them following a particular rule. The following is an il-
lustration of input and rearrangement.
Input : sum 28 have 19 96 48 luck nice 78 rope
Step I : have sum 28 19 48 luck nice 78 rope 96
Step II : luck have sum 28 19 48 nice rope 96 78
Step III : nice luck have sum 28 19 rope 96 78 48
Step IV : rope nice luck have sum 1996 78 48 28
Step V : sum rope nice luck have 96 78 48 28 19
And Step V is the last step of the rearrangement.
As per the rules followed in the above steps, find
out in each of the following questions the appropriate
steps for the input given below :
Input : 49 last zen 16 82 yet can vast 33 alm 87 84

——
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lete the
140. How many ateps would be needed to comp.

arrangement ?
(1 v @V (3) VI
(4 vit (5) None of these output?

. uld be the foll
“ mstt:ap::?nb:ﬁe yet 33 87 82 54 49
(1) it @n @i
4 v (5) There will be no such step
242. Which of the following would be the Step 1 ?
(1) aim 49 can zen 16 yet vast 33 54 §7 82 0
(2) vast last can aim zen 16 yet 33 87 82 54 47
(3) zen 49 Jast 16 82 yet can vast 33 aim 54 8

{4) alm 49 last zen 62 yet can vast 33 87 54 16

(5] None of thesge

i g
148.1n Step V which of the following word/numbe

would be on the 6th position (from the right} ?
(1) 87 (2) 16 (3) 33
{4) zen (5) aim

144. Which of the following would be the final arrange-

ment ?
(1) zen yet vast last can aim 16 33 49 54 82 87

(2) aim can last vast yet zen 16 33 49 54 82 87
{3) aim can last vast yet zen 87 82 54 49 33 16
(4) zen yet vast last can aim 87 82 54 49 33 16

number would be the (o

46. Which Step m:;est hot sun fce ey Bu-;)*l“!.
10 3749 8% T vi @y &
( 1; ::' {S) None oflt:eae
(4 e following would be th, g

147. wmlc;t;; 2; hot sun best ice ace ¢y ;;p_;??
Ga TR
(3) 19 67 ace best hot sl 10 77 cuy 3783
(@) 19 67 hot sun hest ice ace 77 °"“3733

f these
8 i of the following would be the fing)
148. :

meg;‘_",,»; 83 ace best cut hot ice syup 19 - "
o) 37 49 ace best cut hot ice sun g 7
496777 83 acebestcuthouce %

(2) 19
8
ace ice best cut hot sun g7 77:';

(3) 19 87
(4) 19 87 49

f these
40 }:’ ]sqtf;clc\'f, which of the following vy
1o would be on
(1} sun (2) best

{4) cut {5) None of these
Directions (150-1584) : Study the fol
tion carefully and answer the given q“csm:
ma (IBPS Specialist Officer CWE Exam, 1008
A word and number arrangement Machin

367

Td
7th position (from the rigyy {;‘""%

Infy,

(3) None of these
Directions (145 ~ 149) : Study the following infor-

mation to answer the given questions :

rule in each ste
following a particular P.
ﬁgﬂ?s an illustration of input and rearrangemen o

the numbers given in the arrangement are twg digt

¢ ¥y

d numberg

an input line of words an Tear
The follgy,

(IBPS Bank PO/MT CWE Exam. 18.09.2011) bers).

A word and number arrangement machine when Input : gone over 35 69 test 72 park 27
o oo Input line of words and numbers rearranges | g0t 57 gone over 35 69 test 72 park
them following a particular rule. The following is an fI- Step Il : 27 test gone over 35 69 72 park

lustration of input and rearrangement.

Step Il : 27 test 35 gone over 69 72 park
Step IV : 27 test 35 park gone over 69 72

Input : 52 peak 91 snow freeze 43 cold 15 high 31 73
trek

Stepl : 15 52 peak snow freeze 46 cold high 31 73
trek 91

Step Il : 15 31 52 peak snow freeze 46 cold high trek
73 91

Step 1T : 15 31 46 peak snow freeze cold high trek 52
73 91

Step IV : 15 31 46 cold peak snow freeze high trek 52

73 91

Step V : 15 31 46 cold freeze peak snow high trek 52

73 91

Step VI : 153146coldfrcezehjghpeaksnowtrek52

7391

Step VI is the last step of the rearrangement, As

Step V : 27 test 35 park 69 gone over 72

Step VI : 27 test 35 park 69 over gone 72

Step VII: 27 test 35 park 69 over 72 gone
and Step VII is the last step of the

of the above input as the desired arrangement§

obtained,
As per the rules followed in the above s

priate step for the given input,
150.

_ teps, find
out in each of the following questions the appre

Input : 86 open shut door 31 49 always 45
How many steps will be required to complete ¢

rearrangement?
(1) Five (2) Six {3) Seven
{4) Four (5) None of these

per the rules followed in the above steps, find out in each
of the following questions the appropriate steps for the
given input. Input for the questions.

Input : 67 hot sun 19 best 83 ice 49 ace 77 cut 37
148. How many steps would be needed to complete the

arrangement ?
(11X (2) viil (3) I
4 vii {5) None of thege

Which of the following 15 definitely the input?
(1} enemy 25 Joy defeat yes 52 37 46

(2) 37 enemy 25 joy yes defeat 52 46

(3) enemy oy defeat 25 52 yes 46 37

(4} Cannot be determined

(5) None of thege

~{BPREga0) . .



!l of an Input : 18 win 71 34 now If victory 61
167 pow many more steps will be required to complete

D 1 : e ement?

.77? l:'; rnree (2) Four (3} Five

35 8 4) Six (5) More than six

3, Iy .. input ¢ where 47 59 12 are they going 39

3 g;? ‘ 189 Whi?d‘ of the following steps will be the last but
: one
i ) Vi 2ymwv (3 v

ar.m I:. g Vil (5} None of these

> p - g4, Step 1i of an input: 33 store 81 75 full of goods 52

) 9 1 which of the following will be step v1 ?

883 (1) 33 store 52 of 75 81 full goods

| (2) 33 store 52 of 75 full 81 goods

83 (3} 33 store 52 of 75 goods 81 full

l (4) There will be no such step

U, (5) None of these

pirections (185-188) : Study the following infor-

ton carefully and answer the given questions :
(IBPS Bank PO/MT CWE Exam. 17.06.2012)
A word and number arrangement machine when
gven 80 input line of words and numbers rearranges
them following a particular rule in each step. The fol-
is an illustration of input and rearrangement. {All

ihe numbers are two digit numbers).

ma

Feisrs £

mput : tall 48 13 rise alt 99 76 32 wise jar high 28
56 barn
Stepl : 13 tall 48 rise 99 76 32wisejarhigh2856
barn alt
stepll : 2813tall48rise997632wisejarhlgl}56
alt barn
Step Il : 32 28 13 tall 48 rise 99 76 wise jar 56 alt
barn high
StepIV: 48 32 28 13 tall rise 99 76 wise 56 alt barn
- high jar
StepV : 56 48 32 28 13 tall 99 76 wise alt barn high
jar rise
; StepVI: 76 56 48 32 28 13 99 wise alt barn high jar
; rise tall
Step VII: 99 76 56 48 32 28 13 alt barn high jar rise
tall wise

and Step VII is the last step of the above input, as
the destred arrangement is obtained. ‘

As per the rules followed in the above steps, find
out in each of the following questions the appropriate
step for the given input.

Input : 84 why sit 14 32 not best ink feet 51 27
vain 68 92

(All the numbers are two digits numbers).

185. Which step number is the following output?
32 27 14 84 why sit not 51 vain 92 68 feet best ink
(1) Step v (2) Step VI (3) Step IV
{4) Step i (5) There is no such step

188. Which word /number would be at 5th position from
the right in Step v ?
(1) 14 (2) 92
(4) best (5) why

(3) feet

mbers) are there

187. How many elements (words or nu  the last

between ‘feet’ and ‘32" as they ap
step of the output?

(1) One (2) Three (3) Four

158, [‘:]hll:hveol‘ the fo:lscifi:l;mrcprcscnta the position of
i;hﬁxéat:’gﬁﬂu?;?r? ! (2) Fifth from the right
{3) Sixth from the left (4) Fifth from the left |
(5) Seventh from the left ollowing Infor- ;

Directions (139 - 161) : Stzdynsthc
mation to answer the given questions :
(BPsS Bmhllgi:: Officer CWE Exam.17.03.3013)
A word and number arrangement machine wh?;
given an input line of words and numbers reai:':l:lg“.
them following a particular rule. The following
lustration of input and rearrangement.

(Al numbers in these questions are two digit num-

bers)

Input : 16 today 32 waiting 21 are 11 people 46 bus
66 long

Step1 : 16 today 32 waiting 21 11 people 46 bus 66
long are . ton

Step 1l : 16 today 32 waiting 21 people 46 bus 66 long
11 are

Step Il : 16 today 32 waiting 21 people 46 66 longbus
11 are

Step IV : today 32 waiting 21 people 46 66 long 16 bus
11 are

StepV : today 32 waiting people 46 66 21 long 16 bus
11 are

Step VI : today 32 waiting 46 66 people 21 long 16 bus
11 are

Step VII : today waiting 46 66 32 people 21 long 16 bus
11 are

Step VIII : waiting 46 66 today 32 people 21 long 16 bus
11 are

Step IX : waiting 66 46 today 32 people 21 long 16 bus
11 are

Step X : 66 waiting 46 today 32 people 21 long 16 bus
11 are . .

Step X is the last Step of the arrangement of the
above input as the intended arrangement is ob-
tained.
Now, answer the questions based on the following
input :

Input : 23 you 13 wake 81 me 43 before 72 go 34

up

159. Which of these words /numbers would be fourth

{from left side) in Step IV for the input ?

(1) me (2) 43 (3} 81
(4) wake (5) None of these

160. The following stands for which step of the rearrange-
ment ?
you wake 81 43 72 34 up me 23 go 13 before
(1) Step IX (2) Step IV (3) Step VI
(4) Step V (5) None of these

o

[ BPRE-481




e above
161. Which of the following would be Step I for th

input ? ore
(1) 23 you wake 81 me 43 72 34 up go 13 bef

e
{2} 23 you 13 wake 81 me 43 72 go 34 ':,'Z;feow
(3) 23 you wake 81 me 43 72 go 34 up pefore
(4) 23 you wake 81 me 43 72 go 34 up 13
(5) None of these )
Directions (162-166) : Study the followin%ilﬂfa‘z':
mation carefully and answer the questions given 5019)
(Indian Overscas Bank PO Online Exam, ol-vahen
A word and number arrangement meu:hlﬂrm:ﬂmg s
given an input line of words and numbers ollow-
them following a particular rule in each step. The follo
ing is an flustation of input and various steps ol

ement. (All the numbers are two digit numbers).
;:::l.glt : more presence required 12 42 70 for 63 37
good work 28
Step I : for 70 more presence required 12 42 63 37
goed work 28
Step Il : good 63 for 70 more presence required 12 42
37 work 28
Step III : more 42 good 63 for 70 presence required 12
37 work 28
Step IV : presence 37 more 42 good 63 for 70 required
12 work 28
Step V : required 28 presence 37 more 42 good 63 for
70 12 work
Step VI : work 12 required 28 presence 37 more 42 good
63 for 70

And Step VI is the last step of the rearrangement
as the desired arrangement is obtained.
As per rules followed In the above steps, find out in
each of the questions the appropriate step for the
given input.
Ispur for the questions :
money 48 24 18 wanted for Investment 65 90
lock credit 32
162. Which step number is the following output ?
lock 32 investment 48 for 65 credit 90 money 24

18 wanted
(1) Step 11 (2) Step 11 {3) Step Iv
(4) Step v (5) There is no such step
163. Which word/number would be fourth from the left
Instepive -
(1) for (2) 48 (3) 65
(4) 32 (5) credit

164. Which word/number would be second to the
of the fifth element from the left in step v 2 rieht
(1) for (2} 65 {3) 48
(4) investment (5) 32

168. How many elements (words/numbe
TS,
between *for” and “18" in step 1y 9 } are there

_q weut

171) : Study E\

(167- Oty |
pirections d answer the questiong Eive d by
mation carefully 3(.‘; P8 Bank PO/MT CWE.y; a";:g],f:
and number arrangement Q@l‘

A word f words and numberg
n an mp“tau::rt?cular rule in each step, %
them foll of input and various step, reh%

an lﬂusmt:l‘:ﬁbem are two digit NuImberg)’

ngls n
ment. (All the day 34 night 93 pace 27 easy 4, Joy

Input ;; 11 day 34 night pace 27 easy 44
Step I . 03 1134nlghtpa°°27easy441°}'day
Step I :934411 34mghtpﬂcez7°ﬂ8}'jo”ay
step 11 . 93 44 11 34 night pace 27 joyday%
Step IV o3 44 34 11 night pace 271°3’da?easy
Step V . 93 44 34 11 night pace 27 day easy jo
Step V1 * 03 44 34 27 11 night pace day eagy
Step VI : 03 44 34 27 11 pace day casyjoymghl

Step VIH=93443427 11 dayeasYJoymghtpace

Step IX ¢ last step of the
Step IX fs the TCalangen,
:::lhe dcl;h'cd arrangement is obtained. ASpey

e above steps, find out in eqq,

;ﬂleﬁzdmmthﬂ; appropriate step for the given g&

Input for the queltions :

class 25 war 15 race 73 he:al' 58 just gg takey,
167, What is the position of ‘war’ in the Step v,

(1) Seventh from the left end

(2) Eighth from the right end

(3) Fifth from the left end

{4) Fifth from the right end

(6) Sixth from the left end
168. Which of the following is the ninth from the Tight iy

Step VI ?

(1) race (2} 25

(4) 58 (5) 15
169. What is the position of *15’ in the Step 'IX ?

(1) Seventh from the left end

(2) Eighth from the left end

(3) Fifth from the right end

(4) Seventh from the right end

(5)-Eighth from the right end
170. How many Steps are required to complete this ar

{3) war

rangement?
(I) Eleven (2) Twelve (3) Ten
(4) Nine (5) None of these

171. Which of the following represents the Step X?
(1) 88 73 58 38 25 war 15 race take class heapjut
(2) 88 73 58 3825 15 class heap just race takewaf
(3) 8873 58 38 25 15 war cgace heap just race tak¢
(488735838 95 15 war take class heap just &
(5) There s no such Step

(1) Four 2) Three Direct; '
(4) Sev ” (3) six Mation carer o2 (172-177) ; Study the following infe”
166 o (5) Five on carefully ang answer the questions given belo¥'
- Which of the foliowing Tepresents the (11 2014
credit” in step yp Position of When a worg dBI Bank Officer Exam, 22.08. N
Third and n machint
(‘;; by ffrr:-l; tthh: ll:nght (2) Fifth from the jeq m 2n input line of wo“::,‘;":'n?mg‘u arrane?
(5} Sixth from the right () Fourth fr Oom the righ¢ lu&trauon of malﬁw cular rule, The following 13 :"w
bers are two df Pt and rearrangement : (All the
- - T— & npmbers).




TN ~ et |
Yen
W, - m given an Input line of wor nu -

& “‘h‘* . why nice 54 vide run 97 68 atm 37 gun | them f P a particular rule in cach step. m“?umrw",wg.
he Iy N seP’ g1 11 Ing s an {llustration of input and various ster;:b Om,
%‘1:2?- )t 2 vide ;vhy nice 54 run 97 68 aim gun @) [ rangement. (All the numbers are two g;am‘ N 67 o8
. o7 3 Input  : sour burden made new 13 poin
Joy ) TN vide why nice 97 68aim gun 81 11 37 50 weak to find 44 83 s5 votnt 67 50 t0
J S 54 ‘ Step I : burden sour made new 25 38 poin
::y v :nice run vide why 97 aim gun 81 11 37 54 find 44 83 weak 98 L67
ra;' sP 68 vide wh Step Il : 1325 bultle:k n;sd sour made new 38 poin

‘ ;gun nice run vide why 97 aim 11 37 4 50 44 to we
l:: f serV 8 g 1 Step I : 13 25 38 burdenenalngimadc new point 50 44
| . gim gun nice run vide why 11 37 54 68 sour to weak 67
et septin e s | G B
Is the lasi step e al - om
t 9‘3“ arrangement is obtafned. et as And Step IV is the last step of the rearrangement
3 . e ”’M per the rules followed in the above steps, find as the desired arrangement is obtained. nd out n
:‘he.,‘ in each of the following questions the appropriate As per rules followed in the above steps. for the
"l :::a for the given Input. each of the questiona the appropriate stcp
! : 63 45 fog 13 88 can Ink 76 51 you han given input.
ml‘hl' e 27 air end d g Input : water is required 12 41 65 for all 27 33 89 to
many steps are required to complet 75 90 survive life

"2 173 :::’:ngcmc{lt? plete this 178, Which word/number would be fourth to the leftmo‘;

v (2) vl (3v the seventh element from the right h;,tlhe Step

3
(4) Cannot be determined {5) None of these :411; ;e;mired g} :;:r 3
lements (words/numbers} are th
379, How maty © ' °r¢ | x70.H 1 ts (words/numbers) are there
tween ‘ink’ and *45’ as th pear . How many elements {wo

3‘; o v ap In the Step between ‘all’ and ‘65" as they appear In Step wv?

(1) Eight (2) Five (3) Six (1) Six {g} ?ght (3) Five
n {4) Four (5} Seven (4} Seven (5) Four

174. Which step number would be the following output ?
fog hang Ink you 63 88 can 76 air end 13 27 45 51
mv 2) vi 3w
(4)m {5) None of these

175, Which of the following would be third to the right of
fith from the left end in Step Il ?

{1) 76 {2) 51 (3) can
{4) 88 (5) air
178. What will be the position of ‘can’ in Step Il ?
(1} Eighth from left (2) Seventh from right
(3) Sixth from right (4) Seventh from left
(5) Ninth from right
177. Which of the following would be Step V ?
(1) hang fog end you ink 76 can 88 air 13 27

180. At which of the following position ‘required’ would
appear from the right in the Step 11 ?

(1) Eleventh (2) Tenth {3) Ninth
(4} Eighth (5) Seventh

181. Which of the following represents the position of
‘for’ in the Step 1 ?

(1) Sixth from left
(3) Seventh from left
(5) Eighth from left
Directions {182-187) : Study the following infor-
mation carefully and answer the questions given below :
(IBPS Bank PO/MT CWE-IV, 18.10.2014)
When a word and number arrangement machine 1s
given an input line of words and numbers, it arranges
them following a particular rule. The following is an il-
lustration of input and rearrangement: (All the num-

(2) Ninth from right
{4} Eleventh from right

45 51 63 bers are two digit numbers).
(2) end fog 88 can 76 hang Ink you 13 27 air | Input : bike 51 ride 37 11 duke 58 damp liné 75 tent 84
45 51 63 - Stepl : 84 51 ride 37 11 duke 58 damp line 75 tent
(3) end fog hang Ink you 88 can 76 air 13 27 bike
45 51 63 Step Il : 75 84 51 ride 37 11 duke 58 line tent bike
(4) end fog 51 63 hang ink 88 you 76 can air | damp .
13 27 45 Step I1I : 58 75 84 51 ride 37 11 line tent bike damp
(5) There is no such st duke
(176.181) ¢ Study the following fnfor- | SteP1V : 51 58 75 84 ride 57 11 tent bike damp duke
Tation carefully ang . . line
answer the questions given below : .
(SIDBI Officer Exam, 03.09.2014) StepV : i?deSl 58 75 84 11 tent bike damp duke line
——
=~ .BPRE~433 |;




ine ride
Step VI: 11 37 51 58 75 84 bike damp duke

tent ent a8
Step VI is the last step of the above arrangein

the intended arrangement ls obtained. find
As per the rules followed in'the above:t:gp Hate
out in each of the following questions the ap

steps for the given input. a1 95
Input : find 64 belt 28 54 lamp 17 give flat 69 re

182, Which of the following would be the su:;:j Itllla :’gm
(1) 54 64 69 95 28 lamp 17 real belt fin

(2) 69 95 64 28 58 lamp 17 give flat real be';‘}l"a‘:
(3} 64 69 95 28 54 lamp 17 give real belt fin bt
(4) 54 64 69 95 28 give lamp 17 real flat find
{5) None of these

183. What will be the position of the lamp’ in the Step
wve

(1) Sixth from the left end
{2} Seventh from the lefi end
(3) Fifth from the right end
(4) Sixth from the left end
(5) Fifth from the left end
184. How many elements (words/numbers) are there
between *28" and “69" as they appear in the Step1?

(1) Six {2) Seven {3} Four
{4) Five {5) Three
188, At which of the following position “real” would ap-
pear from the right in the StepV ?
(1) Seventh {(2) Sixth (3} Fifth
{4) Fourth (5) None of these

186. Which word/number would be the second to the
left of the fifth element from the right in the Step

e
(3} give

(1) 54 )17
4) 28 (5) lamp
187. Which Step number would be the following output ?
28 54 64 69 95 17 real belt find flat give lamp
(1) Step v (3) Step M1
(4) Step 1t (5) Step VI
Directions { 188-191) ; Study the following infor-
mation carefully and answer the questions given below :
{IBPS Bank PO/MT CWE-V Main Exam, 31.10.2018)
When a word and number arrangemient machine ig
glven an input line of words and numbers, ¢ rearranges
them following a particufar Tule in each step, The follow-
Ing 1s an fllustration of input and rearrangement. (]

the numbers are two digit numbers)
Input  : tatk 47 12 rise at 99 75 32 wige Joke high 25
56 be
Step! . 19 talk 47 rise 99 75 32 wise
e i Joke high 28 56
Stepll ; 2g 12 talk 47 rige 99 75 32
wi
B Se joke high 56
Step I

+ 3228 12
& talk 47 rise 99 75 Wise joke 56 at be

Step IV : 4739 0g 12

talk rf
Joke 3¢99 75 wise 56 at be hyg,

— weuT

|

7

s6 47 32 28 12talk99h

. at '
) joke rise b

step V

Step VI : rise talk hﬁ'
2 28 12 at be hy I
99755647 3 g‘Uolteﬂae

wise LN; §
last step of the above e
wldisa:l::ngement is obtained, arra,,&%

es followed in the givep,
. l;;rrotg:iar;lswps for the gven tnpy, " foy

out the a. 83 why sat 1432nobeh1kfeet5027 &
foput ch step number is the following Outpy, %
188. Wh;z 27 14 83 why sat 10 50 vain g7 ¢, bep

ink
(1) Step V

I
:;; 23?: r than those given as options

Step Wl H

Step
as the desire

{2) Step VI (3) Step 1y

89, Which word/number would be at fifth POSitoy i
197 te right in Step V?
1) 14 (2} 92 (3) feet
(5) sat

4) be
190 I(-low many elements (words or numberg) are

they

between ‘feet’ and ‘32" as they appear i, the
step of the output?
(1) One (2) Three (3) Four

Position

(2} Fifth from tpe
(4) Fifth from the

181. Which of the following represents the
‘why’ in the fourth step?
(1) Eighth from the left
(3) Sixth from the left
{5} Sixth from the right
. Directions (182-195) : Study the following infory,,
tion carefully and answer the questions given bejoy :
. (xBPS Specialist Officer (Marketing) cwe 01.02.201¢)
When a word and number arragement machine is g
€én an input line of words and numbers, it arranges theg
following a particular ryle, The following is an Mlustration
of input and fearrangement.
(All the numbers are two digit numbers)

Input . 23 kinetic amount g4 Nature 71 58 opjum ver-
dict 96 elderly 15

* oplum 23 kinetjc amount 64 nature 71 verdit
96 elderly 15 58

* elderly opium 23 kinetic amount nature 71 v
dict 96 15 58 64

Tigh
Ief

Step 1

Step 1

Ste.p i amount elderly opium 23 kinetic nature 71
s verdict 15 58 84 gg
PIV: 15 amount elderiy opium 23 kinetic nature 7!
Step v 58 64 9¢ verdict
PV 12315 amount elderly opium kinetic 71 58
Step VI ; 7] pg |t Pature
P P 7123 15 amount elderly oplum 58 84 96 VeI
Stepyy dict nat re kinetje
€p
Intendeq e last Step of the above arrangement st

Eement fs obtained,



wles followed n the given stepg, fing
pt Uz atepe for the ghven tnput. out the
W - 59 96 salient 81 idioms bakery 14 launch

w47 Wmmm'%’md‘bak.
1l of the given input?

62, 14, idioms, umpire

62, 8L umpire, launch

the Step 1L 'ldlpms' interchanges its position
then which element will be third to the left

b
::m ‘14
of 477

I b

014 (2) satient
(4] 23 [5] adverb .
jn which step are the elements ‘bakery launch 47
14' found in the same order?
(1) Sixth (2} Third (3) Fourth

{4) The given order of elements is not found in any
step

(5) Fifth
(196-200} : Study the following informa-
and answer the questions given below :
(IBPS Specialist Officer (IT) CWE 14.02.2016)
When a word and number arrangement machine s
) gven an Input line of words and numbers, it rearranges
| hem following a particular rule, The following is an lllus-
1 Lation of input and rearrangement :
(All the numbers are two-digit numbers.)
iput : baffled 46 iceberg 19 nation unreal 75 28 kid-

Cre {3) idioms

h
lﬂsg
198

of

['
|
I
|
f
f
l
t
]

! ton

!
-

i

196. If In the step II, ‘absorb’ interchanges its Pod“‘:“’&
with *868' and '39° also interchanges its

‘vaccine’ then which demtmﬂbementhwﬂ‘e
left of '25' ?

(1) 39 (2) absorb (366

(4) 64 (5) vaccine

197. Which of the following combinations yepresents (e
first two and the last two elements in the step v
the given input ?

(1) earlier, 86, vaccine, 71

(2) 39, absorb, earller, 12

(3) offense, 25, 12, absorb

{4) 25, malign, garage, 86

(5) 71, offense, garage, 12

188. In which step are the elements a
cine’ found in the same order 7

(1) Third (2) Fifth

(3) Fourth (4) Stxth

{5) The given order of elements is not

step .

189. Which elements come exactly between
lign’ In step III of the given Input ?
(1) Both ‘64’ .and 'vaccine’
(2} Only ‘3¢
(3) Both ‘86" and 'earlier’
(4) Only ‘garage’
{S) Only ‘offense’.

200. Which element is third to the left of the one which is
seventh from the left end in Step V1 of the given In-

put?
(1) earlier {3) malign

(4) offense

bsorb 86 25 vac-

found in any

‘95’ and ‘ma-

{2) 71
(5) 25

SBI PO EXAMS |

Directions (1-8) : Study the following information
carefully and answer the questions given below :
(SBI Associate Banks PO Exam. 16.07 .2000)

A word arrangement machine when given an input
line of words rearranges it in every. step following a cer-
tain rule. Following is an illustration of an input line of

words and various steps of rearrangement:
Input : gone are take enough brought station
Step 1 : take gone are encugh brought station
Step II : take are gone enough brought station
Step HI : take are station gone enough brought
Step IV : take are statlon brought gone enough
And, Step IV is the last step for this input. Now find
out appropriate step in each of the following questions
following the above rule.
1. Input : car on star quick demand fat.
What will be the third step for this input?
(1) star car quick demand on fat
(2) star quick car demand on fat
(3) star car demand quick on fat
(4) star car quick on demand fat

(5) None of these

! ney 63 abandon 94
{ Sep1 : abandon baffled 46 iceberg 19 unreal 75 28
' kidney 63 94 nation
" Supll : lcebeng abandon baffled 49 19 unreal 75 28
‘ 63 94 nation kidney
{ SpIll : unreal jceberg abandon 46 19 75 28 63 94
1 nation kidney baffled '
Step IV : 75 unreal jceberg abandon 46 19 63 94 nation
| Kidney baffled 28 |
S$4pV : 63 75 unreal iceberg abandon 19 94 nation
kidney baffled 28 46 . -
Sp VI : 19 63 75 unreal iceberg abandon nation kid-
ney baffled 28 46 94 ,
Siep Vi is the last step of the above arrangement as the
A arrangement is obtained.
Per the rules followed in the given steps, find out the
put steps for the given input.
* offense 71 vaccine 12 39 garage absorb 86 earli-
¢r 25 malign 64
A
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2.1f Step 11l Is ‘ultra barrack save enough P“f?ty ying’
which of the following would be the Input
(1) ultra enough party save barrack lylng
(2) ultra barrack enough party save lying
(3) ultra enough barrack save party lying
(4) enough ultra barrack save party lylng
9) Cannot be determined
a. I{t iitep IV of input is ‘violet for sour height journey
medium".
which of the following would be Step Il of that input?
(1) violet journey height for sour medium
(2) violet for sour journey height medium
(3} violet for fourney height sour medium
(4) violet for sour height journey medium
(5) Cannot be determined
4. If Step Il of an input is ‘warden examination town
ink garden restore’. What step would be ‘warden ink
town garden restore examination'?
I (2 1 (3 v
4 v (5} None of these
4. Input ; ink hurry yet for the victory.
Which of the following will be the last step of the

above input?
(1} Ilird (2) IVth (3} Vth
{4) VIth (5} None of these

Directions (6-12) : Study the following information
to answer the questions given below :
(SBI Dankse PO Exam. 20.08.2000)

A number arrangement machine when given an input
of numbers, rearranges them following a particular rule
in each step. The following {s an illustration of input and

steps of rearrangement.
Iuput : 48245182 26 99 542 378 297

Stepl: 54248 245 182 26 99 378 297
Step[I: 54226 48 245 182 99 378 297
Step Il : 54226 378 48 245 182 93 297
Step IV : 54226 378 48 297 245 182 99
StepV: 54226 378 48 297 99 245 182
This is the final arrangement and step V is the last
step for this input.

6. What will the fourth step for an input whose second
step is given below :

Step I : 765 42 183 289 542 65 110 350
(1} 765 42 542 350 18328965110
(2) 765 42 542 65 110 183 289 350
(3} 765 42 542 65 183 289 110 350
(4} Cannot be determined
(5) None of these
7. What should be the third step of the following input?
Inmput : :
239 123 53 361 495 37
(1} 495 37 361 123 239 58
(2} 495 37 58 361 123 239
(3) 495 37 58 123 361 239
(4) 495 37 361 239 123 58
(5) None of thege

—q INPUT o

10.1f the fl

11. Below is given the second step of an inp Wiy

an input as se

lowing a particular rule angd generates stepwise outputs
the rearrangement g complete following that rule.

the answer to each of

¥
steps will be rcqum /

tput from thg following input?
outp

Input :
39 88 162 4
(1) Two
{(4) Six

(2} Three {3) Foy,
(5) None of these i

tep of the fo) 'L
1d be the last step of the fo lowing,n LA

9. What shou P {0

Imput : 326 236
79 348 28
111?83482 26 326 158 279 236

{

ll

279 [-

g 326 236 158
e % :8 326 158 279 326 :
:2: 348 28 158 326 236 279 l|
f these

{5) No":s(: step of an input 18 “785 198 39 " |

6 3
foll n
06 49", then which of 3t1;% ”; OWINg stepq i
«785 32 426 49 198 37

1) Third {2) Fourth (3) Fifn

:4) Second (5) None of these

will be its fourth step? 16

no:
:;?12 128 36 212 185
(1) 298 12 212 128 36 185
(2} 298 12 212 36 128 185
(3) 298 12 36 212 128 185
{4) Cannot be defermined

(5) None of these »

12. Below is given the third step of an input, What w

be its second step?

Step IIL :

387 42 236 185 92 64

{1) 387 42 185 236 92 64

{2) 387 42 92 185 236 64

(3) 387 42 185 92 236 64

(4) Cannot be determined

(5) None of these .

Directions (18-17) : Read the following information

carefully and answer the questions given below :

(SBI Banks PO Exam, 11.02.3001)

A word-number arrangement machine when given
t of word-numbers rearranges them fo-

Following is an illustration of input and steps of re-

arrangement till the last step.

Input
Step I
Step In
Step 1y .

Pour ask 57 dear ag fight 17 28

ask pour 57 dear 39 fight 17 28

ask 57 pour dear 39 fight 17 28

ask 57 dear pour 39 fight 17 28

ask 57 dear 39 poyr fight 17 28

¢ ask 57 dear 39 fight pour 17 28

"y 23K 57 dear 39 fight 28 pour 17

the lagt output.

fule followed in the above steps find o'

the following airestions 2

lo



, of an input is “cut 97 38 end for 29 44
i 51:!’ gthh of the following will be the laat step?

13 oo’ 2w v
{5) None of these

tep of an input is "ago 85 elite
Vi oo of the following wil definitely the
of output of the Input?
d 8% 79 elite fat 41 26 exdle
g5 exile elite 41 26 fat 70
26 exile 41 elite 70 fat

determined

;@ tep of an input 1a “car 17 vas
t gt th;2. wsmd'l of the following will be the I%:.;ga%cg
lﬂ‘-ecar g2 like 87 tiger 52 17 vas
lllcm_ g2 like 87 17 vas tiger 52
@ car 92 like 87 tiger 17 vas 52
_-! ‘ﬂmez Iike 17 vas tiger 87 52
} None of these
B 49 31 high 22 track 12
é ch of the following will be the ilird step?
{ |1 for 49 high 31 track 22 zeal 12
(3) for 49 high zeal 31 22 track 12
(&) for 49 high 31 track zeal 22.12
(8} None of these

ir.loput !

at
iy 19 feat

34 28 dog bag take 43

of the following steps would be “bag 43 dog
10 feat 34 26 take®?

(1) lind (2) IVth

{3) Ist
{4) Cannot be determined

{5) Nore of these

pirections (18-20} : Given an {nput, a machine gen-
¢rates pass codes for the six batches each day as fol-
ion lows :
(8B1 PO Exam. 09.01.2008)
) Input : these icons were taken out from the sea.
ED Pass Codes ¢
k- Batch I : from sea the out taken were icons these
s Bateh I ; form icons these were taken out the sea
Batch INT : from icons out sea the taken were these
Bateh IV : from icons out sea these were taken the,
and so0 on.

First batch starts at 10.00 a.m. and each batch is for
one hour., There is a rest period of one hour after the end
of the fourth batch.

18. The pass code for the first batch on a day was ‘he 80
used to sell the surplus items’.

What was the input on that day ?

(1) he ftems surplus the sell to used so

(2) s0 used to sell the surplus items he

(3) items surplus the sell to used so he

18, If the pass code for the batch at 1.00 p-m. on 2 day
was ‘back go here people who settle want to-

What was the pass code for batch at 3.00 p-1 on
that day ?

(1) back go here people to want settle who
{2) back go here people settle who want to
{3) back go here people settle to want who
(4) cannot be determined
{5) none of these
20, What will be the pass code for the batch at 3.00
p.m. if input is four of the following flve form a
group'?
(1) a five following form group the of four
{2) a five following form four group the of
(3) a five following form four of the group
(4) a five following form four group of the
(5] none of these
“ Directions (21-23) : Stutcily the
on to answer the given questions :
(sB1 f:vaouilte Banks PO Exam. 07.08.2011)

A word and number arrangement machine when giv-
en an input line of words and numbers rearranges them
following a particular rule tn each step. The following 18
an NMustration of input and rearrangement. {All the num-
bers are two digits numbers and are arranged as per some
logic based on the value of the number.)

Input : win 56 32 03 bat for 46 him 28 11 give chance
Btep I : 03 56 32 bat for 46 him 28 11 give chance win
Step I1: 11 93 58 32 bat for 48 28 give chance win him
Btep III: 56 11 3 32 bat for 46 28 chance win him give
Step IV: 28 56 11 93 32 bat 46 chance win him give for
Btep V : 46 28 56 11 93 32 bat win him give for chance
Step VI: 32 46 28 56 11 83 win him give for chance bat
and Step V1 is the last Step of the arrangement of
the above input as the intended arrangement is obtained.

As per the rules followed in the above steps. find
out in each of the following questions the appropriate
steps for the given input,

Input for the questions :

Input : fun 88 at the 28 16 base camp 35 53
here 68

(All the numbers given in the arrangement are two
digit numbers.)

21. Which of the following would be the Step II ?
(1) 89 fun at 28 16 base camp 35 53 here 68 the
(2) 35 53 28 68 16 89 the here fun camp base at
(3) 16 89 at fun 28 camp base 35 53 68 the here
(4) 5328 68 16 89 35 the here fun camp base at
(5) None of these

22. Which word/number would be at 7th position from
the left in Step IV ?

(1) base (2) at

(4) the (5) 53
23. Which step number would be the following output ?

53 28 68 16 89 at 35 the here fun camp base

(1) There will be no such step

followlng jnforma-

(3) 35

@ (2) 11 3) 11

) can not be determined v 3 v
(8) none of these
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tion

Directions (24~28) : Study the given informa
and answer the following questions : 2019)
(SBI Probationary Officer Exan 38"::,:; is
When a word and number arrangement (86" o g
given an Input line of worda and numbers,, is an I}
them following a particular rule. The followmfhe pwm-

lustration of input and rearrangement: (an

bers are two digit numbers) 52
Input : 40 made butter 23 37 cookies salt extra

86 92 fell now 19

StepI : butter 19 40 made 23 37 cookles salt extra
52 86 92 fell now
Step Il : cookles 23 butter 19 40 made 37 salt extra
52 86 92 fell now alt
Step Il : extra 37 cookies 23 butter 19 40 made s
52 86 92 fell now
Step IV : fell 40 extra 37 cookfes 23 butter 19 made salt
52 86 92 now
Step V : made 52 fell 40 extra 37 cookies 23 butter 19
salt 86 92 now
Step VI : now 86 made 52 fell 40 extra 37 cookies 23
butter 19 salt 92
Step V11 : salt 92 now 86 made 52 fell 40 extra 37 cook-

les 23 butter 19
Step VII is the last step of the above arrangement
as the intended arrangement is obtained.
As per the rules followed in the given steps, find
out the appropriate steps for the given input.
Input : 32 proud girl beautiful 48 55 97 rich family
61 72 17 nice lifs
24. How many steps will be required to complete the

given input ?
{1} Five {2) Six {3) Seven
(4) Eight (5) Nine
28. Which of the following is the third element from the
left end of step VI ?
(1) beautifil (2) life {3) 61
{4) nice .8 17
28, Which of the following is step IIf of the given in-
put?

(1) proud 72 girl 48 family 32 beautify] 17 55 97
rich 61 nice life

(2} life 55 girl 48 family 32 beautiful 17 proud g7
rich 61 72 nice

(3) girl 48 family 32 beautiful 17 proud 55 97 rich
61 72 nice life

(4) family 32 beautiful 17 proud girl 48 55 g7
61 72 nice life : g rich

{5) girl 48 life 55 family 32 beautiful 17
rich 61 72 nice proud 97

27. What iIs the Position of “nice” from the left eng in

s (20-38) : Study the [o}, .
Directl and‘ answer the questions givtlg ]%r“s ”
uoncarcfuuy ist Officer (Law Officnr ; b‘lo.
(8Bl 8pe Exam, 1 \‘ U
umber arrangement e L
en an input line of words and fumber,’, Tyl ¢

glvi cular rule in each step,
s ﬂﬁ%ﬁﬁf of input and Various g
9

of
ing All the numbers are two digjy Nuryy ™,
rangem.ent;e(c n 31 award 93 blng sy

Input .5093 en 31 award blind 57
su:p;l . 93 awardscreen 31 blnd 57 %is
Step Il - award 67 screen 31 byp, lfoopls

Step I : 93 ard 57 blind screen 3, !
Step[V: o0 ward. 57 bind 31 serven P
SleV : a ’ %19

93
. g3 award 57 reen 1q
StcPA“I':& sgtep VI is the last step of the req, lrm'

an
as the desired arrangement is obtaineq, Gt:u.,l
As per rules followed in the above steps, fing n
each of the questions the appropriate Step (o lt

given input.
Input : vital 54 cards 72 help 24 wallgg lamy

29. How many steps would be required to complete y,
rearrangement 7
(3) Seven

(1) Eight (2) Six
{(4) Nine (5) Cannot be determineq

30. How many elements (words/numbers) are thyy
between “lamp” and “66" as they appear | Stepyy
(1) Five (2) Six {3) Four

. (4) Seven (5) Three

31. Which step number is the following output ?
72 cards 686 help 54 lamp vital 24 wall 49
(1) Step HI (2} Step Iv (3) Step v
(4) Step V1 (5) There is no such step

32. Which word/number would be to the tmmediz
right of the fourth element from the right end
Step III ? -
(1) help (2} wall
{4) lamp (5) 54

33. In the final step “66" is related to “lamp” and "72's
related to “help” in g certain way, then “cards”

i

(3) 24

related to
{1} vital (2) 66 (3) 49
(4) wall (8) 54
34. At what Position of “wal would come from the &t
end in the Step v?
(1) Ninth (2) Eighth (3} Sixth
(4) Seventh (5) Fifth

the final step? (1) 5
(2) lam s
[{i)} ll;‘:f tl}:th () Sixth (3) Seventh (4) help (5) 66 P (3) card
28, Whichg element ::mgl:: the . tion Dlrectiong (86-42) : Study the following infor®®
Vo right of ‘famyly’ i, Step c?s";f““}’ and answer (he questions given belo¥ 0
(1) be Probationary o Exam, 31063
“ autiful  (9) 17 (3) proug A word ang n"'y cer Online ;
) 97 (5) 32 given an input Hnem}lber arrangement machin
of wo
. . ammnnme n Ch WOrds and numbers




Sven “lro\ / lar rul — weur | ___
:"%%'%Qf'% . fow";%,‘;t'?f'.f :ru input ;13 33'33:?;{,,2“;,}":‘;’“- Input : jar eight ull 31 68 73 if after 98 16 25 :’;
ne Bagu,, a0 e numbers are two digit numbers). | | SIP1 @ after jar cight tl 31 68 73 X 98 25 on 1O
'maq”'te%!q v v 4 nice 36 fend 26 help 96 bright7 kindes Step Il : after elght jar till 31 68 73 if 98 on 25 16
fp-'r’;, Chy U sl ag ake 36 fend 38 hep brign. 76 uind 66 08 Step HI : after eight If jar till 6873 98 on 37 25 16
steps"fo ) s ﬁ @;dfu‘:ﬂ help bright kind 65 76 gg | Step IV : after eight if jar on t 73 98 68 31 6
Ry Uy, Sl kg e e e o trignos Te g6 [ StepV : after elght If Jar on tll 98 73 68 31 25 1
7 u_berqrh* i ;::::} et P70 nd help friend 26 bright 36 s b 7 ot Step V is the last step of the above arrangement a8
y _Oop lg | w ! pcekind help flend bright 26 38 43 @8 76 pg the intended arrangement is obtained. find
. “‘00;, g ! gV’ 3 Step V1 18 the last step of the rearrangement As per the rules followed in the above steps. ate
q :.::g lg | L inedesired arra!;gemt;nt is obtained. ::;;nf ;ﬂ&hecgi the following questlons the approp
es followed in the above s ven input.

n trogy, l': A9 ;‘; fn::l;c questions the appmpﬂft‘;s ;&’F"df::_‘t}‘:; Input : site grid 19 53 22 call art main 35 66 ﬂ:l 3??
n , 1 gen input. 43, Which step number would be the following outp
ran oy |t 98 paint 58 lamb 38 each 78 great 18 art call flll grid site main 66 93 53 35 22 19

Bty | pet’ g rent 88 mu @2 3V
fing t ! uﬂﬂwhi ch word/number would be fifth to the left of amwv (5) None of these 0
tep £ "t %6 he sixth element from the right in the Step V? 44. What will be the position of ‘63" In Step IV

Oty ;g great (2) arrow (3) lamb {1) Second from the right end
 lan, (5) 48 (2) Eighth from the left end

4 38
P 4 ;
e | P00

b of the following represents the position of *58"
in the Step IV?

[ ( Eighth from left
(3) Ninth from left
(5 Fifth from right

(2) Third from right
{(4) Eleventh from left

ge;h;re 48, How many elements (words/numbers) are there
? ; petween “most” and “78" as they appear in the Step
N/
\ (1) Eight (2} Seven (3) Nine
(4) Five {5) Four
99, Which step number is the following output?
rent paint most arrow 58 lamb 38 each great 18 48
7868 98
:;diatc (1) There is no such step
din , (@) Step 11 (3) StepV
(4) Step VI (5) Step Il

72°1s

: Jeft

nsl-

13-

4
N

+ 40, Which element {word/number) would be at the elev-
! enth position from the right in the Step III?
£ (1) lamb (2} arrow (3) 58
(4) 38 {5) each
41. Which element (word /number) would be at the sixth
position from the left in the Step VI?

(1) 18 (2) arrow (3) great
(4) each {5} 38
42, At which of the following positions “great” would
appear from the left in the Step V?
{1) Fifth (2) Sixth {8) Fourth
(4) Second (8) Third

Directions (43-50) : Study the following informa-

lion carefully and answer the questions given below :
(851 Probationary Officer Online Exam, 28.06.2014)
When a word and number arrangement machine is
an Input line of words and numbers, it arranges
- (llowing a particular rule. The following Is an il
ton of input and rearrangement : (All the num-

are two diglt numbers).

(3) Fifth from the right end
{4) Third from the right end
(5) None of these

4B. Which of the following is fourth from the left end of
Step III ?
{1) 53 (2) grid (3) site

{4) fill (5) None of these
46. How many steps are needed to complete this ar-

rangement ?
av {2) v (3) Vi
(4) Cannoct be determined (5) None of these

47. Which of the following would be the final arrange-
ment of the above input ?
(1) art call fill grid main 93 site 66 53 3522 19
{2) art call grid fill main site 93 66 53 35 22 19
(3) art call fill grid main site 93 66 53 35 22 19
(4) art call fill grid main site 93 66 53 35 19 22
{5} None of these
48. Which of the following would be Step 11 ?
(1) art call site grid 53 main 35 66 fill 93 22 19
(2} art call site grid 53 main 35 66 fill 22 19 93
(3) art call site grid main 53 35 66 fill 93 22 19
(4) art call site grid 53 main 35 fill 66 93 22 19
(5) None of these
49. Which of the following would be second to the right
of the seventh from the right end of Step IV ?
(1) main (2} 66 (3) site
{4) grid {5) 93
80. How many eclements {words/numbers) are there
between 'flll' and ‘35’ as they appear in the Step I11 ?
(1) Seven (2) Six (3) Five
(4) Four (5) Eight
Directions (61-85) : Study the following
information carefully and answer the questions given
below :
(8BI Management Executive Exam, 19.00.2014)

\L
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1 r
—] INPUT I ewo digl \
the numbers are §Wo Aglt nupmy,,

When a word and number arrangement machine I3 gl ¢ : initiators 32 67 of 40 the compai‘ /
given an input Iine of words and numbers, it arTanges 18 96 humble Yy pf‘
them foliowing a particular rule. The following 18 an 1!: Step 1:21 initiators 32 67 of 40 the company ,, % *
fenn o o gt 0 7| S o, O

um . M : 40 company h 1
Input : ;nore vivid assure 33 65 76 from direct 94 :::: v + Initiators 40 %ﬂ‘cﬁypai; g';' ::::: El'g mu:ha.:‘::; !
. tors
st . 4 23 other . ' 94 gtepV : 96 initia rs 40 company 21 18 are l'“'\‘«
epl : assure more vivid 33 65 76 from direc Step VI : the 96 nitla &re gy, 6 gt
23 other 14 Step V1is the last step of the above anange ",
Step Il : assure direct more vivid 33 65 76 from 94 the Intended arrangement is obtained. Ty 4t°
other 23 14 As per the rules followed in the given Steps, g
Step HI ; a;lsmsadm from more vivid 65 76 94 the appropriate steps for StI(;e gi;en input. W g
other 33 23 14 . ting 16 36 and raisin
ut: en €44 ¢
Step IV : gsssl.égc g;rect from more vivid 76 94 other | th‘lrl;y gga;emandmg 72 job 65 hudrt“i[ pre
Step V : assure dlrecl4 94 76 | 86 Inwhichstepace the elements ‘95 job 16 oy,
: Sovure dire ; from more other vivid in the same order ? sie
r of element
Step V Is the Jast step of the above arrangement as (1) The given orde 8 is not foung In the
the intended arrangement is obtained step
As ' (2) Fifth (3) Fourth |
per the rules followed in the above steps, find 5) Third the
out in each of the following questions the appropriate (4) Second (5] — 191
steps for the given input. 5$7. What is the position of the ‘72" from the Hght
Input : watch guide help sky 18 54 2637 away in the fourth step ? ™ a3
5 press 76 42 85 decide (1) Fifth (2) Eighth (3) Ninth
1. :;f,hich of the following would be the Step I ? (4} Seventh  (5) Sixth
away decide watch guide help sky 54 37 | 88. Which element is fifth to the left of th,
. € ele
@ :;cassd:g:z 85 26 18 is tenth from the left end of the third st:lljegtwlm
76 42 85 37 26 16 TP Sk 84 press (1) raising  (2) parenting (3 s
(3) away decide help guide watch sky 54 press (4) 72 ) job
42 76 37 85 26 18 P 39. g"w many steps Wl‘)u be required to comple g
(4) away decide guide help w ven arrangement based on the given i 64
, atch 54 put ?
7642 85 37 26 18 sty press (1} Ten (2) Eight (3) Six
(4) Nine (5) Seven

(5) None of these
82. How many elements (wqrds/numbers] are there

60. Which element is exactly between ‘parenung' and

mﬂlehﬁmbm
pETTwr

et ?sn? gulde’ and ‘press’ s they appear in the rf:eiﬁil}?g in the second step of the given arrang,.
(1} One 2) Two (3 ' (1) 95
) Th 2) 16
8s. x:“ Four (5} None ree (4) 21 (5} 36 (8 44
ch of the following would be third to 61. Which of th third
th e following i i
(tll;e ;iagtg;; from the right end of the Step V?e right of arrangement based 01% t;:h g?ven m;:stt?smp ot
2) 76 (1) 72
{4) 42 (5) 54 (%) press very4§;45 i;dp‘j“;g“g"g Is raising children %
84. What will be the emanding 16 36 65
positi ‘sky’ (2) 72
in the Step 111 5 on of ‘sky’ from the left eng Vel'y%age:gggl 644 is 21 children raising 8
(1) Fifth @) Fourth 3) parentin 70 emanding 36 jOb 65
88. Which of the following elements (worg enth (4) parentig 5,36 demanding 65 job
would be tenth from the right end in ﬂ; /Snumbcr) 89 very gs.IOb Is demanding children raisin
{1) watch 2) sky €StepIv ? (5) and 36 21 44 65 72
(4) press {3) 54 Parenting js 79 44
tion Mmmd (86-61) : Study the followin ons (¢ g 36 65 demanding job
“ﬂifs;nd answer the questions glvcngbi;rgl{]a' ton carefyry and :-ng'n * Study the following inform
a ates PO Onltne Exam, a9 11.20; {SBI ag srcr the questions given below
Whman 12 :;mlg‘ and number al'rangemen}_ -11.201¢) en a word Soclates PO Online Exam, 30,11.201
them i a pea“or Words and numperg, 1?3 acrrahlnne Is | glven an Input lln:nd Aumber arrangement machine®
lustration of tnput andcmar “wlle. The following g an.ge{3 phem foll ga pa:?tg words and numbers, it
gement. i- Ustration of input an cular rule. The following is a0 ¥

d rearrangement.
are two digit numbers)

6!

64

6



P TN
Dah}

14 36 methodology 21 of regeqrer, g9

—~{ INPUT |-

% ¢ 98 very 62 is Directions (68-72) : Study the following information
e, n o ;;m;‘:las methodology 21 of research gp | Y 22 answer the questions gven below:
e hy h'*'nh 1’ crucial very is 62 ch 59 {SBI Management Ezecutive Exmm. 19.00.20 "
5 1 bl ]l; N o very 14 38 methodology 2] When a word and number arrangement machine
"l‘eate 3 ) et M7 clal i3 research 62 of 59 | given an fnput line of words and numbers, it arranges
e 2 Mgy o very 14 methodol them following a particular rule. The following is an flus.
ar-,-al:"‘h::h‘a, fmnﬂ 1539 96 “h 62 36 08Y 21 of crucial | tration of input and rearrangement : (All the numbers are
Bor, & resear two digit numbers).
s %Q[a: ? v 59 98 very cl':' é‘; gé crucial is method- lnpul + more vivid assure 33 65 76 from djrect94
. teb&. ; ef 010%’923 very of crucial | 14 23 other ; o4
o, vy : 21 8 methodology | Stepl : assure more vivid 33 65 76 lrom direct
°'12] vi: 21 5° 98 very of is crucial methodology | Stepll : assure direct more vivid 33 65 76 from
t r°uqq 1 is the last step of the above arrangement as | Step Il : assure direct from more vivid 65 76
foung ! s‘epmtmded arrangement has been obtained. ' other 33 23 14
111% j v per the rules followed in the given steps find out | Step IV : assure direct from more vivid 76 94 other
| sopropriate steps for the given input. 65 33 23 14 o
e , 65 workin 23tobe 13 89 managed 48 | StepV : assure dlrect from more other vivid 94 7
he . 8™ * 07 Joad 34 healthy 55 style 65 33 23 14
8ht eny element is exactly between ‘style’ and ‘be’ in Step V is the last step of the above arrangement as
nth - second in last step of the given arrangement ? the intended arrangement is obtained. find out
1) work {2) healthy (3) 23 As per the rules followed in the above steps, )
*Mep, :4] load {5) be in each of the following questions the appropriate steps
: ¢ . for the given input.
ep Whigy ¢3, What is the position of *48’ from the right end in the lnputgh:,watc%u guide help sky 18 54 26 37 away
third step ? 2) th press 76 42 85 decide
msxth  (2) seven (3} fifth 68. Which of the following would be the Step Iif ?
Mplete (4} ninth (5} eighth {1) away decide watch guide help sky 54 37
Iput » a4, Which of the following 1s fifth step of the arrange- press 76 42 85 26 18
ment based on the given input ? (2) away decide guide watch help sky 54 press
(1) 48 65 97 to managed in 23 be 13 load 76 42 85 37 26 18
" healthy style work 89 55 34 (3) away decide help guide watch sky 54 press 42
198’ ang (2) 48 work 65 style 97 in 23 be 13 load 76 37 85 26 18
arrange. healthy 89 managed 55 to 34 . (4) away decide guide help watch 54 <ky press
{3 48 65 97 work style in 23 be 13 Joad 7642 85 37 26 18
healthy managed to 89 55 34 (5) None of these
| {4) 34 48 55 65 89 97 work style in 23 be 13 | 89. How many elements (words/numbers) are there be-
ep of the load healthy managed to tween ‘guide’ and ‘press’ as they appear in the Step
{5) 89 55 34 work style in 23 be 13 load v?
dren 89 healthy managed to 48 65 97 (1) One (2) Two (3) Three
35 85. In which step are the elemepts ‘be 13 healthy in’ {4) Four (5) None
sing 8 found in the same order ? 70. Which of the following would be third to the right of
d (1) third the eigth from the right end of the Step V?
caising (3} fourth 4) 42 (5) 54 )
(4) the given order of elements is not found in any | 71. What will be the position of ‘sky’ from the left end 2
91 & step the Step 111 ?
b (5) fifth (1) Fifth (2) Fourth - {3) Sixth
orma 86, How many steps will be required to complete the {4) Eighth (5) Seventh
gy gven arrangement based on the given input ? 72. Which of the following elements (word/number)
201 (1) efght (2) ten (3} seven would be tenth from the right end in the Step IV?
e (4) nine (5) six {1} watch {2} sky (3) 54
. Which element 1s eighth to left of the element which {4) press (5) 76
an I I8 twelfth from the left end of the third last step ? Directions (73-78) : Study the following information
(1) 97 (2) 23 (3) work carefully and answer the questions given below :
{4) style 5) to (SBI Associates PO Online Exam, 20.11.2014)
/ \&_
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chine 19
When a word and number arrangement ;:":mngcs
given an input line of words and numbers, 1s an illus-
them following a particular rule. '11:.e following
tration of input and rearrangemen
(All the numbmuetmdlﬂtnumbeﬂlzom 18
Input : initiators 32 67 of 40 the company

96 humble
Stepl : 2] initiators 32 67 of 40 the company
are 96 humble 18 0 the
Stepll : company 21 initfators 32 67 of 4
96 humble 18 are &
Step I : 40 company 21 initiators 67 of the 9
humble 18 are 32 ¢ the 96
Btep IV : initfators 40 company 21 67 o
18 are 32 humble 18
StepV  : 96 initiators 40 company 21 of the
are 32 humble 67
Step VI : the 96 Inftiators 40 company 21 18 are

32 humbie 67 of t as
Step V1 Is the last step of the above arrangemen
the intended arrangement ts obtained. ¢
As per the rules followed in the given steps, find ou
the appropriate steps for the given input.
Input ; parenting 16 36 and raising 44 children 21 1s
89 very 95 demanding 72 job 65 X
73. In which step are the elements ‘95 job 16 and" found .
in the same order ?
(1) The given order of elements is not found in any

step
(2) Fifth (3) Fourth
(4) Second  (5) Third
74. What is the position of the ‘72’ from the right end in
the fourth step 7
(1) Fifth (2) Eighth (3) Ninth
(4) Seventh  (5) sixth

78. Which element is fifth to the lefi of the element which
Is tenth from the left end of the third step ?
(1} raising (2) parenting (3) 15
(4) 72 {5) job
76. How many steps will be required to complete the giv-
en arrangement based on the glven Input ?
(1} Ten {2) Eight (3) Six
(4) Nine (5) Seven
77. Which element is exactly between ‘Parentin
‘raising’ in the second step of the given arrangegeﬁl: g
(1) 95 @) 16 (3) 44
(4) 21 (5) 36
78. %lchofﬂlefollomngistheﬂurdlast :
l'angementbaacdonﬂlegivenmput? 4P of the ar

) : Study the l‘o@

Directions the questions given e, "ot
word and number arvanger,, %4
gven an inp a cular rule. The fo g

ollawll‘lgt and rearrangement,

B,
‘a 3
them f g
(Al the ;::“m03:..nznethodd"’g‘r 21 of ":ae.) .
Ioput  * ucial 98 very 62 Is My
14 36 methodology 2] of
I : 98 l‘esea,.dl
step very Is 62 %
crucial very
. 98 very 14 36 methodology 21
stepHl : o ctal is research 62 "
. 59 98 very 14 methodology 21 of
Stop I ¢ is research 62 36 §
. of 14 21 crucia] is
Step IV : ;‘5;923:?;1, 62 36 Methog,
. 59 98 very of crucial ig
stepV felsearch 62 36 14 mEtlmd%
Step VI : 21 59 98 very of is crucial meth.;duIQB
P research 62 36 14
the last step of the above arrangemen
e wrmngement s b el
As per the rules followed in the given steps fing o
the appropriate steps for the given input.
load 34 healthy 55 style
79. Which element is exactly between ‘style’ ang by
second in last step of the given arrangemen;
{1) worl (2) healthy (3) 23
(4) load (5) be
80. What is the position of ‘48’ from the right end in
~ third step ?
(1) sixth (2) seventh (3} fifth
(4) ninth (5) eighth
81. Which of the following is fifth step of the arrang
ment based on the given input ?
(1) 48 65 97 to ed In 23 be 13 |u
healthy style work 89 55 34
(2) 48 work 65 style 97 in 23 be 13 kel
healthy g9 managed 55 to 34
) 48 65 97 work style in 23 be 13 I
healthy Managed to 89 55 34
(4) 34 48 55 65 gg g7 work style in 23 be I
load healthy Mmanaged to
(5) 89 55 34 work style in 23 be 13 k
}'temanaged to 48 65 97 i
P are the elements ‘be 13 heal
found in the Same order 7

(3) fourth

(4) the given order of elements is not found i1 ¥
step

(5) fifth
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- - steps wiil be required to complet,
W, HQWM pPlete the

0, °r| ent based on the given input ?
g, ' Fgen @) ten (3) seven

l'lqc ) eigh(

. 6;220 4 [ll (5] abx

4
s ) ent Is eighth to left of the element hl
a) u;g"a which ele:.“ vom the left end of the third last st;:; ?Ch

18 (2) 23 (3) work
.'arc | [” 97
] e B2
o, ! GRADE'A OFFICER EXAMS
: | as (1-6) : A word and number arran
%Q,al : pn;o;z"m giveh an Input line of words ange;e;:f
!th%!- i gachi? es them following a particular rule in each

per The following is an fllustration of input and rear-

3d010&. /::gement-

%h&' i . put 32 71 glory fair south 65 84
‘ ”n: . south but 32 71 glory fair 65 84

aalhe | SeP : south 84 but 32 71 glory fair 65

. south 84 glory but 32 71 fair 65

. south 84 glory 71 but 32 fair 65

. south 84 glory 71 fair but 32 65

siepVl south 84 glory 71 fair 85 but 32

and Step V1 is the last step of the rearrangement,
{  as per the rules followed In the above steps, find
" .t tn each of the following questions the appropriate

ep {or the given input.
1, Step 1l of an input is : .
year 92 ultra 15 23 strive house 39 ’
How many more steps will be required to complete
the rearrangement ?
(1) Three (2) Four
g {4} Five (5) None of these
af | 2Input : any how 49 24 far wide 34 69
Which of the following steps will be the last but one ?
d v {2) VI 3V
(4 viII (5) None of these
4 3 StepHof an input is :
town 74 pair 15 31 nice job 42
Which of the following is definitely the input ?
(1) pair 15 31 town nice job 42 74
(%) pair 15 town 31 74 nice job 42
{3) pair 15 town 74 31 nice job 42
(4) Cannot be determined
(5) None of these
4 Input ; Play over 49 37 12 match now 81
Which of the following will be step IV ?
(l play 81 over 49 37 match now
g; Play 8 over 49 37 12 match now
™ ’!;Lay 81 over 49 now 37 match 12
5] Noe"e will be no such step
ne of these

(RBI Grade-B Officer Exam. 12.10.2009)

| the

(3) Two

B. Step Il of an input is :
war 58 box cart 33 49 star 24
Which of the following steps will be the 1ast ?
mv 2 Vi 31
{4) vi1 (5) None of these
8. Input ; shower fall water 34 51 67 98 goal
How many steps will be required to complete the

rearrangement ?
(1) Three (2} Four (3) Six
{(4) Five (5} None of these

Directions (7-11) : Study the following tnforma-

tion to answer the given questions:
(!f:; Gr:lde-n Officer Exam. 11.10.2009)

A word and number arrangement machine when
given an input line of words and numbers rearrange:
them following a particular rule. The following Is an i
lustration of Input and rearrangement. (Single digit num-
bers are preceded by a zero. All other numbers are two
digit numbers)
; good 18 to raise 02 12 money 28 for 57 charity 09.

Input

StepI : to good 18 raise 02 12 money 28 for charity 09 57.
Step Il : to raise good 18 02 12 money for charity 09 28 57.
Step 11l : to raise money good 02 12 for charity 09 18 28 57.
Step IV : to raise money good 02 for charity 09 12 18 28 57
StepV : to ralse money good for charity 02 09 12 18 28 57.
Setep V  1s the last Step of the arrangement of the above input

as the intended arrangement is obtatned.
Directions (7-8) : These questions are based on
the following input:
Input : always 19 give 21 84 for 62 14 worthy cause.
7. Which of the following would be step Hil for the
above input?
(1) worthy give for always 19 14 cause 84 62 21.
(2} worthy give for always 14 19 cause 21 62 84.
(3) always give for worthy 19 14 cause 21 62 84.
{4} worthy give for always 19 14 cause 21 62 84.
() always give for cause 19 14 worthy 21 62 84.
8. How many steps would be needed to complete
the arrangement for the above input?
mvi 2 v
(3) v (4) vl (5} None of these
Directions (9-11) : These questions are based
on the following input: .
Input : 50 62 tips on 67 how can 42 stay young
17 89 forever 03. -
8. The following stands for which step of the arrange-
ment? young tips stay 50 on how can 42 17 for-

ever 03 62 67 89.
(1) Step Il (2) StepV  {3) Step VI
(4) Step IV (5) None of these

10. Which of the words/numbers below would be at
the fifth position (from the right end) in Step V of

the Input?
(1) forever  (2) 42 (3) 50
(4) young (5]} None of these
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tep for
11, Which of the following would be the last 8
the input? _ 03
(1) young tips stay on how forever can
50 62 67 89, 67 62
{2) young tips stay on how forever can 89
5042 17 03. 67 62
(3) can forever how on stay tips forever 89
50 42 17 03.
- 17 42
(4) young tips stay on how forever can 03
50 67 62 89,
42
(5) can forever how on atay tips young 03 17
50 62 67 89. forma-
Directions (12-16) : Study the following i
ton carefully and answer the given questions : -
(RBI Grade-B Officer’'s Exam. 18.13.20

17 42

A word and number arrangement machine when.

given an input line of words and numbers rearranges
them following a particular rule in each step. The follow-
Ing Is an illustratton of input and rearrangement. {All
the numbers are two digits numbers.}
Input : gate 20 86 just not 71 for 67 38 bake sun 55
Stepl : bake gate 20 just not 71 for 67 38 sun 55 86
Stepll : for bake gate 20 Justnot 67 38sun 55 86 71
Step Il : gate for bake 20 Just not 38 sun55867! 67
Step IV : just gate for bake 20 not 38 sun 86 71 67 55
StepV : not just gate for bake 20 sun 868 71 67 65 38
StepV1 : eunnot Just gate for bake 86 71 67 56 38 20
and Step VI is the last step of the above input as the
desired arrangement 1s reached,

As per the rules followed in the above steps, find out
in each of the following questions the appropriate step
for the given input.

Input : 31 rise gem 18 92 47 aim big 28 does 56 not
85 63 with moon
13. How many steps will be required to complete the
rearrangement ?

(1) Eight (2) Six

(4) Five {6} None of these
13.Which word /number would be at 7th position from

the left in Step IV 9

{1) rise (2} aim

(4) 15 (5) 47
14. Which step number is the following output 2

rise not moon gem does big aim 15 with g2 8563

(3} Seven

(3) big

56 47 31 25
()StepV  (2) Step vy
(3) Step Iv (4) Step v

{5) There ts no such step

18. Which of the fol!owing repres
92" in the Vith atep? PreAsnis the Position of

(1) Ninth from the left
(3} Fifth feom the right
(3) Sixth from (he right
(4) Ninth from e rign;
(8) Seventh from the left

L
__{mPUTI"_

(1) pays
B

”

/number would be am
wo! bry

et 2 63 @sg

: the fof)
(17-33) Study OWing
and answer the questions gy, ¢ bl:';\

tion wd:gx officer Grade ‘B’ Online Egyy, LT g
. and number arrangement m‘%’”\ i
input line of words and numbey, Yy
ghven o ving a pasticular rule in each step Ty ¢
them foll \ltustation of input and various g of n
ing is an t. (All the numbers are two djglt numb&:‘l.
rangcmeﬂ] ynmore vacation35 56 92 m%h%' s
Ioput © P sss 61 12 Y
. g2 plan more vacation 35 56 nige touy $
Step "g1 12 holiday ton 35 56 _
lan vacation Nice E
stepll 192 B4, iday "y

which
18 N the

(1) gem

(4) 85

A word

Step 11 : 92 84 61 planvacationds gg twm g
‘p mccmol'cnouday t
StepvV:92 84 61 56 vacation3s toyy, 2y,
P picemorehotiday
StepV :92 84 61 56  35vacationia y,
p 'plann.l ce more holiday
StepVvi:92 84 61 56 3§ 12vacationtyy,

plannice more holiday ]
And Step VI is the last step of the re
as the desired arrangement is obtaineq,
As per rules followed in the above steps, find oy
each of the questions the appropriate etep frg

given input.
Input: hardwork pays 88 42 in 7 by
un 18 2 67

17. Which step number is the following output?
96 79 57 42 work run 18 25 pays long in hary
(1) Step I (2) Step III (3) Step1v
(4) Step V (5} There s no such step

18. How many elements (words/numbera) are then
between “work® and “In” ag they appear in Stepmy
(1) six (2) Five {3) Seven
(4) Four (5) Three

19. Which of the following represents the positions d
‘Pays’ in the Step 11?7
(1) Seventh from right
(8) Eighth from righg
(5) Fifth from Jeft

20. Which word/number woulqd be at the seventh post

{2) Sixth from lef
(4) Fourth from let

tion from the right in the Setp Iv?
(1) work 2) run (3) long
4) 18 (5) 25

o t‘fh’ “h word/number woylq be at the ninth p¥
on from the Jen in the Step v?

(1) long
2 (928 {:} o () paye
3, Which word /number would be third to the I

element from the right In the Step I
(3) run



Qtu‘euu)

( 3) 5 h\[ /
q (28-27) : Study the following inf, .
" u"ﬂ D‘”:I‘I;o:;d answer the questiong givengbel:\:n: :
. Vg or c’ﬂ({t’l officer Grade B’ Phase-l Ezam, 03.08.2014)
Blve,, b!"fo rd and number arrangement mgchyne when
L2, gy Sl ¥ nput line of words and numbers rearranges
t Machy, &, fiowing 2 particular rule in each step, The follow-
ber, h"le iolq fom fo \lustration of input and varioys steps of rear.
Stap, oy 'vhw " ::nt- (all the numbers are two digi¢ numbers),
S Ste, oyl @8 15 gea 25 57 41 rose giraffe 85 ot 32 lost 77
g O, * g * g9 beard cost palm
Rice bﬁr,f"-‘ - . 10 beard 25 57 41 rose giraffe 85 pot 32 lost
hoh%- / sep?? 2o cost palm sea 99
Dicy . 1025 beard cost 57 41 giraffe hot 32 1ogt
y tOuna'an' palm rose sea 85 99 7
ce o - : 1025 32 beard cost giraffe 57 41 ot ) palm
t°'~lr,el suep O rose sea 77 85 99 ost
t

: 10 25 32 41 beard cost

) : giraffe hot |
Ny, eV sea 57 77 85 99 ost palm
Ury ’ IV is the last step of th
] d Step P O e rearrangement
: * oy s the desired arrangement is obtained. "
2 touny as per rules followed in the above steps, find out i,
: each of the questions the appropriate step for the
Hon, glven Input.
pot : 31 11 win arm blanket zebra 24 g3 chip team
Tang BFE" olip 62 55 dawn 91 78 :
' 48, Which of the following represents the position of
fing Outy, “slip” in the Step IN?
teD for the (1) Ninth from right  (2) Eighth from left
(3) Eighth from right (4) Seventh from left
long (5} Sixth from left
24, How many elements (words/numbers) are there
i between “dawn” and “81” as they appear in- Step
v {1) Five (2) Six (3) Seven
{4} Four (5) Eight
'€ the 25, Which element (word/number} would be at the ninth
Step iy position from the left in the Step II?
(1) 62 (2} slip (3) 55
{4) team (5} dawn

lonso  26.At which of the following position “dawn” would

—~1 INPUT —

Step!  : 19 bear 24 binders brave 17 but 68 baller 35
74 be

Stepll : 47 19 bear 24 binders brave 17 68 baller 35
be but

StepIll : 86 47 19 24 binders brave 17 batler 35 be
but bear

StepIV : 53 88 47 10 24 binders 17 baller be but bear
brave

StepV : 42 53 86 47 19 binders 17 be but bear brave
bailer

Step VI : 71 42 53 86 47 19 be but bear brave bailer
binders

Step VI is the last step of the above arrangement as
the intended arrangement is obtained.

As per the rules followed in the givetn steps, find out
the appropriate steps for the given input.

Input: tyre 71 toughen 59 tip 82 13 thanks to 68
table 46 4
28. If in the last step, ‘1" is added to each of the od

numbers and '2’ is subtracted from each of the ew.zrt

numbers, then how many numbers multiple of ‘4

will be formed?
(1} Two (2) Three {3) More than three
{4} None (6} One

29. If in step 111, '28' interchanges its position with ‘ta-.
ble' and 59’ also interchanges its position with ‘tip

then which of element will be to the immediate left

of '46'7 .
(1) ‘28" 2) “to’ (3) ‘table
(4) ‘tip’ (5) ‘59"

« Which of the following combinations represents the
third and the ninth element in second last step of
the given input from the left end?

(1) '95’ and ‘tip’ {2) ‘table’ and ‘8¢’
(3} ‘17" and ‘to' (4) ‘86" and ‘tip’
(5) ‘tyre’ and '17"

31. Which element comes exactly between ‘59’ and

‘thanks’ in Step II of the given input?

(1) toughen (2) 46 (3) 13

(4) table (5) 68

Which element is third to the right of the one which
Is eighth from the right end in Step IV?

appear from the right in the Step I1? . (113 2) tp (3) thanks
ft (1} Tenth (2) Ninth (3) Seventh @) to (5) 46
eft {4) Fifth (5) Eighth Directions (33-34) : Study the following information
37, Which word/number would be third to the left of | carefully and answer the que?tl.ona given below:
post the sixth element from the right in the Step HI? (NABARD Officer Grade ‘A’ Onling Exam. 01.03.2018)
(1) dawn 2) 55 (3) chip When a word and number arrangement machine is
4) sl 5) 62 _ given an input line of words and numbers, it arranges
sip (5) them following a particular rule. The following is an fllus-
Directlons (28 - 32) : Study the following Informa- tration of input and rearrangement:
ot Lo carefully and answer the questions given below : (All the numbers are two-digit numbers)
(RS! Officer Grade ‘B’ Phase.I Exam. 21.11.20165) Input : 32 prevent 46 a 62 mishap 54 by carefulness
When a word and number arrangement machine s 93 _
f""“ an input line of words and numbers, it arranges Stepl : 93 32 46 a 62 mishap 54 by carefulness pre-
o Ihem following, a particular rule. The following is an il- vent
' "8trallon of input and rearrangement : Step II : 62 93 32 46 a 54 by carefulness prévent mis-
e the numbers are two digit numbers). hap
"t > bear 24 binders brave 91 17 but 68 baller 35 Step Il : 54 62 93 32 46 a by prevent mishap careful-
be 74 ' ness
' ———
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] INPUT ch of the following 1s the Iaam e
StepIV: 3 54 62 93 52 a proven - InP“; . ‘Zé 542, 473, 735, 367, 54¢
carefuln 1) 234, 45 735, 473, 367, 54
: 32 46 54 62 93 prevent mishap { 2, 542, 735, 473, 367, 549 .
Step V gya P t 88 (2 234, :’:2 542, 473, 367, 735, 549 11
Step V is the Jast step of the abovcmmper’ge”me‘e rulesl (3) 234. 442: 542, 735, 367, 473, 549
the intended arrangement 1’1.;1 fm'appmpﬂate steps (4 234’” ne (6-13) : Study the followhg
followed in the given steps, the questions given : 3.
for the given tnput. 54 all 83 answer 3

Input : regular 46 exercise 31 29 must for

21 now
33. Which clement is seventh to left of the element which

is eleventh from the left end of the last step ?

(1) 83 (2) 54 (3) all
34, mm:mﬁam'srmdwmﬂmd
W55 e o st
(4) 91 (5} regular
(__ INSURANCE EXAMS |

Directions (1-8) : A number arrangement machine,
when given a particular input, rearranges it following a
particular rule. The following is the illustration of the
input and the stages of arrangement :

(Oriental Insurance AO Exam. 09.05.2010)
Input : 245, 316, 436, 519, 868, 710, 689
Stepl : 710, 3186, 436, 519, 868, 245, 689
Step Il : 710, 316, 245, 519, 868, 436, 689
Step IIf : 710, 316, 245, 436, 868, 519, 689
Step IV : 710, 316, 245, 436, 519, 868, 689
Step IV is the last step of input.

1. If 655, 436,764, 799, 977, 572, 333 1s the input
which of the foll sieps will be ‘333, 436, 572,
655, 977, 764, 799" ?

(nn (2) m
(3) v (4} 1
2. How many steps will be required to get the final
output from the following input ?
Input : 544, 653, 325, 688, 481, 231, 857
(15 2) 4
(33 (4) 6
3. For the given in ut, which of the foll
third step ? P oving wil be
Input : 236, 522, 824, 765, 622, 463, 358
(1) 522, 238, 765, 824, 622, 463, 358

tion and (United India Insurance AO Exap, ,,

a word arrangement machine g5 gh,::“

When es them foll
f:lt “fll‘li: l;':;;?owingrds' . m igllustration ;\\;lnn[;gu? l;’a‘:?;t 33
c. .
mngeme'n;;w after seen craft preach help
Inl?mtl : grow seen craft preach help after o
gtt::: n grow seen preach help after craft e
Step 11l : seen preach help after craft grow s
Step IV: seen preach after craft grow help the
StepV : seen after craft grow help preach
Step VI : after craft grow help preach seen Inf
f the abave st
Step V1is the last step o ,
the intended arrangement is obtaineq, st
As per the rules followed in the above Steps, g ste
out In each of the following questions the approgy
" ate steps for the given input. )
: in
(6-9): -

Input : dare a beach null wrap steel]

6. How many steps will be required to reach they,
tended arrangement for the given input ?

mv ) vir - (@) vr
@ (5) None of these
. 7. Which one of the following will be step 1T for t
glven input?
(1) dare null wrap steel beach
(2} dare null wrap steel a beach
(3) dare null steel wrap a beach
(4) a beach dare null wrap stee]
(5} None of these

8. Which of the following will be second from the It 18,

14.

a
: lul

end of step v ?
(1) beach (2) steel 3) a
(4) wrap (5} None of these

8- Which of the following wiy be fourth from the righ

(2) 522, 622, 236, 824, 765, 463, 355 end of step 11t
(‘;"; 522 oz, 236, 765, 824, 463, a5 (‘;)’ " 2 a (Y beach 1y,
» D64 296, 468, 824, 765, 358 (5) None of these
4. If following 19 the second step for ap i Directions (10-13) : Fopy of an b
wil be the fourth step " 1Pt what | put. Rearcapge them and answer tr .o b,
. e questions :
Sl &0, 415 Jus. 537. 767, 634, 077 () ety -8 India inwurance AQ Exam. 27.05%0
' * : ' 4} 787u 977 ¢ Oﬁer la'
g)’ ggg’ : 2 344, 634, 537, 787 g (B) arrange blu:rll;latl:zg;z:leokﬂj‘:'
» 415, 344, 634, 757 ’ (c
(4) Cannot be 4 87, 537, 977 ) kite metal offe, arrange blye
etermined (D) offer
() kit arrange blue kite metal
€ metal hlye 4 fer arrange
m- EEEmAAES A B




following is step ITII ?
Ty, 2} B
]l" ”] A (5} E

(1D, of the following 18 first from the right end o

of the

# qep 17 (2) kite (3) metal
. il . {5) None of these
: uu%h @ bcl;: "¢ the following 1s step V?
- whi 2)B
VA (5) E

Wy ow
| wh

. (3 ¢

r:? ‘301 D
o of the following is step [V ¢
ary, i - (2} B 3c
ng ’::af (1!3 (5) E
] @ (14-18) : A letter/letter combination
i ent machine when given an input of letters/
i yra6° | nbinations rearranges them following a partic-
rkncfnfl"c in each step. The following is an tustration of
j] e put and the steps of rearrangement. o
f peit (oriental Insurance Company Ezam.08.04.2012)
; . Going but for crept te light sir
! Inp"“ Crept going but for te light sir
tent f & I cm{t‘g‘-"‘“g light but for te sir
3 ? cepll: Crept going light but for sir te
> fing ¢ tep 1N 18 the last step for this input.) ..
; the rules followed in the above steps, find out
_! the glven questions the appropriate step for the given

gt
W, Input: the in car as he may me

which of the following will be the third step for this

input? -
(1} car the in as he may me

(2) car may the-as in he me .
(3) car as may he the in me CN
{4) car may the in as he me :

18, Ifthe second step of an input is ‘clever remand win-
dow sales batch tiger never’ which of the following
steps would be last-step of that input ? ‘
(v 2 v
@vi {4) VI

16. Ifthe input is ‘true se veto be nuke my like," which
of the following will be the IV step ?
{1) veto true nuke like se be my
[2) be my se like true veto nuke
() like nuke true veto be se my
(4) be my like se true veto nuke
7. Input : ‘more fights cats cough sough acts idea’.
Which of the following steps would be the last step

f

for this tnput 2
v @ v
I 1[3’:1 (4) VI
" how many steps the following input be fully ar-
rngedy g inp
Input .

amis goes to the bar after dinner everyday

Directions (16-23) : Study the following informa-

ton carefully and answer the given questions :
(Usited India Insurance AD Exam. 26.08.2013)

A word and number arrangement machine when
given an input line of words and numbers rearranges
them following a particular rule in each step. The follow-
Ing s an fllustration of input and rearrangement.
the numbers are two digit numbers).

Input: tent 13 wheat 21 ask 63 steal 49 hand 54 vast 85

StepI: 85 wheat tent 13 21 ask 63 steal 49 hand 54 vast
StepIl: 63 vast 85 wheat tent 13 21 ask steal 49 hand 54
Step Il : 54 tent 63 vast 85 wheat 13 21 ask steal 49 hand
Step IV: 49 steal 54 tent 63 vast 85 wheat 13 21 ask hand
Step V: 21 hand 49 stcal 54 tent 63 vast 85 wheat 13 ask
Step VI: 13 ask 21 hand 49 steal 54 tent 63 vast 85 wheat

and Step VI is the last step of the above input, a8
the desired arrangement is obtained.

As'per the rules followed in the above steps, find
out in each of the following questions the appropriate
step for the given input.

Input : store 95 clean 56 tape 15 break 28 feet 35
walt 69 jce 71

19. Which step number is the following output?
35 feet 56 ice 69 store 71 tape 95 wait clean 15

break 28 :
(1) Step V. (2) Step 111
(3} Step V1 (4) Step IV,

(5) There is no such step
20, Which word/number would be at sixth position from

the right in Step [V ?
(1) 15 (2} wait {3) clean
. (4) 95 (5) 28

21. How many elements (words/numers) are there be-
tween ‘feet’ and *15° as they appear in the second

+ last step of the output ?
(1) Six (2) Seven (3) Five
(4) Eight (5) Nine

22. Which of the following represents the position of
‘walt’ in the third Step ?
(1) Ninth from the left
(2) Sixth from the left
(3) Eighth from the right
(4) Seventh from the right
{5} Tenth from the right :
238. Which word/number would be at seventh position
from the left in the Step VI ? '
(1) ice (2) store
(4) 71 (5) 69
Directions (24-29) : Study the following informa-
tion carefully and answer the questions given below :
When a number and number arrangement machine is
given an input line of words and numbers, it arranges
them following a particular rule. The following is an #i-
lustration of input and rearrangement.
(NIACL Administrative Officer
(AO) Exam, 10.01.2018B)

(3) tape

(2) Fouy
{2) Five
9 six - .{4) Seven
S— —
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—§ INPUT — I N

(3) 84 i
umbers) th density and concept
(ANl the numbers are W‘;g'ﬂ}‘:‘w 60 12 with :;; .?hom is no element ,
Input : 3624 maintain What is the position of ‘weight’ from the lefy
other 88 cAre tain 87 safe distance 60with | 37. What (s (10 BCop o, TNy
Stepl : cars {2) Fourth in
maintain 87 safe 4) Seventh
Step I : 24 cars 36 na 4) hmhstel:’oﬂhcgh,,cnax'r'.@u'lgememm.eule
o 98 12 distzfl;l cars 87 safe 60 with other 98 28. ::e:ts ‘to 49 74 understood’ found in the “m::‘
* mallmtanl 36 _ d ? .
tance 36 other 4) Fifth g
StepV : safe 60 ?;hmtag 24 cars with 98 12 dis- :5] The given order of elements is not foundh
tance 36 other ste
Btep VI : 98 safe 60 maintaln 24 cars 12 distance 36 20 wmchpofmeroumvj?ngisﬂleﬂﬂrdlaatstep% ¢
other 87 with " siven arrangement ) f
s:epWisthelastatepofot;lcabovearrangementas g;rmsemnwpt“ﬁdwe'ghms““‘”ﬂﬂw A
intended arrangement is obtained, ' 49 density
the As per the rules followed in the given steps, find out 2) tI: dt:;sity concept be and weight 93 g4 Unde,
the appropriate steps for the given input. ( ood 14 34 49 56 74 )
. 84 concept to st
Input : weight 34 93 and 14 density | (3} 14 34 49 56 74 weight gammdemmdh
24. Which element is seventh to the right of density concept be and 14 34 49 5674
ment which is cleventh from the l;ght end of the @ ;';03 84 understood b
f th: ement
4) 56 (5) density y 30-34) : owin
25. {Vhat is the position of ‘concept’ from the right end Directions ( ) ?;;udy l‘-hetifou S o
of the second last step of the given arrangement ? | tion carefully and answer the questions given belg,.
{1) Eighth (2) Eleventh  (3) Ninth When a numbe;'in andfmml:lg:f aarangement ::achlne is
' given an input line of wo and numbers,
26. (4) Seventh , lsllsz:r: enth between ‘93’ and ‘to’ | them following a particular rule. The following is any
in the: fourth step of the g!v,en: arrangement ? lustration of input and rearrangement.
(1) Both density and 84 ' (NIACL Administrative Officer mlo‘;::;
(2) density P
(Aﬂthcnumbcmarctwodisﬁnumbe{-s]
Input : talk 48 13 rose and 99 76. 32 west jug height 28 56 bang
Stepl : 13 talk 48 rose 99 76 32 west jug height 28 ~ 56 bang and
Stepll : 28 13 talk 48 rose 99 76 32 west jug height 56 and bang
Steplll : 32 28 13 talk 48 rose 99 76 west jug 56 and Dbang height
StepIV : 48 32 28 13 talk rose 99 76 west 56 and bang height jug
StepV : 56 48 32 28 13 talk 99 76 west  and bang height jug rose
StepVl : 76 56 48 32 28 13 99 west and bang height jug  rose tatk

StepVIl: 99 76 56 48 32 28 13 and bang height jug rose talk west
Step VII is the last step of the above arrangement as the intended arrangement is obtained.
As per the rules followed in the given steps, find out the appropriate steps for the given input.

Input _: 84 why sit 14 32 not best ink feet 51 27 ' vain 68 92

30. Which element (s) is/are exactly betwee ' ok

‘51" in the Step II] 7  between ‘why’ and 3) sali 32 27 14 68 sit why feet not 84 92 best Ink
ath ‘not’ and ‘van’

f(sj) Both ‘sit’ and 'not’ (4 pot o “ gi 3227 14 vain sit why 92 68 feet best not i
5) There ta no element

31. Which of the fo (5) 51 32 27 14 84 why sit vain 68 92 best feet 15

gement 7 UOMnglstheStepWoftheglven not Y

- (1) 51 82 27 14 32. What is the positi ‘ink’ eft of Dest '
" vain 8it why 84 feet 68 92 best not ink the Step Iy ? postion of ink’ to the |

(2) 68 51 32 o (1) Fifth
84 7 14 sitwhy vain 92 not eet bestink | (o Thirdeen o o) TOUTtH (3) Sixth




element is sixth to the left of the
which ¢ from the left in the Step v 2 thirteenth

' s jemen
s gl O
2 Wl
i, 3& I‘:’ which step of the Ef"e“ arrangement ape elements
34 47 14 why vain best” appear in the same order 7
o, Rl B, @mm
%e% ) Third {5) Second
®or ons (35-39) : Study the foll, informa-
d Carefully and answer the questions given below :
ion (NIACL Administrative Officer
d gy (A0) Online Exam, 12.01.2018)
Ry word and number arrangement machine when
3 of pan mput line of words and number l'ea.l'ranges them
t, owing 3 particular rule. The following is an fllugtra.
f% . o{output and rearrangement.
| upllt :52peak913nowrreeze46cold15hlgh31 73
g, | " trek ..
~ .
, | : 1552 peak snow freeze 46 cold hj 3173
04 " ‘o siep trek 91 gh
stepll 15 31 52 peak snow freeze 46 cold high trek
Cighy 7391
siep M1 ¢ 15 31 46 peak snow freeze cold high trek 52
7391
Iv : 15 31 46 cold peak snow freeze high trek 52
w P 7391 &
.“'hi siep V : 15 31 46 cold freeze peak snow high trek 52
' 7391
i‘ Step VI : 15 31 46 cold freeze high peak snow trek 52
73 91

Step V1 is the last step of the rearrangement. As per
the rules followed in the above steps, find out in each
of the following questions the appropriate steps for
the given Input.-Input for the questions.

input : 67 hot sun 19 best 83 ice 49 ace 77 cut 37,'_’

35, How many steps would be needed to complete the®|

rearrangement ? ‘
X 2y v (3) IX
(@ v (5) ‘None of these

36, Which step-numbér would be the following output ?
19 37 49 ace best hot sun ice cut 67 77 83
n (2} VI BV
4 (5) None of these
37. Which of the following would be the Step 1 ?

(1) 19 37 49 hot stn best ice ace cut 67 77 83

(2) 83 67 hot sun best ice 49 ace 77 cut 37 19

(3) 19 67 ace best hot sun ice 49 77 cut 37 83

{4) 19 67 hot sun best ice 49 ace 77 cut 37 83

(5) None of these

38 Which of the following would be the final arrange-
ment ?

(1) 67 77 83 ace best cut hot ice sun 19 37 49
(2) 19 37 49 ace best cut hot ice sun 67 77 83
()19 37 49 67 77 83 ace best cut hot fce sun

) 19 37 49 ace ice best cut hot sun 67 77 83
(5) None of these ’ :

39.In Step IV, which of the following word/number
would be on 7th position from the right ?
(1) sun {2) best 3) 67
(4) cut (5) None of these
Directions (40 ~ 44) : Study the following informa-
tion carefully and answer the questions given below :
(LIC Assistant Administrative Officer
(AAD) Online Exam. 22.03.2018)
When a word and number arrangement machine 18
given an input line of words and numbers, it arranges
them following a particular rule. The following is an illus-
tration of input and rearrangement.
{All the numbers are two-digit numbers)

Input : 24 method 87 67 of data 34 collection 48
12 specified now

Step1 : 12 method 87 67 of data 34 collection 45 spec-
ified now 24

StepIl : 34 12 method 87 67 of data collection speci-
fled now 24 45

Step Il : 67 34 12 method of data collection specified
now 24 45 87

Step IV : collection 67 34 12 method of specified now
24 45 87 data

StepV : method collection 67 34 12 of specified 24 45
87 data now

Step V1 : of method collection 67 34 12 24 45 87 data
now specified

Step VI is the last step of the above arrangement as the
intended arrangement is obtained.
As per the rules followed in the given steps. find out
the appropriate steps for the given input.

‘Input : chemical 88 11 reaction 87 is 21 hard to 53

92 detect
. 40. In which step are the elements ‘to 92 detect 21’ found
in the same order?
(1) Sixth (2) Second
(3) The given order of elements is not found in any
step.
(4) Third (5) Fifth
41. What is the position of ‘21’ from the right end in the
last step?
(1) Tenth (2} Eighth
(4) Fourth {5) Sixth
42, In which step are the elements ‘87 53 11 reaction’
found in the same order?
(1) Sixth {2} Fifth
{(4) Fourth and Fifth
(5) None of these
43. Which element is fifth to the left of the element which
is ninth from the left end of the fourth step?
(111 (2) 87 (3} 53
(4) reaction (5) chemical
44. Which element is exactly between ‘chemical’ and ‘87
in the second step of the given arrangement?
(1) 53 (2) hard (3) reaction
(4)is (5) 68

(3} Fiith

{3) Fourth
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LY INROY |-

INS
= 2. (1) 8. (3) 4. (2)
1. E16 1) 7. (2) 5. (3
CTio.m_| 1@ |ia g
s ‘:} 14, (2 15. (1) 16. 3
P L8 0)_| 19°M | 20.(3
17 ) "22. (2) 23. (5) 24. (5)
2 = 28. (3) 27. (4) 28. (2
2 %0 @ 3L.(5) |92 ()
7. N 35. 4) | se. i3
’7" m |32 | 3.0 |40
e 42. (4) 43. (1) 44. (3)
E EXPLANATIONS ==
NATIONALISED BANKS &
BPS PO/MT/SO EXAMS

(1-4 ) : After careful analysis of the given input and
e we may conclude that in the first step the first
qor 18 Jeft intact and one word from the last is placed in
e SAME order from the left alternately. In the second
depthe 1ast word is placed at the first position and then
e first word. s placed and then second last word is
ghced followed by second word. These two steps are re-
ted alternately to generate the passcodes for the sub-

fnput :
'Yy 2 3 4 5 6 7

/ you should know about type of questions

puss code for Batch 1 (10.00 am to 11.00 am)
1] 7 2 6 3 5 4

you questions should of know type about

Pass code for Batch II (11.00 am to 12.00 noon)
41 5 7 3 2 6

| about you type questions know should of

{' Puss code for Batch III (11.00 am to 12.00 noon)

| 461 2 5 3 7

| out of you should type know questions

~ Passcode for Batch IV (1.00 pm to 2.00 pm)

74 3 6 5 1 2 -

estions about know of type you should

200 pm to 3,00 pm-Rest
*usscode for Bateh V (3.00 pm to 4.00 pm)
2 41 35 86

Westons stioutd about you know type of

— for Batch VI (4.00 pm to 5.00 pm)
5 70118 type should know about you

3 2 3 4 1

\

1.{4) The batch at 3.00 pm is V
Passcode for Batch vV

7 2 4 1 3 5 6
circle friends sitting efght are in the
Z.(5) Batch at 4.00 pm is Batch VI.
sentence awarded by high court was executed.

G 7 5 2 3 4 1
At 12 noon Batch III starts. Passcode :
4 6 1 2 5 8 7

was sentence executed high by court awarded
3. {1) Pre-rest hour batch 1s IV.
Passcods for Batch IV (1.00 pm to 2.00 pm)
7 4 3 6 51 2
answersheet Infermation your the on fillup
Therefore, Input
fill up your information on the answersheet.
4.(1) Passcode for Batch VI

6 7 5 2 3 4 1
mark your answer agalnst approprjate scrial number

Input
number against appropriate serlal answer mark
our
(5-3;) : After careful analysis of the given input and
various steps of rearrangement we can conclude that in
each step one word or a number is rearranged. The words
are arranged in the reverse order of the English alpha-
bets while the numbers are arranged in ascending order
alternately.

8. (5)1t is not possible to determine the previous step.
6. (4)Input : paper common 36 51 pencil 28 test 66
Step 1 : test paper common 36 51 pencil 28 66
Step 11 : test 28 paper common 36 $1 pencil 66
Step III : test 28 pencil paper common 36 51 66

7. {2)Step II : waive 14 available time 38 46 probation 85
Step Il : waive 14 time available 38 46 probation 85
Step IV : waive 14 time 38 avallable 46 probation 85
Step V : waive 14 time 38 probation available 46 85
Step VI : waive 14 time 38 probation 46 available 85
Therefore, four more steps will be required.

8.{3)Input : 27 sports 48 television commentary 18

house 36

Stepl: television 27 sports 48 commentary 18
house 36

StepIl: television 18 27 sports 48 commentary
house 36

StepIll: television 18 sports 27 48 commentary
house 36

Step IV: television 18 sports 27 house 48 com-
mentary 36

StepV: television 18 sports 27 house 36 48 com-
mentary ‘

Step VI: television 18 sports 27 house 36 com-
mentary 48

9, (3)Step | : number game 54 23 always lacking 16 75
Step II : number 16 game 54 23 always lacking 75
Step 11l : number 16 lacking game 54 23 always 75
Step IV : number 16 lacking 23 game 54 always 75

o
{ BPRE-451




19. (4) Steplll : mine 17 lamp 86 5) 34 hon,
h d*'!

(10 - 16) : After careful analysie of the Slveh steps ) 1
and final step it Is evident that the words are arranged lg Step IV: m:n: :: l::P g: 865 o
reverse alphabetical order and the numbers are arrange Step V : min P how g¢g 8 %,
in ascending order. Step Vi: mine 17 lamp 34 howsg, 8 %,
10. (3} Input : 20 ask never 35 62 84 tall grass Step VI mine 17 lamp 34 hows, d 4,
Stepl : tall 20 ask never 35 62 84 grass 20. (2) Input : beight world 96 73 age gy Y &,
Stepll : tall 20 never ask 35 62 84 grass Step1 : world height 93 73 ageq)g D g
Steplll : tall 20 never 35 ask 62 84 grass Step II : world 51 height 96 73 a5, 51 65
StepIV : tall 20 never 35 grass ask 62 84 Step III : world 51 old height 9673 old 8
StepV : tall 20 never 35 grass 62 ask 84 Step IV : world 51 old 65 height 0g :ge B
11 (1) g;;ltcn}grm Input ; Victory 63 window 145224 + StepV :world 51 old 65 height73 92 A
: 1 old 6
Step | : Window Victory 63 14 52 24 task for step V! * ‘_"°'::r o :uie o g;’g'“ 73 ageﬁ
Step Il : Window 14 Victory 6352 24 task for 21, (B)Steplll 2 YEOF 0 ime 30 52 4 sounq -
12. (3) Steplll : yes 15 ultra 96 73 52 home rest StepIlV year 15 H ag 64 Soung hl'le
StepIV : yes 15 ultra 52 96 73 home rest StepV : year 15 time &9 sound52 g4 \
StepV : yes 15 ultra 52 rest 96 73 home StepVl : year 15 time 39 sounds2 py, B4
StepVI : yes 15 ultra 52 rest 73 96 home 22. (8)
Step VIl : yes 15 ultra 52 rest 73 home 96 Step I : victory 12 54 41 ultraset g5 | -
13. (1) Input : 49 box store 84 63 on door 37 Step Il : victory 12 ultra 54 41set 39 "
Stepl : store 49 box 84 63 on door 37 Step IV : victory 12 ultra 32 54 4] g ne
Stepll : store 37 49 box 84 63 on door Step V : victory 12 ultra 32 set54 4
StepIll : store 37 on 49 box 84 63 door Step VI : victory 12 ultra 32 setd] g4 I;ne
StepIV : store 37 on 49 door box 84 63 Step VII : victory .12 ultra 32 set41 iy
StepV : store 37 on 49 door 63 box 84 (23-28) : e
14. (1) input : slow wheel 32 57 high lake 12 46 After careful analysis of input and varjou
Stepl : wheel slow 32 57 high lake 12 46 rearrangement it is evident that in er:uch3 Seps o
StepIl : wheel 12 slow 32 57 high lake 46 number or word is rearranged. The numbe step ope
Steplll : wheel 12 slow 32 lake 57 high 46 ranged in descending order and the w Ordm are ar.
StepIV : wheel 12 slow 32 lake 46 57 high 23 ranged in alphabetical order. S arear.
5@ StepV : wheel 12 slow 32 lake 46 high 57 «(8) Input : home turf 39 24 86 44 roll gver
» (3) SteplV : year 14 team 22 63 54 goal house ~ Stepl : 86 home turf 39 24 44 roll ove
StepV : year 14 team 22 house 63 54 goal Stepll  : 86 home 44 turf 39 24 1ol r
Step V1 : year 14 team 22 house 54 63 goal Step Il : 86 home 44 over turf 39 over
Step VIl : year 14 team 22 house 54 Step IV : 86 home 44 24 roll
16. (4) Input : bag full 32 84 27 coin n %'2;&1 % StepV  : 86 home 44 over 39 turf 24 ral
Stepl : new bag full o st ' over 39 roll turf 24
3284 27 co epVl : 86 ho ,
Stepll : new 27 ba n 56 24. (2) Let' 'ome 44 over 39 roll 24 turf
Step1 ; & full 32 84 coin 56 ) Let's the option (2) input
Stell:w ¢ new 27 full bag 32 84 coin 56 25. (2) Step IV : 58 box 47 dew 15 2 .
* new 27 full 32 bag 84 Ste 1 town pot
. coin 56 pV : 58
sStepV ¢ new 27 full 32 coin bag 84 56 Step VI : 581 box 47 dew 21 15 town pot
tepVI: new 27 full 32 286.(3) I 0X 47 dew 21 pot 15 town
(17 - 22) ; Afrer ana] 1 coin 56 bag 84 »tolinput : show 51 36 new f:
Tangement it i evident thY-‘: ng the various steps of ar- Stepl ; g1 show 51 3 ar 81 46 goal
reverse alphabetical order vy 0 ATanged | Stepll S new far 46 goal
ranged in order while the g n the 81 far show 51 36
17. (3 ascending order, numbers are gr. Step i1 81 far 51 new 46 goal
(8) Input ; p, Step IV - show 36 new 46 goal
Step I - bre bag cover 43 € 91 ship 25 Stepv ;g1 far 5 Show 36 new 46
S PI: re 25 bag ¢ 32 51 ship 25 Stepvl : g 1 goal 46 show 36 new
tepII: tyre o5 over 43 32 ) S * 8liar 51 goal 46 n
Step Iv: ship ba ship tep VIl : g g ew show 36
PIV: tyre 25 g8 cover43 3o 27.(5 ar 31 goal 46
Step v . ship 32 51 « B Input ; p new 36 show
PV : tyre 25 ag cover 4 uy win task 52
18, (4) From ship 32 3 51 Stepr1 . 38 43 door 12
the give Cover b 52 buy win t
mine the mPl.ll: step itis not POSs]blag 43 51 Stﬁp n . 52 bu 43 ask 38 43 door 12
' ¢todeter. { Stepnl . 5o buy 4 win task 38 door 12
Y 43 door win task 38 12

\ StepIv .
A - n.nfﬁbgy @ dOOl‘ a8 win taal 19



" =~ INPUT |-

, 76 ask 12 32 begin over jot
W llng". '}6!51'-'42 12 32 begin ove'ljri:a OGtepIVI 84 how B8 say
w % ﬂ;‘,pﬂ’ . 76 ask 42 begin 12 32 over join 3¢ was vyour 25
1 oY 21V | 75 ask 42 begin 32 12 over join StopV : 64 how 56 stay
3 Qaj. sid,v 76 ask 42 begin 32 join 12 over 36 was 25 your
y &&; aep vl - a6 {St]ep V is the last step.
1 :  analysis of the given input and 3
[ 6 ¢ :u"er C:}.’:r:.langemcnt it is evident that :rl:e ::;ﬁ: Input : power fail now 52
| 6y ,;cp’ . word arc arranged alternately. The num- 24 75 gate 34
N :Iﬂe arranged In ascending order while the words | St°P1 ¢ 75  power fail now
6 b in reverse alphabetical order, ‘52 24 gate 34
e “esteP 1 : 15yes 6251 48 talk now gone Stepll : 75 fall  powernow
ag, g 95 ;15 yes 48 62 Bl talk now gone 52 24  gate 34
% = STy :18yes 4 talk 62 51 now gone Step II: 75 fall 52  power
Me Sl:pv . 15 yes 48 talk 51 62 now gone now 24  gate 34
Ve | s‘ep . 1% yes 48 talk 51 now 62 gone StepIv: 75 fall 52 gate
Yty | i‘} Sep Il 3 21 victory 30 joint 64 47 all gone powernow 24 34
6 ”é:cp v : 21 victory 30 joint 47 64 all gone StepV :75 fall 52 gate
eV F 2] victory 30 joint 47 gone 64 all 34 power now 24
S - StepVI: 75 fal 52  gate
| sepl ¢ 1289 bind 32 goal house 61 joy Stepvm : 75 fall 52 gate
o qepll 12 joy 89 bind 32 goal house 61 34 now 24 power
e sepll ¢ 12J0¥ 32 89 bind goal house 61 37.(4) From the glven step it is not possible to deter-
¢ seplV 12 joy 32 house 88 bind goal 61 mine the input.
sepV 12 Joy 32 house 61 89 bind goal 98.(1)
[ stepV1 ¢ 12 joy 32 house 61 goal 89 bind BtepIr : 75 down 16 24
3 y‘[ﬂ Input ¢ save 21 43 78 them early 36 for farm eager 62 sky
| gepl ;21 save 43 78 them early 36 for Step I11: 75 down 62 16
sepll ¢ 21 them save 43 78 early 36 for 24 farm eager sky
steplll : 21 them 36 save 43 78 early for StepIV: 75 down 62  eager
StepIV ¢ 9] them 36 save 43 for 78 early 16 24 farm sky
[ g8, Input desire 59 63 all few .38 46 zone StepV : 75 down 62  eager
{ sepl 38 desire 59 63 all few 46 zone 24 16 farm sky
stepll : 38 zone desire 59 63 all few 46 Step VI: 75 down ©2  eager
l steplll : 38 zone 46 desire 59 63 all few 24 farm 16 sky
] StepIV : 38 zone 46 few desire 59 63 all 39.(3)
| SepV : 38zone 46 few 59 desire 63 all Input :14 35  when they
{ .{5 Input : win 92 task 73 59 house range 34 came 61} 48 home
{ “spl :34win©2task 7350 houserange ) StepI :61 14 85  when
| Stepll : 34 win 50 92 task 73 house range they came 48 home
{  Steplll : 34 win 59 task 92 73 house range Stepll : 61 came 14 35
StepV : 34 win 59 task 73 92 house range _ ’ when they 48 home
(35-39) : From the analysis of given input and vari- | step II: 61  came 48 14
{_ g:ﬂuegab of rearrangement, it is evident th%t‘ alterna;ely 35 when they home
( tenumber and one word are arranged. The numbers IV:6] came 48 home
f i aranged 1n descending order and the words get ar- Step IV : 4 85 hen th
finged as per dictionary. ‘ ! when they
8.4 StepV : 61 came 48 home
5 25 36 64 Step VI: 61 came 48 home
M1 :64 how was your '35 they 14 when
stay 56 26 36 (40-46) : After careful analysis of the Input and various
Kol ; 64 how 56 was steps of rearrangement it is evident that in each step
0 one number or word 18 rearranged. The numbers are
'“nn. ’é;" ;tay 25 36 rearranged in descending order while the words are
"es y::;- gg ;teav rearranged according to dictionary.




t room ouse
:::’:l, : organise 19 12 stable a5 ;: ::ouse
Step I : 72 organise 19 12 stable roonll S s
Step II : 72 house organise 19 12 stable

m
Step Il : 72 house 35 organise 19 12 stalb;eslt‘;!;le
Step IV : 72 house 35 organise 191'030;1 29
41.(1) Input : bake never store 51 26 2 agc -
Step I : 51 bake never store 26 3 a:_fs P
Step I : 51 age bake never store 26 b
Step Il : 51 age 49 bake never store o6
Step IV : 51 age 49 bake 33 never zstom-t0 °
Step V. : 51 age 49 bake 33 never 26 s ;4
42, (5]} Input : always go therc 39 62 47 time "
Step I : 62 always go there 39 47 time.24
Step Il  : 62 always 47 go there 39 time "
Step Il : 62 always 47 go 39 there time 2
Step IV : 62 always 47 go 39 there 24 time he
43.(4) From the given Steps we cannot determine

Input,
44.(4) Step Il : 84 for 56 20 17 won loss game

Step IV : 84 for 56 game 29 17 won loss
Step V : 84 for 56 game 29 loss 17 won
45.(1) Step Il : 86 box 63 18 gear card 51 new

Step IV : 86 box 63 card 18 gear 51 new
Step V : 86 box 63 card 51 18 gear new
Step VI : 86 box 63 card 51 gear 18 new

46.(5} Step IV : 59 bend 46 card 14 27 win now

Step V : 59 bend 46 card 27 14 win now

Step VI : 59 bend 46 card 27 now. 14 win

(47 - B1) : After careful analysis of the input and
various sieps of rearrangement, it is clear that in the
first step one number is rearranged and in the second
step one word Is rearranged. These two steps are contin-
"ued till all the numbers get arranged in ascending order
and all the words get arranged in reverse order of alpha-
bets,

47.(3)

Imput : kind 12 96 heart water 58 42yes
Step! : 12 kind 96 heart water 59 42 yes
Step Il : 12 yes kind 96 heart water 59 42
Step Il : 12 yes 42 kind 96 heart water 59

Step IV : 12 yes 42 water kind 96 heart 59
StepV : 12 yes 42 water 59 kind 96 heart

48, (5)
Input : jungle 43 mode 25 basket 39 target 19

Step! : 19 Jungle 43 mode 25 basket 39 target
Step Il : 19 target Jungle 43 mode 25 basket 39
Step Il : ]9 target 25 jungle 43 mode basket 39

StepIV : 19 larget 25 mode Jungle 43 basket 39

Step V' : 19 target 25 mode 39 jungle 43 basket
49.(4) From tlrlrgll;erti step it Is not Possible to deter
u
50. (4} Step I 24 year 56 43 last part 64 over
StepIlf : 94 year 43 56 1ag¢ part 64 gyer
xp {{V . 4 year 43 Part 56 last 64 over
e pV] 24 year 43 part 56 gver last 64
p 24 year 43 part 56 over g4 last

— INPUT |-

32 station 46 81 73 $

: Bot

+]
Step IV . 32 station 46 march 73 8lg for
StepV h 73 on &0 for

careful analysis of the givey, In
(62-56) : Afstf:ps of rearrangement it {s e"’dentpuu:ala"ﬂ
varig::t step one word 1s rearrang;d and g, g, Ay
the tep one number is rearranged, Thega two s?:t
ond s %nucd alternately till all the Wordg g
are ?&"ln alphabetical order and all the "“mbem;:

arranged in descending order.

82.(9) t : war 52and peace 43 16 noy o,
2:5: 1 : and war 52 peace 43 16 Row 5,
Step Il :and 52 war peace 43 18 now g,
Step lli:and 52 now war peace 43 16 g4
Step IV:and 52 now 43 war peace 16 2
StepV :and 52 now 43 peace war 16 94
Step VI:and 52 now 43 peace 24 war g

B3.(3) Step Il : bond 86 goal 12 33 like high 44
Step I[V:bond 86 goal 46 12 33 like hyg,
StepV : bond 86 goal 46 high 12 33 like
Step VI:bond 86 goal 46 high 33 12 like
StepVII:bond 86 goal 46 high 33 like )9

54.(4) It is not possible to cetermine the fnput from any
given step.

B5. (5}

Input mind new 27 35 19 59 own towe,

Step | mind 59 new 27 35 19 own tower
StepIl : mind S9 new 35 27 19 own tower
Stepll : mind 59 new 35 own 97 19 tower
* SteplV: mind 59 new 35 own 27 tower 19
56. (3) )
StepIV: dear 63 few 51 18 29 'yes now
StepV  -: dear 63 few 51 now 16 29 yes
Step V1: dear 63 few 51 now 29 16yes
Step VI :dear 63 few 51 now 29 yes 16

but in reversge order.
57.(5) Input : man 78 over 63 like 43 Joy 15

Stepl  : 15 man 79 over 63 like 43 joy
Stepll  ; 15 Over man 79 63 like 43 Joy
Steplll 15 gver 43 man 79 63 like joy
StepIV 115 gver 43 man 63 79 lke joy
StepvV ;15 Over 43 man 63 like 79 Joy
88. (1)
Stepll  : 27 worg €0 57 48 stem 35 kite
Step Il : 27 worlg 35 g0 57 48 stem kite
SPIV ;27 worlg 35 stem go 57 48 kite
Stepv . 97 world 35 stem 48 go 57 kite
Stepvi . 27 world 35 stem 48 kite go 57
StepVE : 27 wong 35 stem 48 kite 57 £0

‘-J_}inpﬂ smE Nmmn A A w
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1
o g0l ¢ g4 join for 81 style home 32 4
fu: gf:l . 32 94 join for 81 style home 483
\ op PR 32 style 94 join for 81 home 48
st m o 32 style 48 94 join for 81 hom,
t, step . 32 style 48 join y
hely - seplV Join 94 for 81 home
al y & 32 style 48 join 81 94 for h
E“c step . 32 style 48 join 81 oy
o stBPW : home 94 for
I.‘ ! l[2]
‘a;"‘ aos epll 18 tower 33;8 basket 82 76 hall new
L stepV 18 tower new basket 82 76 hall
 se pV 18 tower 38 new 76 basket 82 hall
i stepw . 18 tower 38 new 76 hall basket 82
1 t step V11 ¢ 18 tower 38 new 76 hall 82 basket

o From ti;e given step, Input cannot be determined.
) : After careful analysis of the given input and
6% mﬂﬁ ous steps of rearrangement it is evident that in
" the first step one word is rearranged and in the sec-
; ond step one number is rearranged. These two steps
are repeated alternately until all the words are ar-
ranged alphabetically in the reverse order and all

the numbers are arranged in descending order.

g2, (4) Input glass full 15 37 water now 85 67
stepl ¢ water glass full 15 37 now 85 67
stepll : water 85 glass full 15 37 now 67
steplll : water 85 now glass full 15 37 67
stepIlV water 85 now 67 glass full 15 37
StepV @ water 85 now 67 glass 37 full 15

Step V is the last step.
69. (4} Step IM:ultra 73 12 16 mail sort 39 kite

StepIll : ultra 73 sort 12 16 malil 39 kite
StepIV : ultra 73 sort 39 12 16 mail kite
StepV : ultra 73 sort 39 mail 12 16 kite

© StepVI : ultra 73 sort 39 mail 16 12 kite
Step VII : ultra 73 sort 39 mail 16 kite 12 -

64, (4) From the given step, Input cannot be determined.

85, (1) Step Il : tube 83 49 34 garden flower rat 56
Steplll : tube 83 rat 49 34 garden flower 56
StepIV : tube 83 rat 56 49 34 garden flower
StepV ': tube 83 rat 56 garden 49 34 flower
StepVl : tube 83 rat 56 garden 49 flower 34

8. (1} Input : hunt for 94 37 good 29 48 book
StepI : hunt 94 for 37 good 29 48 book
Stepll : hunt 94 good for 37 29 48 book
Step I : hunt 94 good 48 for 37 29 book
StepIV : hunt 94 good 48 for 37 book 29

67.72) : After careful analysis of the given input and
various steps of rearrangement it becomes clear that
in the first step one number is rearranged and in

68. (2} Input : station hurry 39 67 all men 86 59
1 39 statlon hurry 67 all men 86 59

Step |
Step Il : 39 station 59 hurry 67 all men 86
Step III  : 39 station 59 men hurry 67 all 86
Step IV : 39 station 59 men 67 hurry all 86
Step V  : 39 station 59 men 67 hurry 86 all
t from

69. (4) It is not possible 1o determine the Inpu
any given step.
news 79 53 glory for 46 29 task

70. (2) Input :
Step 1 : 29 news 79 53 glory for 46 task
Step I : 29 task news 79 53 glory for 46
Step Nl : 29 task 49 news 79 53 glory for
Step IV : 29 task 49 news 53 79 glory for

71. (4) Step I11 : 27 tube 34 gas chamber row 74 53
Step [V : 27 tube 34 row gas chamber 74 53
Step V. : 27 tube 34 row 53 gas chamber 74
Step VI : 27 tube 34 row 53 gas 74 chamber

72. (2) Step 11 : 19 year 85 74 near gone 26 store

Step Il : 19 year 26 85 74 near gone store
Step IV : 19 year 26 store 85 74 near gone
Step V. : 19 year 26 stor¢ 74 85 near gone
Step VI : 19 year 26 store 74 near 85 gone
(73-77) : After careful analysis of the given input and
various steps of rearrangement, it is clear that in
the first step one word is rearranged and in the
second step one number is rearranged. These two
steps are continued alternately till all the words
get rearranged in alphabetical order and all the
numbers get rearranged in ascending order.
73.(2) Input : train 59 47 25 over burden 63 sky
. burden train 59 47 25 over 63 sky

Step 1
Step I : burden 25 train 59 47 over 63 sky
Step Il : burden 25 over train 59 47 63 sky
Step IV : burden 25 over 47 train 53 63 sky
Step V. : burden 25 over 47 sky train 59 63

~ Step VI : burden 25 over 47 sky 59 train 63

74. (5) Input : service 46 58 96 over there desk 15

Step! : desk service 46 58 96 over there 15
Step Il : desk 15 service 46 58 96 over there
Step I : desk 15 over service 46 58 96 there
Step IV : desk 15 over 46 service 58 96 there
Step V. : desk 15 over 46 service 58 there 96

75. (3} Input— 93 house floor 69 57 task 12

Stepl : below 93 house floor 69 57 task @

Step II : below 12 93 house floor 6957 task
78. (4) Step 11l : art 24 day 83 71 54 star power

the second step one word 1s rearranged. These two Step IV : art 24 day 54 83 71 star power
steps are continued alternately till all the numbers Step V. : art 24 day 54 power 83 71 star
get rearranged in ascending order and all the words Step VI : art 24 day 54 power 71 83 star
. (%Ets!ttarranged In reverse alphabetical order. Step VII : art 24 day 54 power 71 star 83
Sip Ie‘}: 'Ill : 15 window 29 93 86 sail tower buy 77.(3) Step 11 : cold 17 wave 69 never desk 52 43
s : 15 window 29 tower 93 86 sail buy Step Il : cold 17 desk wave 69 never 52 43
S::: V: 15 window 29 tower 86 93 sail buy Step IV : cold 17 desk 43 wave 69 never 52
E\Ven? : 15 window 29 tower 86 satl 93 buy Step V. : cold 17 desk 43 never wave 68 52
ually, Step IV is the last step. Step VI : cold 17 desk 43 never 52 wave 69
\ __J n nDﬂMﬁ-]EH*



care { and various

: | analysis of the Inpu step

e .ﬁzgrran;:mem it is evident u'];f::: ::ghs s

:::Zpiumber or word is reamnigcdﬂ;e e got ®

re continued alternately il al numbersrwgct
:angr:d in alphabetical order and all the

rearranged in ascending order. then

will care 46 53 29

. (3) Step II; bend 15
78. (3] Step . bend 15 care will 46 53 29 then

m :
:::;I:IV : bend 15 care 29 will 46 5:1:;1;!31
Step V. : bend 15carc29thenwillwm53
Step V1 : bend 15 care 29 then 48 ”
79. (5) Input : land 62 clear over 41 37 again o
Step ! : again land 62 clear over 41 37
Step I : again 37 land 62 clear over 41 56
Step Il : again 37 clear land 62 over 41 56
Step [V : again 37 clear 41 land 62 over 56
Step V : again 37 clear 4] land 56 62 over

Step VI : again 37 clear 41 land 56 over 62
Step V is the last but one step.
80.(4) Step I : desk 12 year victor 86 71 store 65
Step HI : desk 12 store year victor 86 71 65
desk 12 store 65 year victor 86 71

Step IV :
Step V : desk 12 store 65 victor year 86 71
Step VI : desk 12 store 65 victor 71 year 86
81.(1} Input : earn 39 23 48 station 19 begin day
Step I : begin earn 39 23 48 station 19 day
Step I : begin 19 earn 39 23 48 station day
Step Il : begin 19 day earn 39 23 48 station
Step IV : begin 19 day 23 earn 39 48 station
Step V  : begin 19 day 23 earn 39 station 48

82. (4} It is not possible to determine the Input from any

given step,

(83-87) : First of all the numbers and their preceding
letters are arranged. The numbers are arranged in
ascending order.,

Then, the words are arranged in alphabetical but
in reverse order. )

Ioput  :any number less than 30 and more than 20

does not equal 40

tthan 20 any number less than 30

does not equal 40 and more

Step I

StepH :than 20 than 30 an
y number |
) than 20 an 50, €S8 and more
tep I :than 20 thap 30
equal 40 ap
. and more does not v amber less
tep IV :than 90 than 30
ual 40
. and more does qu Humber any less
vV :
tep than 20 than 3¢ €qual 40 numpe, not any

less and more doeg

than 20 than 30 ¢
any less and doeg qual 40 number not more

Step vIr :¢p
an 20 than 39 €qual 40 numbey not more

Step V1

————

ep e
as. (5) It is step uld be required (o °°“1que

wo
84. (2} Eight steps
ent.

85 Z‘)T"}a:iicmls no such t:{:l-tion.
. tion (3) is step Il
:g' :g; '?l'rl,e word 'not” would be on 8th Posity, i

) left in Step V- .
{88 - o4} : words get rearranged i al
First of all. ttl:llctwo ds get rearra ins i;:]h

cal order an &
step. Then, the nubmers are rearranged yn dea%;h

ing order.
Input : when 11 given fine 37 provide zerq g, -

45 is 29 team 89
s fine given when 11 37 provide zer, 90 vy

Step 1 45 is 20 team 89
Step I : fine given 1s over when 1137 provide gy,
45 29 team 59 ide team wh
. en is gver prov. when )
Step I & T 50 4520 89 Ly
Step IV : fine given is over provide team whep, Zerg |,
37 90 45 29 89

Step V : fine given is ove
i 89 11 37 45 29

Step VI : fine given is over provide team whep zero
tep 89 45 37 11 29 %
Step VII: fine given is over provide team when zero gy

894537 29 11
88. (1) Step I : fine given when 11 37 provide Zero 9y
over 45 is 29 team 89
89. (5) over 90. (3) VI
91. (1) zero 92. (2) I
93. (5) Step V : fine given is over
zero 90 89 11 37 45 29
94. (2) Step VII : fine given is over rovi
,zero908945372gig 11 provide team whey
(95-99) :
In each step one number and one wo .
ranged. The numbers are arranged fror:-; ﬁee {:f:lir,;
descending order and the words are arranged frop
I the right in alphabetical order.
St;]::tl 24 cross 82 road 93 safe 13 jam halt 45
StepII ;

r provide team whep zerg gy

provide team Whep

99. (1)1t 15 step |
(100-104) P

reanal)’sis of the given input and varr

arrangement it is evident that words
are rearranged from right to left. In
Word is rearranged and in the

are re
bers gai-; in alphabetjcal order and the num
left, ed in ascending order from right ¢




N
7 23 you 13 wake 8] me 43 befo INPUT IL_

H{Ete
_23)701,113“’8 L‘81me4372 341.1[) 1
og ;'f:‘ | 23 you wake 81 me 43 72 305234 P before 1:;’ () E is the Step .
1u% o B o3 you wake 81 me 4372 34 ,, Up 13 before a m- (2) B is the Step Iv.
&% atb m . youwake 81.me 43 72 34 yp 2§ £0 13 before lnpu; 11.4) :
al steP 3'! ; you wake 81 43 72 34 up me 23 g0 :3 before : n5° 62 the best 67 bargain 42 in stores 17 89
cq' P 5ep¥  Jouwake 8143 72 up 34 me 23 o 19 VSO [ Stept . ghe s 75 available
ing (U gef V1 | ou wake 81 72 43 up 34 m £0 13 before  the 50 62 best 67 bargain 42 in stores 17 NOW
eaee:;;, o gl‘l Y 8172 wake 43 up 34 iy gg £0 13 before [ step 1 ;7: a\;ailable 89
. : ; 89 13 bef, +the stores 50 62 best 67 42 in 17 now
0900» 55:::”‘ ’31you72mke43UP34m"2380 13bef::: Step 11 avatlable 75 89 st 67 bargain 42 n 240
> g4 °’ 100 lljl l':‘;’s step V. ep 1l ’;'i:jﬁgfﬁe;lw 50 62 best bargain 42 in 17
o | ot ¢ _ ¢ 67 75 89
€ 2¢, N i 1]03' 4) Siflt;og t::lsls step II. StepIv . ;‘:;eﬂglz‘ese l;ow best 50 bargain 42 in 17 avail-
0, i3 {5 ' 75 89
n % ! 1104' {2 Opfgg’“},l;f::::;u;;ne step. Step v ‘g‘oc Sst;rté{lz now In best bargain 42 17 available
- : num 7
X (10:1 ut. The three numbers I;f-? alnd six wards | 113. (3) Option (3) is S? 8I9
Ze, jn the and the remaining three placed in the | 114 {2) ‘best’ ep 1.
i D‘gmn:;gt The numbers are re mlénegers are placed ’ ond l;ﬁitstvt'ﬂl be at the fifth position from the left
the i an, in A8C ep V.
Ze. i [x words are rearran, ending . .
0% | oer 'g]i;;le. ged in alphabetical order (115-121) : After careful analysis of the given input and
ero in the &7 67 hot sun 19 best 83 | various steps of rearrangement it is evident that
8 , jpot ° 67 hot sun best | ce 49 ace 77 cut 37 xords and numbers are rearranged alternately.
o, | gepl 19 e est ice 49 ace 77 cut 37 83 orld are arranged in alphabetical order and the
% | sep IlI : 113 g; o h::t): :‘-‘“ ::“-'3: ice 49 ace cut 77 83 (1 ls-nlu;:;xm are arranged in ascending order.
y step ML+ un best ice ace cut 67 77 83 :
0% [ geplv:193749ace hot sun best ice cut 67 77 83 Input : next 57 problem 82 14 trend 02 purchase
siep V ¢ 19 37 49 ace best hot sun ice cut 67 77 83 growth 41
vI: 19 37 49 ace best cut hot sun ice 67 77 g3 Step I : growth next 57 problem 82 14 trend 02 pur-
vh vil :19 37 49 ace best cut hot ice sun 67 77 83 s chase 41
& ¢5.(4) Seven steps are needed t tep Il : growth 02 next 57 problem 82 14 trend pur-
i 1™ arangement © complete the chase 41
then 1 : .
hep ! 06.(3) It is Step V. Step Il : growth 02 next 14 57 problem 82 trend pur-
107.(4) Option (4) is Step L. Step IV i
ar ‘,' 108.(2) Option (2) Is the final arrangement, P growth(:hase 4(;2 next 14 problem 57 82 trend pur-
i | 10841} In Step IV ‘sun’ would be seventh fi .
m (110 - 114) : After careful analysis of th?:;vt;f :,gpt::t Step V : gl::ic;h 02 next 14 problem 41 57 82 trend
{ and various steps of rearrangement it s evident th ) s
[ in each step one word and one number get rea:-‘f . Step VI : growth 02 next 14 problem 41 purchase 57
i ranged. Words are arranged from the left inre- | g 82 trend ,
{ verse alphabetical order and the numbers are ar- tep VIl: growth 02 next 14 problem 41 purchase 57
ranged from the right in descending order. trend 82 g
110.(2) Step VIl is the last step of arrangement.
bput  :19 there is 81 27 hope 45 for 33 one 49 better | 1108 VI
, day 08 116.(3) Option (3) is the final arrangement.
Siepl :there 19 is 27 hope 45 for 33 one 49 better | 117-4) Option (4} Is the Step 1.
day 08 81 118.{3) The word *problem’ is sixth from the left end in
tepll :there one 19 is 27 hope 45 for 33 better day Step III.
5 08 49 81 (119-121) : :
ep Il =‘t;h5ere one is 19 27 hope for 33 better day 08 | Input : just 14 and value 22 time 05 15
SV 1t 49 81 Step I : and just 14 value 22 time 05 15
¥ 45";’5 %ﬂle is hope 19 27 for better day 08 33 | Step II : and 05 just 14 value 22 time 15
111 -~ 112) ; Step III: and 05 just 14 time value 22 15
Step!: C Step IV: and 05 just 14 time 15 value 22
Stepll : i 119.(4) The number ‘14’ is at the fifth position from the
Step III.- A right in Step IIL.
Step v B 120.{2) Option (2) is the Step II.
Step v ; .D 121.(1) Four steps are required to complete the arrange-
) ment.
o= d. BPRE~457 |~



| -
] INPUT l-—b’-l order and the words beglnnlng /‘
alphabetlct: are rearranged from the righ, n lh:'“‘ |
consonall = al order. e
2-126) : e verse alpha "“:
(12 : wrong 35 19 mbluc-_ample K ( 132_135] : 84 can 77 open 86 quick 13 baae :];ﬁ
Input : ropes @ 33s mput uniquel 1 equal 98 start ) 0
47 77 57 n :lnl:ij:: unique 84 can 77 open 86 13 bage 53 " l_r:: p
1 : ample ropes 33 strong 35 Step !l : ual 98 quick start 5e
Stepi : eq nal unique 84 77 open 86 13 haae
kite 47 77 57 12 11: amiss eq K start B s
35 [In] kite | Step II: 11 98 can quic .
Step Il : ample blue ropes [33] strong amiss equal Open ‘t‘;‘::iue g 2«
) H uick s
47775719 12 Step 11 13 53 11 98 base Cazlqo en unique o
47775733 . amiss equ Pk " q 983477
Step I : ample blue ropes strong 35 Step IV ¢ 13 53 11 base can quick start st
1912 865 miss equal open unique 98 86 84 77 13, y M
: blue in kite ropes strong 7757 | Step V' base can quick start al n unique g 4
Step IV : ample blue € ) amiss equal ope e 98 gg 4 !
35331912 735 | Step VI ! 7 53 13 11 base can quick start 14
vV le blue in kite ropes strong 77 n57 4 7 se
Sy e 2 182, (5) None of the from the right in step ;
133. (4) 98 would be fifth fro P I,

122.(4) 47 is sixth from the right end and eighth from
the left end in Step 1il.
123.(2) The word ‘ropes’ s fifth from the left end in Step V.
124.(4) The word ‘I’ 18 third from the left end in Step IV.
138.(5) Step V 1s the last step.
126.(1} Five steps are needed to complete the arrange-
ment,
{127-181) : Afier careful analysis of the given input and
various steps of rearrangement, it is evident that
two words are rearrange in each step. The words
starting with Vowels are arranged from the left in
the reverse alphabetical order and words starting
with consonants are arranged from the right in al-

phabetical order,
Input : gem stat ace cast omit fan rate uncut era
input
Step! : uncut gem stat ace omit fan rate era input
cast
Step Il : uncut omijt gem stat ace rate era fnput fan
cast '
Step IlI: uncut omit Input stat ace rate era gem fan
cast
Step IV: uncut omit Input era stat ace rate gem fan
cast
Step V : uncut omit Input era ace stat rate gem fan
stat
127.(3) Option (3) 15 the fing] arrangement,
128.(1) The word ‘rate’ Is at sixth p}
ace fi
the Step J11. Frace from the left in
129.(1) It 1s Step 11,

! analysgig of

the given
rearrangemen given inpyt and

the numbes aye e 8 evident tha
arran
scending order and wordgse:r in the migdje in de-

134. (1) Option (1) s the last step.
1385. (5) Six steps
1886. (4) It is step IV.

-139) :
g:: I1 : (13] arrival 16 44 28 on 66 finish match

28 66 finish match
Step II: (A) arrival on 16 44

St:: I : (E) arrival on 66 16 44 28 finish match
Step IV : (D) arrival on 66 44 16 28 finish maich
Step V: (B) arrival on 66 44 28 16 finish match

137.(1) A is the step II.

138. (5) E is the step III,

139. (3) Cis the step I.

{140-144) : After careful analysis of the given input and
varlous steps of rearrangement it is evident that words
have been rearranged in the reverse alphabetical order
and the numbers have been rearranged in descending
order. In the first step the word which will appear first in
a dictionary is placed at the extreme left position and
the highest number ig Placed at the extreme right posi-
tion, In the second step, the word which will appear at
the second place 1s placed at the extreme left position

gnggtthe s&;:ond Shjghest number is placed at the extreme
Position. Simijlar rearran t is carried on tll

we get the fina output, gement 1s o
g:put * 49 last zen 16 g9 yet can vast 33 aim 87 54
Step | :aim49lagt gen 16 go yet can vast 33 54 87
St:p IIII ' €an aim 49 lagt pep 16 yet vast 33 54 8782
P :lagt cap alm 49 zen 16 yet vast 33 87 82
:::P ;V * Vast last can aim gep 16yet 33 87 82 54 4
Steg vi | ot vastlast can aim zen 16 g7 go 54 49 33
26N yet vagt Jag 3316

140, (3) 5y steps, "o alm 87 82 54 49

141. (4) Thig is step 1y,
142, (5) None of thege
143, 2)1¢ is at the 8

cal order from the left ht, e 12 oy
2 and right, Th
€ With vowels ar0 Tearrangeg rrol: &Zr?:ﬁbli

ixth position from the right.

144,
44.(9) Option (4) s the fing) arrangement.

—2PRE-458



wn - ere ar¥ six numbers and six
o g d ,4&'“9{;2 pumbers are placed In the penp " moved to the right end. in the second step the 8¢
W I put: :::nmg three numbers are placed in the | ond lowest number ts moved to the left end and thel
g ine reme L e rearranged in aecending order. 11-.::; word which will come second In the alphabetics
bﬂae ,ﬂdﬂ.,mb"" ed in alphabetical order In the midde order is moved to the right end. The procedure

continued till all the numbers and words get rear-

13
S m pc 7 hot surl 19 best 83 ice 49 ace 77 cut 37 ranged accordingly.

Seny, w1967 hot Sl:n b;a ;;:: :9 8ce 77cut 3783 | Input  :84 why sit 14 32 not best tnk feet 51 27 vain 68 92
G gt ;193767 DOLEVT DS cedDacecut 7783 | Stepl : 14 84 why sit 32 not ik fect 51 27 vain 68 92 best
baae 4 lll 193749 hot sun best fce ace cut 67 77 g3 Step Il 127 14 84 why sit 32 not ink 51 vain 68 92 best feel
% eI g 37 49 ace hot sun best ice cut 67 77 83 Step HI : 3227 14 84 why sit not 51 vain 68 92 best feet iINK

Kt & sep ' g 37 49 ace best hot sun ice cut 67 77 83 Step IV : 51 32 27 14 84 why sit vatn 68 92 best feet Ink not
CseP 19 37 49 ace best cut hot sun ice 67 77 83 | StepV :6851 3227 14 84 why vatn 92 best feet tnk not stt

8 y i ,' .19 37 49 ace best cut hot ice sun 67 77 g3 | Step V1 :8468 51 32 27 14 why 62 best feet ink not sit vain
5y, | sieP ) Seven steps are necded to complete the | SteP VIl :92 846851 32 27 14 best feet ink not sitvain why

4 sl gement. 158. {5) There 18 no such step.

36 Y2 Step V. 156. (4) The word ‘best’ is at the fifth position from the
j 148 4) Option {4) is Step L. right in Step V.
[ u ) option (2} 18 the final arrangement. 187. (2) There are three elements — 27, 14 and besl;
f '::'f{f} n Step IV 'sun’ would be seventh from the right, | bettween ‘feet’ and *32' in the last step of the oW
W . . From the given input and v put.
o154 F::Ient itgi:revidcl:lt that martil:: mtffuf 188. (3) The word ‘why' Is sixth from the left and ninth
one number is rearranged and in the next step one from the right in the Step IV.

word Is reart anged. These two steps are continued j (159-161) :
aiternately till all the numbers get arranged in
ascending order and the words get arranged in
reverse alphabetical order.

150.2) Input: 86 open shut door 31 49 always 45

After careful analysis of the given input and varl-
ous steps of rearrangement it is evident that words
and numbers are rearranged from right to left. In
the first step one word is rearranged and in the

siepl ¢ 31 86 open shut door 49 always 45 second step one number is rearranged. The words
stepll : 31 shut 86 open door 49 always 45 are rearranged in alphabetical order and th:i m:ﬂtl;
steplll : 31 shut 45 86 open door 49 always 'laei‘trs are arranged in ascending order from righ
StepIV : 31 shut 45 open 86 door 49 always *

. Input : 23 you 13 wake 81 me 43 before 72 go 34 up
! , ;lep:] ) gll :]I::: :g zg::: :g dii:‘;gr;l‘::;}: StepI : 23 you 13 wake 81 me 43 72 go 34 up before
A Stepll : 7 34 up 13 before

| (51.14) It is not possible to determine the Input from °p 23 you wake 81 me 4372 go 34 up

en step. | Step Il : 23 you wake 81 me 43 72 34 up g0 13 before

any 8 Il 18 win 71 34 if victorv 6 Step IV : you wake 81 me 43 72 34 up 23 go 13 before

183 B Step . l 8 wmn34 71 now if igtory Gi Step V : you wake 81 43 72 34 up me 23 go 13 before

Step:g 18 win 34 vict:ou;l :101:361 Step VI : you wake 81 43 72 up 34 me 23 go 13 before

! :::;V 8 win 34 mmg 61 71 now if Step VII : you wake 81 72 43 up 34 me 23 go 13 before

, Step VI : 18 win 34 victory 61 now 71 if Step VIII: you 81 72 wake 43 up 34 me 23 go 13 before

I 153, {5) Input : where 47 59 12 are they going 39’ lit;p( 3(lr;e81 you 72 wake 43 up 34 me 23 go 13 before

Stepl  : 12 where 47 59 are they going 39 1 60 (@) 1t Is step V
, Stepll : 12 where 39 47 59 are they going 161. (4) Option (4) ;s step I
| Step Il : 12 where 39 they 47 59 are going (162-166) : y
I

S :
4 [3?512 i .;23‘::1::: :19 ;l;eglﬁif O;noﬁfg; re After careful analysis of the given input and vari-
Step Il : . g ous steps of rearrangement it is evident that in each
tepIll : 33 store 52 81 75 full of goods step one word and a number are rearranged. In the
Step IV : 33 store 52 of 81 75 full goods

first step the word which comes the first in English
StepV : 33 store 52 of 75 81 full goods alphabetical series and the highest number move
Step V1 : 33 store 52 of 75 goods 81 full to the extreme left positions. In the second step,
“ﬂi-lls) : the word which comes to second in English alpha-
After careful anal d vari- betical serles and the second highest number are
0Us steps of rema?é:nolfe,ﬁl ft ﬂ";,’,‘df,':ﬂ‘:;:ﬁn c:ch moved to the extreme left positions. The same pro-
one number and one word are rearranged. The cedure 18 continued till all the words are arranged
lowest number s moved to the left end while the in the reverse alphabetical order from left to right
¥ord which will come first in alphabetical order is and all the numbers get arranged in ascending or-
der.
—
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Input
Step 1
Step Il
Step I
Step IV
Step v
Step VI : 88 73 58 25 war 15 race
Step VII ; 88 73 58 38 25 war 15

187,

168.

171,

L
—-! INPUT I~ reful analysis of the Inpyy /
(172-177) s After arrangement, it is evlde:‘n:' U
48 24 18 wanted for Investment 65 90 steps :{s“_’_ one word ;::‘d one ““mbel:" N
: wan e
PP ek eredit 32 vest- Fearanged in each etep. order 1o mich Sy
Step I : credit S0 money 48 24 the last left end and the lowest Dumb,, s hlh‘
o 65 et 32 24 18 wanted - e extreme right end, In the firgy Step, (O
Step I : for 65 credit 90 money 48 to the mmc word which comes secopg lm‘" Y
vestment lock 32 t 90 money 24 18 next step. order 1s moved to the le:l‘h'
Step [l : Invessment 48 for 65 cred! dictionary cond lowest number 1a Moveq |, %%
wanted lock 32 90 money and the s¢ ¢ position. The same pr t"ll-.!
Step IV: lock 32 investment 48 for 65 credit extreme rig?ul all the words get ap,, S
money 28 o tment 48 for 65 credit con:i?l::;l order from left to right ap, Eff' h
Step V : money 24 lock 32 inves dictto t rearranged In ascending Orde, B
90 18 wanied numbers g€ e N
tment 48 eds
Step VI : wanted 18 money 24 lock 32 Inves the words. ink 7
® 7 for 65 credit 80 input input + 63 45 fog 13 88 can ink 76 5, oy,
And, Step VI is the last step for the given : 27 air e can ink 7
183. (3) This is step IV. " Step1 : you 53 ‘:g fog 88 can 6 5) hangg,
163. {2} Fourth from left in Step IV = i alr en
1684. (1} Fifth element from the left in the Step V= In Step II : ink yo; 26? 45 fog 88 can 76 5 hﬁng "
vestment end 1
Second to the right of ‘investment’ = for Il : hang ink you 63 fog 88 can 76 5, Blr g
168, (5) There are five elements (65, credit, 90, money, | Step ll': 13 27 45
24} between ‘for’ and '18' in the Step Iil. Step IV : fog hang ink you 63 88 can 78 o end
67-171) : . hang ink you 86 can 76 g |
et g s | Y s o 'y
steps of rearrangement, it is evident tha ‘ og hang ink you 88 ay 13
st:;l:’ the highest number is placed t?‘lt the rgxtr;lr:; Step V1 : %aln eegd'rg g hang ink y g
left tion and in the second step the word w
compe:th in the alphabetical order is placed at Step VII :air can end fog hang ink yoy 13 27 &
the extreme right position. In the next step the 51 63 76 88
second highest number fs placed at the second 172. (2) Seven steps are required to complete theamng,.
position from the left. After that step the word which ment.

comes second in the alphabetical order is placed at

the extreme right position, These two steps are

continued alternately till all the numbers get

arranged in the descending order from the left and

all the words get arranged in alphabetical order after
the numbers.

: class 25 war 15 race 73 heap 58 just 88 take 38

: 88 class 25 war 15 race 73 heap 58 just take 38

~ : 8825 war 15 race 73 heap 58 just take 38 clasg

: 8873 25 war 15 race heap 58 just take 38 class

+ 88 73 25 war 15 race 58 Just take 38 class heap

: 88 73 58 25 war 15 race Just take 38 class heap

take 38 class heap just

Tace take class heap just

And, Step XI fs the last step,
\(;?ume word ‘war’ is sixth from the left end i step

(2) '25' i5 the ninth from the right in Step V1.

13, 27) between ‘Ink’ and ‘45’
174. (3) This is Step IV.

in Step v,

eighth from the left or seventh from the
there are 14 elements,
Eighth from the left in Step Ill = 76

178. (4) The element ‘can’ is seventh from the left end
the Step 11,

The element

the step 11, o
177.(3) Option (3) is Step V.
(178-181) H

‘can’ is eighth from the right end

I8 placed

ighest number 15
Position,
dlctlonaxy

order
left ang s

the word which comes last s placed 4

the secong lowest

i —— »

L S

Position froy, the left

lfp.l aced at the spcomd

wrnitlaen £ av . atahi

173. (5) There are seven elements (you, 88, can, 76, i

178. (1) Third to the right of fifth from the left end megns
right

In

n

After carefy] analysis of the given input and variows
steps of rearrangement, it is evident that in eah
step four elements (two words and two numbers
are rearranged, In the first step the lowest numb
At the extreme left position whik lh:
Placed at the extreme ﬂ?};’c
Again, the word which comes first it

Placed at the second poalﬁ"“m

S€cond positign from the right. In the second St



I:-.?'d v
mb:h:‘"%‘ thflfced é cﬂ; mes second last in the dictionary order
Ich .F ~ l\% ::afdwhjcht the fourth position from the right. The
'WQN" jaced 2 4 e s continued il all the words get
er gy to 0 £ e PSS he dictionary order after four numbers
Step, ?mwlhe s re ascending order. The remaining four
lUagr gl gy s et arransed s sscencling eraerafier
1 o rds.
veq o e‘;? e df,:: ¥ required 12 41 65 for all 27 33 69 to
gl a0 sunive i
1dl'lge q Iy 12 all Is required 41 65 for 27 33 89 to 78
g aj) ll:n 9:11’ :sur"i"" Jife water a0
or a&,: 12 27 all for is required 41 65 33 75 survive
Yo Cgep n: pfe to water 89 90
Y l’ang 12 g7 33 allfor is required 41 65 life survive to
oy U g9 90
h gV yater 788
Ang 9y { Jg 27 33 41 all for is life required survive to
hang | oo™ * ater 65 75 89 90
ajp ] ) fourth to the left of the seventh element from
aur @ lf"t[ie right means eleventh from the right or sixth from
L] ’ jeft, 1.8 18’
eng ;:cmere are seven clements (for, 1s, life, required,
18 :f"w e, to;hwater) between ‘all’ and ‘65’ in Step IV.
" 13 1 Eleven
2 11::':3, geventh from the left
27 45 [132487] :
after careful analysis of the input and various steps
27 45 Ofrea,-rangement. it is evident that in each two el-
ements {one number and one word} are rearranged.
Tang,. The word which comes first as per the order in a'
dictionary 18 moved to the extreme right position
6, ar, ahile the highest number 1s moved to the extreme
’ Jeft position In the step . In the next step, the word
which comes second as per the order in a dictio-
eans ! nary is placed at the extreme right position and the
ht as second highest number is placed at the extreme
! Jef position. The same procedure is continued till
: all the words get rearranged In dictionary order from
d in l the Jeft to the right after the numbers and the num-
bers get rearranged in ascending order from the left
yp | totheright :
{ mput :find 64 belt 28 54 lamp 17 give flat 69 real 95
f Siepl : 95 find 64 28 54 lamp 17 give flat 69 real belt
i Stepll : 69 95 64 28 54 lamp 17 give flat real belt find
us . Steplil: 64 69 95 28 54 lamp 17 give real belt find flat
ch StepIV : 54 64 69 95 28 lamp 17 real belt find flat give
rsg StepV : 2854 64 69 95 17 real belt find flat give lamp
¢ SepW: 172854 64 69 95 belt find flat give lamp real
ot 162.(3) Option (3) is the Step III.
e 183. (1) The element “lamp” is at the sixth position from
m the left in the Step IV. Its position from the right
e , end is seventh.
:j, 84. (4) There are five elements (54, lamp, 17, give, flat)
between “28” and “69" as they appear in the Step I

1
5. (2) Element “real” would appear at the sixth posi-

1886, (5) Second to the left of the fifth element fr

/ i INPUT §
d in the dicti

nich comes secon onary order

d wt « fourth position from the left and the

187. (1) This is the Step V.
(188-191) : After careful analysis

om the

right means seventh from the right end or sixth from

the left end as there are twelve elements.

Seventh from the right end In the Step 111 = “lamp”

of the input and vm;"
is evident that in ea

ous steps of rearrangement, it
and one number) aré

step two elements (one word
rearranged. In the first step the lowesi number ich
to the extreme left position and the word W
comes first in the alphabetical order moves to e
extreme right position. In the gecond step, the seci-
ond lowest number moves to the extreme left P°§l
tion while the word which comes second in the l-
phabetical order moves to the extreme right pot;c
tion. The same procedure 18 continued till alld S
numbers get rearranged in descending order anaf? .
the words get rearranged In alphabetical order aite
the numbers. 2
. 83 why sat 14 32 no be ink feet 5027 vain 67 9

. 14 83 why sat 32 no InkK feet 50 27 vain g792be

Stepll : 27 14 83whysat32no
Step Il : 3227 14 83 why satno

Step IV : 503227 14 83 why satvain :
StepV : 67503227 14 83 whyvain 92 be feet ink no 8a'

Step V1 : 8367503227 14why 92 be feet ink no sat vain
Step VIl : 9283 67 50 3227 14 befeet ink no sat vain why

188. (5) This is the Step III.

189. (4) The element ‘be’ is at the
right in the Step V.

190. (2) There are three elements (27. 14, be) between
32’ and ‘feet’ in the last Step.

191. (3) The element ‘why' is at the
the left in the Step IV.

(192-1995) : After careful analysls of the given input and

various steps of rerrangement, it is evident that rear-
even num-

Input
Step [

50 vain 67 92 be feet ink
87 92 be feet ink no

fifth position from the

sixth position from

consonant. In the first step the word which comes
last in the alphabetical order and beginning with a
vowel moves to the extreme left position and the low-
est even number moves to the extreme right position.
{n the second step the word which comes second last
in the alphabetical order and beginning with a vowel
moves to the extreme left position while the second
lowest even number moves to the extreme right posi-
tion. In the third step the word which comes flrst in
the alphabetical order and beginning with a vowel
moves to the extreme lefi position and the highest
even number moves to the extreme right position.
The process of rearrangement changes from the Step
[V onwards. In the fourth step the lowest odd num-
ber moves to the extreme left position while the word
beginning with a consonant and which comes last in
the alphabetical order moves to the extreme right
position. In the fifth step the second lowest odd num-
ber moves to the extreme left position and the word
beginning with a consonant and which comes at the

tion from the right in the Step V.

second last position in the alphabetical order moves

. ——
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A
L
—{ INPUT I offense 71 vaccine 12 39 gamgx thaog
mput  : 25 malign 64
and last lier 71 12 39 %
extreme ition. In the sixth xtreme ] orb offense garage g4 :
;toe]tlh 51:.- h@hes{lgggl g?.tsmbc::r moves t:dgea conso- | Stept ¢ fnb;;lgﬂ 64 vaocTre 71 12 ea']le,}
rb ofiense 39 :
f position and the word order . Jier abso
::antp::d which comes first in the alp Stepll - ;:r vaccine malign e Wy
moves to the extreme right position. jaunch [l : offense earlier absorb 71 12 39 g, 24,
1 idioms bakery 14 Step I ° .ine malign garage "
Input : adverb 59 36 salient 8 cin arlier absorb 39 g 2
47 umpire 62 bakery v: 71 offense ¢ 12 64,
t 81 idioms Step garage
Step I: umpire adverb 59 36 salien malign carlier absorb 86 25
b 59 salient 81 Step e 12 64 Y
Step I : idloms umpire adver lign garag er abes
launch 47 62 14 36 | bakery Vi: 263971 offense earlier a rb"ﬂcﬂne
Step Ml : adverb idioms umpire 59 salient 8 Step garage 12 64 86 the Jeft of
launch 47 14 36 62 : 196, (3) In Step 11, seventh to the left of 25 qab%
y ‘86"

ch
Step IV : 47 adverb idioms umpire 59 81 bakery laun

14 36 62 salient 3662
Step V : 59 47 adverb idioms umpire 81 bakery 14
salient launch .
Step V1: 81 59 47 adverb idioms umpire 14 36 62 sallen
launch bak e
192. (4} The elemegts ‘81" and 'salient’ come between ‘59
and ‘bakery’ in the Step II.
193. (1) First two elements of Step VI = 81, 59
The last two elements of Step VI = launch, bakery
184. (3) In the Step 111, third to the left of ‘47 is ‘81" But
‘81" interchanges positions with ‘idioms’. Therefore,
‘idioms’ would be third to the left of ‘47" in the Step

1.
198. (2} The elements ‘bakery launch 47 14’ are found in
the same order in the Step III,
(198-200) : After careful analysis of the given input and
various steps of rearrangement it is evident that only
till Step III. From Step IV and
onwards only numbers are rearranged. Two elements
are rearranged in each step,
InStep 1, the word beginning with a vowel and which
comes first in the alphabetical order moves to the
extreme left position while the word beginning with
comes last in the alphabet-
extreme right position,
In Step 1, the word be with a vowel and which
comes second in the alphabetical order moves to the
extreme left position while the word beglnnjng with

But ‘absorb’ interchanges position with
97. (5) First two elements in Step IV = 7] offe
197. Last two elements in Step IV = garage. i2
elements ‘absorb 86 25 vaccine’ are;
108. T cements absor 6.2 -
Bctlyby

: ments ‘64’ and ‘vaccine’ come
199. g;:f;sl? and ‘malign’ in the Step 111,
Vacel,

200. (4) 7th from the left end in the Step vj =
3rd to the left of ‘vaccine’
= offense

SBI PO EXAMS

(1-8) : On careful analysis of the given input a0y

various steps it is evident that first of gl words hay

been marked as they appear in a dictionary, froy | tog

and then the first three words have been arrangeq i
alphabetical order while the fourth, fifth and sixth wees
have been arranged though in alphabetical order bit in
reverse order. In one step only one word is arranged and
the sequence 6, 1, 5, 2, 4, 3 is followed,

Input :
4 1 6 3 2 5
goneare take enough brought station
StepI:

6 4 1 3 2 5

takegone are enough brought station

a consenant and which comes second last in the | Step IT ;
alphabetical order moves to the extreme right post- | 6 3 4 3 2 5
tion.
take
In Step 1, word beglnnlng with a vowel ang which Step Islllre fone shovgh bmught Station
comes last in the alphabetica] order moves tg the 6
extreme left position whije the word beglrming with ! 5 4 3 2
2 consonant and which comes first iy, alphabet. | ‘ake 2restationgone €nough brought
order moves to the extreme right position Step Iv:
In Step IV, the highest odd number moy, ‘ 6 1
€8 to the 4
extreme left position while the tak
Imom to the extreme yat, mlggﬂt even numbey . euﬂ;reatationbroughtgone enough
nStepv, : -
5 mi:f thle f:econd highest odd number moyag to | Input :
me leit position and the second | t ey, 1
: u;nber moves to the ¢ right position, e car i 6 3
N Step VI, the lowast odg number . on star quick 4
treme lefy Positlon angd the hlghe:tm:::ntonthe,gx' S“P I k cmand fat
Moves to the extreme Hight position, Hmber [ g 1 ¢4 ¢
star car o, .ﬁuhk demana fsl
el B n 0 mand &



ge
2N !
g g %% =1 INPUT |—
QQ!' . ﬂ: 4 2 3 6 -
39 h"es ’: c;_rquick on demand fat + @ s
r ¢ 1 4 5
, 8 ot? L Step1I: 7 7 2 3 6
8g % . 8 2 4 3 Step 11 « 65 42 183 289 542 65 110 350
6g 6 _pquick demand on fat plll: 765 42 542 183 289 65 110 350
25 " KN slﬂfwmaj}{h th;lsthe last step for the given in, Step IV 735 1 7 2 4 5 3 6
; e given step it i put. : 42
'svaem:%"e ; ; f,,]p ?&n; et P It fs not possible to deter. | 7+ ¥ 542 65 183 289 110 350
; the latter step we 4
- e%‘ | 9.9 F:;a:: . cannot determine preyi- { Input: 8 2 5 6 1
ne | ous ‘ put: 239 123 58 361 495 3
o (5P . Stepl: 495 239 123 58 361 3;
8g, [ arden garden  restore tep Ill : 495 37 361 239 123 58
Oﬁenae i gmﬂ":p 5 2 . 8. (5)
12 6 town garden 1 2 4 5
‘,;deﬂ ink restore  examin 1 . 7 6 3 1
T foung / pibis SteP 0';?’ ore word has been an’ang;duoa';}d h sr:l:ui'. 39 88 162 450 386 72 29 )
o & 'Msom.]dbe.cp. ence St13'1- 450 39 88 162 386 72 29
ty b, s omepstt oy i:450 29 39 88 162 386 72
g 2 4 5 ep 11 :450 29 3
vace ' for th Ste 86 39 88 162 72
o | o W ye e victory 3 pIV:450 20 386 39 162 88 72
| ’:’l'3 L1 s ;p(\:]: 450 20 386 39 162 72 88
“ ’ 2 4 6 1 5 3
{ ﬂ’:; ] ik hurey for the victory f;gut; 158 279 348 28 326 236
. : pl:
; @% 3 2 4 s Sttt gig 158 279 28 326 236
:gm ol ink. hurry the vietory Sl 348 28 158 279 326 236
.ms o ! o I Hery 10 (2}- 28 326 158 279 236
Ytog | 6 1 5 3 2 4 S ' 7 4 1 6 5 3 2
Nged iy |y for victory ink h tepl: - 785 198 32 426 9
h worge yclw Ty urry the StepIl: 785 32 198 o
Tbutjy Siep®t” StepIII: 785 426 373 96 49
edang | 6 2 5 .2 32 426 198
2ed ang | 3 4 StepIv: 785 3 373 96 49
| s{:; JO, victory hurry ink the a2 6 12 426 49 198 373 96
: s 3 2 5§
! StepIl': 4
"6 1 5 2 4 3 | stepr: 298 12 128 36 212 185
!yt forvictory hurry the ink Steplll: 208 12 212 128 36
© Thus, step V is StepIV: 298 e
; -(e-ll;, Mt;ie last step for this input 12, (4)1t Is ot 12 212 36 128 185
-. : After careful observ . ' s not possible t
* input of numbers and vaﬂo;l; ;2 sfltmIl of the given (13-17) : After cau*ef0 determine the previous step.
;irs evident that there are two a]ter%i?in;e::r:ng elrnent it | and various steps of re ul s;nalysls of the given input
- berain the final step : one in d es of num- | the first ste ement it is evident that in
ud n the ascending ord escending order and sec- | and in th p one word is arranged in alphabetical
. . der
Hghest n din order. Out of -8 number the four | am ¢ second step one number, which is th or
mm“mbefﬂm o arranged in descending order and ong the given numbers, is pl , ¢ highest
ur , is placed aft
s only Ol'legnumb%:-uinsbm in ascending order. In one ::r;lthe final step all the words get arran;;t:lu.ile ofabers
Mibers are writter i rearranged and the remaining order while the mumbers are arr n alphabetl
bers are rearrang, o the same order. till all the 8 num- | °1oc" Alternatel anged in descending
Ass] digitg; 13.(1) Step II :
dmanner that the | one to eight to each number in such cut 97 38 end for 2
and th h e lowest number is glven th or 29 46 down
¢ highest number the value of 8 e value of Step Il :
2 © ) cut 97
put 49 245 l@ o @ ® @ @ Ste “"10“’“ 38 end for 29 46
Sepl g 9 22 26 99 542 378 297 c tl; )
Sepit g ] 4 1 3 7 6 ut 97 down 46 38 end for 29
Somg ; o o &+ 37 6 Step V:
Step Vg 1 ; 2 5 4 3 6 cut 97 down 46 end 38 for 29
Vs g g ; 6 5 4 3 " '(I‘l;is is the last step.
. 6 3 5 4 . (4} It is not possible to
~ determine the previous step.
[ RPRE—-463 |



T \
— INPU Batch ¥ : 3.00 pmeto 4.01:; Pm /‘
2 5 7 4
18.{2) Step I : back go here People who to w&m 3 6“'
car 17 vas tiger 92 87 like 52 20, (5)Iaput 5 4 5 5 "‘kk v
Step M : ’ 1 i 7
52 the following five form §
g:fn‘j vas tiger 87 like four ch‘:{ ; 3.00 pm to 4.00 pm A &, 38
car 92 lke 17 vas tiger 87 52 6 2 5 B 1 7 i’/9:
Step IV : of five group four ga f°1lowln 3
car 92 like 87 17 vas tiger 52 ﬁ;:r.zsl : After careful analysis of th g%:'ht
16. (3) Input : 4 various steps of rearrangement it is €Viden lh:““
zeal for 49 31 high 22 track 12 an +d and one number are a:-lrlanlg?:l In eacy, s
StepI: wo! bersmaﬂangcd from E et :mdlhe“""d;m“' f
for zeal 49 31 high 22 track 12 N nged from the right. In the first step the W gt
Step I : foraes last in the dictionary is Conifiad o et e
for 49 zeal 31 high 22 track 12 O htwhile the highest number @ shifted to the gt 5
Step IN : left, In the second step the word which appe,, 't ste
for 49 high zeal 31 22 track 12 second last position in dictlonary 3;;’:: oy Moveg h“u: "
17. (5) Input : extreme right while th'I?hc same proc edums:af LN St
19 feat 34 28 dog bag take 43 extreme left position. Ollowy, ot
StepI: get the final output. 08 16 2
bag 19 feat 34 28 dog take 43 mput : fun 89 at the base camp sahﬂtu .
bag 43 19 feat 34 28 dog take Step i : 16 89 fun at 28 base camp355333ukhm 3
stepm:bag43dog19fcat3428take Step":l':es16393(;28l:)ase(’:al'n]:bSS53“”“:&&m 4
(18-23) : Step IV: 28 68 16 89 at base 35 53 the hmﬂ‘“um, :
INPUT : Step V : 5328 68 16 89 at 35 the here funcamph“
1 2 3 4 5 6 7 8 Step VI : 35 53 28 68 16 89 the here fun canyp 1y,
these icons were taken out from the sea 21. (5) None of these
Pass Codes '
Batch I: 10.00 am to 11.00 am 22- (3) 35 would be at 7th positon from the left in sy,
6 8 7 & 4 3 2 ) 23. (4) This is Step V.
from sea the out taken were icons these (24-28) : After careful analysis of the given input ang
Batch 11 : 11.00 am to 12.00 noon varlous steps of rearrangement, it is evident thary
6 . 2 1 3 4 5 7 8 each step one ward and one number are rearrngy
from icons these were taken out the sea The word which comes first in the dictionary s
Batch IY : 12.00 noon to 1.00 pm. placed at the extreme left position followed by (i
6 2 5 8 7 4 3 1 lowest number. In the second step, the word whid
from icons out sea the taken werethese comes second in the dictionary is placed at
Batch IV : 1.00 pm to 2.00 pm extreme left position followed by the second lowes
;5 1 2 5t 8 thl 3 tal‘: tl: number. The same process is continued till all i
rom icons ou Sea these were en the words get rearranged in the reverse order of Englist
Rest Hour : 2.00 pm to 3.00 pm alphabet and all the numbers get rearranged i
gﬂuﬁ ks 32 3.00 gﬂl to ;.00 !;m descending order,
' 7 4 3 |mnpat: 3 6l
from icons out sea these the takenwere put 72 lil;')ud gl beautiful 48 55 97 rich fanily
. nice life
6 2 5 8 1 7 3 , feP1: beautiful 17 32 proud girl 48 55 97 rich fan
from jcons out sea these the weretaken s 61 72 nice life
18. (5)Batch I : 10.00 am to 11.00 am P I: family 32 beautiful 17 proud girl 48 55971
6 8 7 5 4 3 2 1 61 72 nice life
he s0 used o gel the surplyg items Step I ; 8irl 48 family 32 beautiful 17 proud 55971
There fore, Input 61 72 nice life
1 .
s X 5 8 7 g |StePIV: e 5g gy 4g family 32 beautiful 17 prowd?
ltems surplus the sen ¢, he rich 61 7
19. (5)Batch IV : used so 2 nice '
6 P 8 i : niceelllfe55glrl48famﬂy32beau
back  go here 4 7 Proud 97 rich 72
People who \ 8
Setlle want to | Step VI proyg 79 nice 61 life 55 girl 48 faol¥

beautifyy) 17 87 rich
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. pich 87 proud 72 nice 61 life 55 girl 48 family

ri
32 beautiful 17
(3) Seven steps will be required to comptete the given

] INPUT |-

‘nice’.

26. (3) Option (3) is the step 11l of the given Input.

27. (1) The position of ‘nice’ from the left end in the
final step is fifth.

ut.
25. ::;Jﬂ"- third element from the left end of Step VI is [ 28, (2) ‘17 is third to the right of ‘family’ n Step V.
mer careful analysis of the given input and various steps of re-arrangement, it is evident that ;;}t e;oc:l ;‘-;P
one number or 2 word get re-arranged. In the first step. the highest number moves to the extreme
in the second step the word which comes first in the dictionary moves to the second position from the lefl.
These two steps are repeated alternately till all the numbers get rearranged in descending order and the-words
in alphabetical order.
u nput :vital 54 cards 72 help 24 wall 66 lamp 49
sepl :72 vital 54  cards help 24 wall 66 lamp 49
stepll :72 cards vital 54 help 24 wall 66 lamp 49
stepll :72  cards 66 vital 64  help 24  wall lamp 49
gepIV :72  cards 66 help vital 54 24 wall lamp 49
sepV :72  cards 66 help 54  vital 24  wall lamp 49
step VI 172 cards 66 help 54 lamp vital 24 wall 49
stepVII: 72  cards 66 help 54  lamp 49  vital 24  wall
And, Step V1II is the last step.
19, (3) Seven steps would be required to complete the rearrangement.
30. (1) There are five elements (help, 54, vital, 24, wall) between 66" and “lamp” in the Step V.
91, (4) This is Step VI
92. (2) Fourth element from the right end in the Step Iil = 24
Immediate to the right of “24" = wall )
38. (5) There are two elements between “66" and “lamp” in the final Step. Similarly, there are two elements between
*72" and "help” in the final Step. '
So, “cards” would be related to “54".
$4. (2) The element *wall” would come at the eighth position from the left end in the Step V.
38, (4) The element “help” would be at the seventh position from the right end in the Step V1.
(36—41) : After careful analysis of the input and various steps of rearrangement, it is evident that in each step
one word and one number are rearranged. The word which comes last in the dictionary order is moved to the
extreme left position while the highest number is moved to the extreme right position in the Step 1. In the next
step, the word which comes at the second position in dictionary order is placed at the second position from the
left and the second highest number is placed at the second position from the right. Such procedure is contin-
ued till all the words get rearranged in dictionary order but in reverse manner and all the numbers get rear-
ranged after the words in ascending order. '
input : arrow 98 paint 58 lamb 38 each 78  great 18 most 48 rent 88 ¢
Stepl : rent arrow paint 58 lamb 38 each 78 great 18 most 48 88 98
StepII : rent paint arrow 58 lamb 38 each 78  great 18 most 48 88 98
Step Ill: rent paint most arrow 58 lamb 38 each great 18 48 78 88 98
StepIV: rent paint most lamb arrow 38 each great 18 48 58 78 88 98
StepV : rent paint most lamb great arrow 38 each 18 4858 78 838 98
Step VI: rent paint most lamb great each arrow18 38 48 58 78 88 98

36. (3) 5th to the left of the sixth from the right means
11th from the right, i.e., 4th from the left as there
are 14 elements,
4th from the Ieft in the Step V = lamb

37.(4) The position of ‘58 in Step IV is eleventh from
the left and fourth from right.

38. (1) There are eight elements (lamb, great, each, ar-
Tow, 18, 38, 48, 58) between “most” and “78” in the
Step V1, .

3. {5) This is Step 1L,

40. (2} 11th from the right means 4th from the Jeft.
4th from the left in Step 111 is “arrow”. N

41. (4) In the Step VI, “each” is at the sixth position from *
the left.

42. {1} In Step V, “great” is at the fifth position from

eft. '

(43-50) : After careful analysis of the input and various
steps of rearrangement, it is evident that in each
step two elements - one number and one word - are
rearranged. The word which comes first in the dic-

tionary order is moved to the extreme left poeition
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: 1 fill grid site main 6g g3 53 .

Step IV : art cal 3%
me
et s Jowest pumber Is moved (0 thes::t rethc Step V : art call fill grid main site 93 gg 53 35222 Iy
right position n the Step 1. In the next ‘iier s | 43.(4) This is Step IV. v
word which comes aecond n the dictonary of 53’ is fourth from the right o nin
placed at the second position from the left while the | 44, 1[e51}t Postep IV. th fron,
second lowest number is plﬂced at tl:’e sec;ncdom: 45 (3) ‘Site’ Is fourtl‘ from the left end in SteD Ill “!
rocedure . dt .
3:3 {510 ':nu:;eﬂig::d:h;eﬂmc pnged in dictionary | 486. (1) th steps are needed to complete g, ary
ment.

order from the left and the numbers get rearranged 47. (3) Option (3) Is the final arrangemen;

in descending order after the words. 48. (1} Option ( 1) the Step II.

Input : site grid 19 53 22 call ari main 35 66 fill 93 t
Step 1 : art ste grid 53 22 call main 95 66 I 9319 | 49, (O Seventh from g}t:t‘z;"fnh e 2:) PIV =~ gy
Step I : art call site grid 53 main 35 66 fil 93 22 19 80 [82‘; (i:"l?ereoare six elements (site, grid, 53% 3
Step I : art call ill site grid 53 main 66 93 35 22 19 " 93) between fill' and ‘35" in Step Iy, > M&in &

(61-88) : After careful analysis of the input and various steps of rear Idm‘ﬁ;"heg;}:;;sﬁ?;? ghﬂim
elements - one number and one word - are rearranged. The wor ‘:d to the extreme right position in Drd,,h
moved to the extreme Jeft position while the lowest number is mov is placed at the second tay

I. In the next step, the word which comes second in the dictonary order is p P:aiu(m frog

from the right. The same
the left while the second lowest number is placed at the second position
continued till all the words get rearranged in dictionary order from the left and the numbers get "earranged;':

descending order after the words.
Input : watch guide help sky 18 54 26 37 away press 76 42 85 decide

StepI : away watch guide help sky 54 26 37 press 76 42 85 decide 18
Step I : away decide watch guide help sky 54 37 press 76 42 85 26 18
Step I: away decide guide watch help sky 54 press 7642 85 37 26 18
Step IV : away decide guide help watch sky 54 press 76 85 42 37 26 18
Step V : away decide guilde help press watch sky 76 85 54 42 37 26 18
Step VI : away decide guide help press sky watch 85 76 54 42 37 26 18
81.(2) Option (2) is the Step HI. '
82. (4) There are four elements {(Words/Numbers) between ‘Buide’ and ‘press’ in the Step IV.
83. (5) Third to the right of the eighth from the right means fifth from the right end.

Fifth from the right end in Step V=54
B4. (3} Sixth
88. (1) Tenth from the right end in the Step IV = watch ,"_' ’

(8- =) ;

i,

Stepll  : children 2} parenting 36 raisin '
g 44 children is g9 very 9
Stent | Ty 95 demanding 7
St:!]: n; ‘ ;4 gtlirhe:lxd 21 parenting raising is 89 very 95 demanding 72 §0b2 t‘?i;b 1665 16d a;:
Steny :. 7. 1:: 21 Parenting raising 89 very 95 72 job 65 16 and 36 demanandmg
children 21 parenting ralsing 89 very 95 job 16 and 36 demanding 65

{
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,'9 ) .36’ is exactly between ‘parenting’ and ‘ralsing’ in the Step Il
W 408 i last step means Step V1. Option (3) i Step V1.

o 3)
K ot.! ; After careful analysis of the given input and various steps of rearrangement it is evident that two

tion
"a,,& Jeft pos s last In dictionary order 1s moved to the second position from the left while

TErILE) & £
§
=

% (6 umbers or words) are rearranged in each step. In the first step the highest number moves to the extreme

ents (D
elem while the second highest number moves to the extreme right position. 1o the second step the
the word which comes

wh“: dcg,; the last is moved to the second position from the right. In the third step the third highest number i3

’coo:ed to the extreme left position while the fourth highest s Lei bs juviced to the oxts 2 S e

m step the word which comes third from the last In dictionary order is moved to the fourth position the from the

|refl while the word which comes fourth from the last is moved to the fourth position from the right. The same
are 1s continued till all the numbers and words get rearranged.

"M“ .65 work In 23 to be 13 89 managed 48 97  load

.07 65 work In 23 to be 13 managed 48 load 34

34 healthy S5 style
healthy 55 style 89

I

step .97 work 65 In 23 be 13 managed 48 load 34  healthy 55 style to 89
gtep HL 66 97 work In 23 be 13 managed 48 load 34  healthy style to 89 55
suepV 165 97 work style m 23 be 13 48 load 34 healthy managed to 89 55
stepV : 48 65 97 work style m 23 be 13  load healthy managed to go 55 34
gep VI : 48 65 97 work style load 23  be 13 healthy in managed (0 80 65 34
stepVI: 28 48 65 97 work style load  be healthy in managed to 89 55 34 13
gtepVIN:23 48 65 97 work style load healthy be In managed to 89 55 34 13
42. (4) The element 'load’ is exactly between 'style’and  g6. (1) Eight Steps would be required to complete the

4e' in the second last step, i.e., Step VII. given arrangement.
g3. (5) The position of '48” in the Step Ill is eighth from @7, (3) Third last Step means Step VI.

the right end. 12th from the left end in Step VI = managed
64. (3) Option (3) is Step V. 8th to the left of ‘managed’ =» work
65, (2) The elements ‘be 13 healthy in’ are found in the TRICK .

same order in the Step VI 8th to the left of 12th from the left means 4th from

the left.

(68 - 72} : After careful analysis of the input and various steps of rearrangement, it is evident that in each step two
elements - one number and one word - are rearranged. The word which comes first in the dictionary order is
moved to the extreme left position while the Jowest number is moved to the extreme right position in the Step 1.
In the next step, the word which comes second in the dictonary order is placed at the second position from the

left while the second Iowest number is placed at the second position from the right. The same procedure is -

continued till all the words get rearranged in dictionary order from the left and the numbers get rearranged in

descending order after the words.
Input : watch guide help sky 18 54 26 37 away press 76 42 85 declde

Stepl :away watch guide help sky 54 26 37 press 76 42 85 decide 18
StepII : away decide watch guide help sky 64 37 press 76 42 85 26 18

Step Il : away decide guide watch help sky 54 press 7642 85 37 26 18

Step IV : away decide guide help watch sky 54 press 7685 42 37 26 18

StepV : away decide guide help press watch sky 76 85 54 42 37 26 18

Stop VI : away decide guide help press sky watch 85 76 54 42 37 26 18

88. (2) Option (2) is the Step L " ' .

69. (4) There are four elements (Words/Numbers) between ‘guide’ and ‘press’ in the Step IV.
70. (5) Third to the right of the eighth from the right means fifth from the right end.

Fifth from the right end in Step V = 54

71, (3) Sixth _

73, {1} Tenth from the right end in the Step IV = watch
{78-78) :

and various steps of rearrangement, it ls evident that two elements

After careful analysis of the given input
the first step the lowest number moves to the extreme right

(numbers or words) are rearranged in each step. In
position while the second lowest number moves to

in alphabetical order moves to the extreme right position while
the extreme left position. These two steps are continued alternately to complete the rearrangement.

the extreme left position. In the second step, the first word
the second word in alphabetical order moves to



ren 21 is 89 very 95 demanding 7,

hild

and raising 44 ¢ 9 very

fnput ;’;‘“’ mmgu,:: :;66 and raising 44 Chﬂdl:n,s iZQBvexy 95 demanding ;2 jgb 65 -
paren childre oD 65 15

89 very 95 demanding 72 | ang 3

ing is 5 16 and 36 4
Step I : 44 children 21 parenting raisrj Ing 89 very 95 72 job 6 cmandlu
. is 44 children 21 parenting rals dine @

36 de
95 job 16 and hap, "
StepIV parenting raising 89 very d 36 demandiy
P72 Is 44 children 2clhl]d 21 ratsing 89 very 95 16 an N

ding g5
6 and 36 demanding
Step VI : dren 21 ralsing very 1 8
: 95 parenting 72 1s 44 chil 16 and 36 demanding €5 job gg Falsing

Step 1

: 44
Stepll  : children 21 parenting 36 raising

Step V

Step VII

21
Step VI ; very 95 parenting 72 is 44 children

73.(2) ‘95 job 16 and’ appear in the same order in the Step V.

o ¢
95 demanding 73 ;. G’Bu

Ig

is seventh.
74. (4) The position of ‘72" from the right end in the Step IV |

78. (1} 10th from the left end in the Step Il = demanding
5th to the left of 'demanding’ = raising

1it,
76.(2) Eight steps would be required to complete the given a;’anf;:me
77. (5} ‘36" is exactly between ‘parenting’ and ‘raising’ in the Step II.

78.(3) Third last step means Step V1. Option (3) is Step V1.

input and various ste
(79 - 84) : After mmfu}l anarlzals of the lfl(\;l:h al::p In the first step the highest number moves tq the
are rearranged g

elements {numbers or words

left position while the second highest number moves to the m?ﬁ the left while the word which comeg
ary order is moved to the second position  step the third highest number {g Moveq (, the
to the extreme right position. In the fours, step gy,

oved to the fourth position the from the le while i,

comes last in diction
the last is moved to the second position from the right. In the

extreme left position while the fourth highest number is moved

ps of rearrangement it is evident that bug
right position. In the second step the %r:(m
Secongd fro,

word which comes third from the last in dictionary order is mposltton from the right. The same proceduge Is congy:

word which comes fourth from the last 13 moved to the fourth
ued till all the numbers and words get rearranged.
Input : 65 work in 23 to be 13

StepX :97 65 work In 23 to bhLe

StepIl : 97 work 65 In 23 be 13 managed 48
StepM: 65 97 work In 23 pe 13 managed 48
BtepIV:65 97 work style in 23 be 13 48
BtepV : 48 65 97 work style 1n 23 be 13

StepVI: 48 65 97 work style load 23 be 13
97 work style load be healthy in managed to 89 55 34 )

Step VII: 23 48 g5
Step VIIT: 23 48 45 97 work style load healthy be

89 managed 48
13 managed 48

97 load 34  healthy g5 style
load 34 healthy 55 style gg
load 34  healthy 55  style to g9
load 34  healthy style  to gg 55
load 34  healthy managed to gg 55

load healthy managed to' 89 55 34
healthy in managed to 83 55 34

In managed (o 89 55 34 3

79. (4) The element ‘load’ Is, exactly between ‘style’ and
"be’ in the second last step, Le., Step VII.

80. (5) The position of '48’ in the Step Ill s eighth from | g4,

the right end,

81. (3) Option (3) js Step V.

82. (2) The elements 'be 13 healthy in’ are found in the
same order in the Step VI,

83. (1) Eight Steps would be required to complete the

glven arrangement. _
{3) Third last Step means Step V1.
12th from the left end In Step Vi = Mmanaged

8th to the left of ‘managed’ = work
TRICK

_Bth to the left of 12th from the left meang 4th from
the left,

l RBI GRADE-B/ NABARD GRADE-A OFFICER Exans

(1-6} ;
Step IV :year 92 yitra 39 15 23
After carefu) analysis of the given Input and varjgyg StepV :year 99 ultra 39 strpy strive house

€ 15 23 house

step one word or number is rearranged. In the first Step VI :year 92 ultra 39 Strive 23 15 houge

ranged in descending order.

Step ViI: year 92 ultra 39 strive 23 house 15

Four more steps wi be required to complete
the Tearrangement.

- _ 2. (3) Input - any how 49 94 far wide 34 69
Step! : wide any how 49 24 far 34 69
Step 1] : wide 69 any how 49 24 far 34

R | Step IIl: wide 69 pyony any 49 24 far 34

Step 1y ‘year 92 ultra 15 23 striye house 3g

~UBPRE g5} -



| INpUT |

hY
N
Z s gtep 3’ :::: gg :g :g ?al:-y I?'I; ;a: g: Step IV : %%“gzg g'?sa;tay on how can 42 17 forever 03
an, 3 :::g v1: wide 69 how 49 far 34 any 24 Step V : young tips stay on how forever can 17 03 42
\ tu,,g cyom the glven 8P input cannot be determined. 50 62 67 89
8 85 s jnput play over 49 37 12 match now 81 Step VI : young tips stay on how forever can 03 17 42
3 ; uﬂsup, . play 81 over 49 37 12 match now 50 62 67 89
b b SteP i : play 81 over 49 now 37 12 match 8. (1} 1t is Step 111,
%ag step l“;tfp"l’l’]sl; fh":’ig :‘f; 37 match 12 10, (2) 42 13 at the fifth position from the right end 19
£ y Step V.
g step It - was 58 box cart 33 49 star 24 11. {1} Option (1) is the last step. 4
step s war 58 star box cart 33 49 24 (12-18) : After careful analysis of the given input an
step N: war 58 gtar 49 box cart 33 24 various awps Df rcanaangcment it is eVldent tha-t
GtepV ¢ war 58 star 49 cart hox 33 24 in each step one word and one number are rear-
gtep V1: war 58 star 49 cart 33 box 24 ranged. The words are rearranged from left in al-
6.4 phabetical order and the numbers are rearranged
jput : shower fall water 34 51 67 98 goal from the right in descending order but in the final
1 : water shower fall 34 51 67 98 goal step th ds get rearranged in alphabetical or-
it P ter 98 shower fall 34 D evee bers appear in de-
bhg Step 11 ¢ Waw 06 ab 67 toll gi g7 gz:ll der in reverse manner the num
t Step Ill; wa ower g scending order.
vﬁh"‘ step IV: watt:: gg xower g; go:ll fall 34 51 Input :31 rise gem 15 tﬁz 47 aim big 25 does
V: wa ower oal 51 with moon
:'.&3: ﬂ.[ﬁttep 8 fell 34 Step 1 :2:nngt1 83'33 gem 15 47 big 25 does 56
 the After careful analysie of the given input and various not 86 63 with moon 82 56
o e of arrangement it 1s evident that in each setp one | Step I :big alm 31 rise gem 16 47 25 does
e ord and one number ase rearranged. The words are re- not 83 with moon 92 85
ty. granged from the left in alphabetical order but in re- | Step IIl :does big aim 31 rise gem 18 47 28 B8
yerse order while the numbers are rearranged in descend- not with moon 92 85 63
e :;fc ‘;"d"" from the right. Step IV :gem does big a.ltr_,n 6?31 523.«. 15 47 25 not
’ with moon 92 8
gg Input : always 19 give 21 84 for 62 14 worthy cause | giep v ;moon gem does big aim 31 rise 15 25
Y o 1: worthy always 19 give 21 for 62 14 cause 84 not with 92 85 63 .6 47
g step 11 : worthy give always 19 21 for 14 cause 6284 | gren v :not moon gem does big aim rise 15 25
5 Step 111 : worthy give for always 19 14 cause 21 62 84 with 92 85 63 56 47 31
4 Step IV : worthy give for cause always 14 19 21 62 84 Step VII : rise not moon gem does big aim 15 with
| 7.(4) Option (4) is the Step II1. 02 B5 63 56 47 31 25
'l 8. (3) Four steps are needed to complete the arrange- Step VIII : with rise not moon gem does big aim
ment. ' 92 85 63 56 47 31 25 15
g 67 h 42 sta 17 | 13- () Eight
Input : gg gzmt‘:g: gg ow can 42 stay young 13. (4) ‘15 Is at the 7th position from the left in Step
v
Stepl: g:mu?fr%% %29 tips on 67 how can 42 stay 17 14. (2) It is Step VIL
Step It : young tips 50 62 on how can 42 stay 17 for- 18, (Sat)epg‘zn is at the sixth position from the ﬂght in
ever 03 67 89 S .
Step I1l : young tips stay 50 on how can 42 17 forev- 16. (3) ‘56’ is at the fifth position from the right in Step
er 03 62 67 89 the last step.

ut and various steps of re-arrangement, it is evident that in each step
d. In the first step the highest number moves to the extreme left
the alphabetical order moves to the extreme right position. In the

next step the second highest number moves to the second position from the left and the word =whick eames
second in the alphabetical order moves to second position from the right. The same procedure is continued Lill
all the numbers get arranged in descending order {from the left and the words get arranged in alphabetical

order from the right.

{17-22) : After careful analysis of the given inp
one number and one word are rearrange

position while the word which comes first int

Input :hardwork pays 96 42 in 79 long run 18 25 57

Stepl :96 work pays 42 in 79 long run 18 26 57 hard
Stepll :96 79 work pays 42 long run 18 25 57 in hard
StepIll ;06 79 7 work pays 42 run 18 25 long in hard
Steplv :96 79 57 42 workrun 18 25 pays longin hard
:tepv 96 79 57 42 25 work 18 run pays long in hard
tepVI :96 79 57 42 25 18 work run pays long in hard

- -

[ Se—

( BPRE-469 |—




—{ INPUT -

17. (3) This is Step IV. 18, 25,
18. (1) There are six elements (pays, 42, run.

long) between ‘work’ and ‘tn’ In the Stepl'lel;t. = the
10, {(4) The word ‘paya’ is fourth from the

Step I1,
20, {2) ghe word ‘run’ is seventh from the right in the

Step IV, V.
21. (3) The word ‘pays' is ninth from the left 1snteth': I?t:,pzs
22, (2) Fourth element from the right in the Step
Third to the left of 25 = 42
23-27) :
( A?‘ter careful analysls of the given input and vaz;
ous steps of rearrangement, it {a evident that in ea :
step four elements {two words and twe numbers) a;‘e l:&
arranged. In the first step the lowest number is plac
at the extreme left position while the highest number
is placed at the extreme right position. Again, the word
which comes first in the dictionary order is placed at
the second position from left and the word which comes
last is placed at the second position from the right. In
the second step, the second lowest number is placed at
the second position from the left and the second high-
est number is placed at the second position from the
right. Again, the word which comes second in the dic-
tionary order is placed at the fourth position from the
left and the word which comes second last in the dic-
tionary order is placed at the fourth position from the
right. The same procedure s continued till all the words
get arranged in the dictionary order after four numbers
which are in ascending order. The remaining four num-
bers also get arranged in ascending order after the eight

words.

Input : zebra 24 81 chip team

31 11 win arm blanket
slip 62 55 dawn 91 78
Step1: 11arm31 win blanket 24 81 chip team slip 62
55 dawn 78 zebra 91
Step I : 1124arm blanket 3] chip
78 win zebra 81 9}
Step I : 11 24 31 arm blanket chip slip 62 55 dawn
team win zebra 78 8] 91
Step IV : 11 24 31 55 arm blanket chip dawn slip team
win zebra 62 78 81 91
23. {4} The position of “sHp” in the Step INI is seventh
from the left,
24. (2} There are sjx elements (slip, team, win, zebrg,
62 78) between “dawn” and g1~ In Step 1v,

23, I‘l” “62" Is at the ningh Position from the Jeft In Step

team slip 62 55 dawn

26. {3) In the Step 1! “dawn*

from the right,
27. (6) Sixth
S element from the right in the Step Il =

Is at the seventh position

Third (o the left of “‘team”=s go
(28-333)‘; oﬁfﬁe careful analysis of the glven Input ang
cact ps of Tearrangement i I8 evident that in
ber) o P two elementg (one word and one num-
Tearranged, 1 the firgt step the highest

31. (3) The €lement ‘13’
az2.

(33 ~

/)
!

moves to the extreme lefy Posiy
:Ilrgintj:::e interchanged while the on
tains least number of letiers, moves ¢,
right position. In the second atep, the x
est number moves to the exireme jop Poa
its digits are interchanged while the ot n
contains the second lowest number of letter,
to the extreme right position, The same Dl‘oced
is continued till all the numbers anqg Wordy p N
arranged following the rule mentioneg by e

a""tl

Fis

(28-32) :

Input
table 46
Stepl : 28tyre 71 toughen 59 tip 13 thankg 68 »
46 to
Step Il : 17 28 tyre toughen 59 13 thanks gg tabl
to tip
Step Il : 86 17 28 toughen 59 13 thanks tabye 4 gy
tyre
Step IV : 95 86 17 28 toughen 13 thanks 46 Uy,
table
StepV : 64 95 86 17 28 toughen 13 ty tip ty"elah[,
thanks
Step VI : 31 64 95 86 17 28 to tip tyre table thany,
toughen
28. (2) 31 +1=32;64-2=62;
95+ 1=96; 86-2 =84;
17+1=18; 28-2 = 26;
The numbers 32, 84 and 96 are multiples of 4
29. (1)
Step Iil : 86 17 (28] tough [59] 13 thanks 46 to iy
]
‘28" will be to the immediate left of ‘46,
30. (4) Second last step means Step v :

3rd element from the left in Step V = 8¢

9th element from the left in Step v = tip

comes exactly between ‘59' and
‘thanks’ in Step I1.

(5) 8th from the right end in Step IV = toughen
Third to the right of ‘toughen’ = 46

34) : After careful analysis of the given input and
various steps of réarrangement it is clear that in
each step two elements are rearranged. The high-
est number moves to the extreme left position whil
the word which woug appear last in the English
alphabetica] order is moveq to the extreme right
first step,

left position while the worg which would appesr
Second last {n (he English alphabetical order
moved to the extreme right position. The same pre
cedure (g continued i) )
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regular 46 exercise 31 29 must for 84 a| a3 StepIll: 234 442 542 473 367 735 549 !
1
}

D
COong a1 no StepIV: 234 442 542 473 735 367 549 :
:?Bjug fu&! s .,-?glgu fmme 31 29 must for 54 all 83 now (6-13) : After careful analysis of the given input
-tt:ru 1: ' ; 83 91 46 exerclse 31 29 must for 54 3]l peg. | 2Nd Various steps of rearrangement it is evident that all :
b Ty g, sep ¥ ° ular now T8 | the words get arranged in alphabetical order fmmﬂlelz itz
)rd’oceq Ly g : 54 83 91 46 exercise 31 29 for all regular | Fight In the final step. The word which appears irs
lbo:gelb“ step now must X alphabetical order moves to the extreme right positon
e T v @46 54 83 91 exercise 31 29 all regular now | @nd then it moves towards left stepwise.
0 step must for (6-9) :
ks o step ¥ gefgf 83 91 29 all regular now must for | Input : dare a beach null wrap steel
Step I : dare beach null steel a
38&,%' seep V1 ’3’;2:"6548391 gular now must for ex- Steglud?}exfsﬁwgp:e:rabeach
tqb! b . 0 Eleventh element from the left in the last step = Step HI : null wrap steel a beach dare
S exercise Step IV : wrap steel a beach dare null
45 Seventh to the left of “exercise” = 54 Step V : wrap a beach dare null steel
t ty JRICK Step V1 : a beach dare null steel wrap
4 Seventh to the left of eleventh from the left in the Step VI is the last step.
Py, fast step implies fourth from the left (11-7 = 4) 6. (3) Stx steps will be required to reach the intended
e Fourth from the left in the'las.t step = 54 arrangement for the given input.
by gs (1) 29" is exactly between ‘31’ and ‘for’ in the third 7. (2) Option (2} is the same as step II.
step- 8. (3) The word ‘a’ is second from the left end of Step V.
hay d of
's l INSURANCE EXAMS 9. (sﬂp 11;5 word ‘steel’ is fourth from the right end o
T (10-19)
16 13 17 25 23 14 ‘ (E} : Step I :kite metal blue offer arrange
4 pput : 655 436 764 799 977 572 9333 (C) : Step II :kite metal offer arrange blue
sepl @ 333 436 764 799 977 572 655 {4) : Step Il : metal offer arrange blue kite
sepll : 333 436 572 799 977 764 655 (D} : Step IV: offer arrange blue kite metal
]f}'rr seplll: 333 436 572 655 977 764 799 (B) : Step V :arrange blue kite metal offer
2 ) 10. (1) (A} is the Step IIL.
13 14 10 22 11 6 11. (S4tl Tl;;z word ‘blue’ is the first from the right end of
ep II.
mput : 544 653 3256 688 461 231 20 12,2 ::3) is the Step v
857 ’ ' '
sepl : 231 653 325 688 461 544 857 13. {4) (D) is the Step IV.
Stepll : 231 325 653 688 461 544 857 (14-18} : After carefut observation of the given input and
various steps of
Swpllf: 231 325 461 668 653 544 857 each step t?ne w;em:nrgeeammmtgi:;?gg ?;rtcll? ::
d  SeplV: 231 325 461 - 544 653 688 857 rearranged as per alphabetical order and the num-
SepV : 231 325 461 544 653 857 688 ber of letters i, the word,
3 (311 9 14 18 10 13 14.(2)
Input : 236 522 824 785 622 463 16 Input :the in car as he may me
J 358 Stepl :car the in as he may me
Stepl : 522 236 824 765 622 463 358 Step Il :car may the inas he me
Sepll : 522 622 824 765 236 463 358 Step Il :car may the as in he me
Stepll: 522 622 236 765 824 463 358 8. (1
18. (1) _
4.9 Stepll :clever remand window sales batch tiger
8 10 11 15 22 13 never

put: 620 415 344 537 787 634 23 977 Step Il :clever remand window batch sales tiger

Sepll: 620 415 344 634 787 537 977 never
:clever remand window batch never sales

SepIv:620 415 344 634 537 787 977 Step IV
5. tiger

4 10 15 11 16 9 16.(3)
lput : 473 442 735 542 367 234 18 549 | Input :true se veto be nuke my like

Sepl: 234 442 735 542 367 473 549 Stepl :like true se veto be nuke my
Step Il :like nuke true se veto be my

Sepll; 934 442 542 735 367 473 549
e ——
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:fights cough sough acts more cats idea
ifights cough sough acts cats more idea

:amis goes to the bar after dinner everyday

:everyday dinner amis goes to the bar after
:everyday dinner after amis goes to the bar
Step IV :everyday dinner after amis goes bar to the
StepV  :everyday dinner after amis goes bar the to
(29-23} : After careful analysis of the given input and
various steps of re-arrangement it is evident that
~ in each step one number and one word are rear-
ranged. In the first step the highest number and
the word that comes in the last in alphabetical or-
der move to the extreme left position. In the next
step the second highest number and the word that
Comes last but one in alphabetical order move to
the extreme left position. The same procedure is
continued till all the numbers get arranged in as-
cending order and all the words in alphabetical or-
der. o
Input: storegs clean 56 tape 15 break 28 feet 35 wait
69 ice 71 _
95 wait store clean 56 tape 15 break 28 feet
_ 35 69 ice 71 : o
Stepli: 71 tape 95 wait store clean 56 15'break 28 -
' feet 35 69 fce -
Step Ill : 69 store 71 tape 95 wait clean 56 15 break 28
feet 35 ice -

Step IV : 56 jce 69 store 71 tape 95 wait clean 15 break
28 feet 35 o

StepV': 35 feet 56 tce 69 store 7 tape 95 wait clean’
15 break 28 ' ’

Step VI: 28 clean 35 feet 56 ice 69 store 71 tape 95
wait 15 bregl ' '

Step VI : 15 break 28 cfean 35 feet 56 ice 69 store 7
tape 95 wajt ‘ '

Anf Step VIl is the last step of the above in-
pu ' . I. . .

19. (1) The 8iven outpyt (g the Step V.

20. (3} ‘CI " | .
otop Wefan S at the sixth Position from the right i

2L, (4) There are elght elemen;s,

::. (‘52; 'l;;jt'ls the sixth from tha left in the ¢
A ‘69’ Is at sey
Stepa entfl posj|

Step I:

hird Step, *

I " T a ek o a{l?-lyﬂ_t:
751 ste, o clments (ome.word and one i ok
) .‘., rangé‘d_l’r;me stcp l,.theWO 'd:
* S faare ghta, cala cnfigh: sough acts: dea .
i f&h'ght's"ﬁf'rnc-ré-r"mts cough sough "acts ‘idea -

e e oz

1 .:fights coligh more cats sough acts'ldga- :
.:ﬂghts cough sough more cats acts idea :

:fights cough sough acts ‘cats’ idea more

of the given
1t:18 eviden

L

corder is placed at the, extrémg i ™o
:rﬁltl‘: rtll-la‘ilg"lmlw:sl; number is placed atthe%

. d. low g'g Hgy
- In the step II, .the second. loweg t Dy, S
g&s;;?gt the extreme left position while the Worg':th !

rder. is,plaz.; wh‘eh

ond .in the dictionary o p e g
ggt?:r?l:er(i:ght position. These two steps ape; . At j
|

|

T Congys
alternately to.complete the rearrangement, O "n"
:weight 34 93 and 14 demityl-&.l._- concem

‘everyday amis goes to the bar after dinner

tion from the Jef; inthe |

I@Put 49 74 be understood 56 . :
:and weight 34 93 density 84 ¢ cept § O |
Step | ‘?2 be understood 56-14 .- ¢h19 :
: 34 and weight 93 density 84 Concepy, .
Stepll . ‘74 understood 56 14.be - . m%s ‘.
Step Il :concept 34 and weight 93 de sit}"&;_tq.“ :

. understood 56 14 be 49 | -~
IV :56 concept 34 and w;ight 93841074 unde,.
ST ood 14 be 49 density e
:to 56 concept 34 and weight 93 84 iy,

opV ;
Step stood 14 be 49 density 74 :
Stép VI :84 to 56 concept 34 and weight 9314 be'sg

density 74 inderstood

Step VII :weight 84 to 56 concept 34 and 14],,: 49 gy,

. sity 74 understood 93 . -

24. (5) Eleventh element from the right in the last Slep
= 56 S o
Seventh to the right of 56 = .density .- - o

-m . .. , .'-"..;‘

Seventh to the right of eleventh fro_m._thq right
means [ourth from the right (11- = 4],

Fourth from the right ~ density IR
(2) The position of ‘concept’ from the fight end of
the second last Step is eleventh, R
(3).Steprv: ... -9384+¢0 ..., LT
(4) The position of ‘weight’ from the left of ‘56 iy
the third step is seventh, S
(2) The elements ‘to 49 47 understood’ are found
in the same order jn the Step 11, R

e extreme.rigllut Position, The same procedure s
‘ the numberg et rearranged inde-
Scending orde, from the leg aid all the words get

— - N

rearranged in alphabeticq) order after the'nﬁmbm_'-

~ BPRE47 ) oo e



3 4 S |6 7 1Is |9 10 11 12 13 14

sit 14 | 32 | not { best|ink [feet | 51 27 vain | 68 o2

why | sit 32 | not | ink [feet | 51 27 vain | 68 02 .best " |

84 | why |sit [ 32 | not |ink [51 | vain | 68 92 best | feet

14 84 why| sit | not |51 |vain| 68 a2 best | feet ink

27 | 14 |84 | why| sit [vain|68 | 92 best | feet | ink not

52 | 27 14 | 84 | why|vain |92 | best | feet | ink not sit

51 132 127 |14 | why|92 [best|feet | ink | not | sit vain

68 51 32 | 27 14 | best | feet | Ink not sit vain why
Py, | "3 1n Step 1. 'sit’ and ‘not’ are there between ‘why’ bers are rearranged tpto Step [ll and then words are
o, and BT rearranged. In the first step the lowest and the sec- .

ond lowest numbers are placed at the extreme left

4. (5) Option (5} is the Step IV.
Ogy - :2'lll qhe word ink’ is fifth to the left of ‘best’ in the

. stepll.
74 i ) 13th from the left In Step V = not

gth to the Jeft of ‘not’ in Step V = why
sh.(2) The elements ‘27 14 why vain best' appear in the
same onder in Step VL.

‘ ) ¢ After careful analysis of the given input and
“ various steps of rearrangement, it is evident that
only numbers are rearranged upto step III. Then,
. one word is rearranged in each step after three
: numbers in the English alphabetical order. The
| highest number is placed at the extreme right po-
P sition while the lowest number is placed at the ex-
treme left position in the first step. In the next step
the second highest and the second lowest numbers
are rearranged. In the final output the three small-
er numbers get arranged from the left in ascend-
ing order and the three larger numbers get ar-
ranged after all the words in ascending order. The
words are rearranged in alphabetical order.

;mput : 67 hot sun 19 best 83 ice 49 ace 77 cut 37
Step1 : 19 67 hot sun best ice 49 ace 77 cut 37 83
Step Il : 19 37 67 hot sun best ice 49 ace cut 77 83
Step 111 : 19 37 49 hot sun best ice ace cut 67 77 83
Step IV : 19 37 49 ace hot sun best ice cut 67 77 83
Step V : 19 37 49 ace best hot sun ice cut 67 77 83
Step VI: 19 37 49 ace best cut hot sun ice 67 77 83
Step Vi : 19 37 49 ace best cut hot ice sun 67 77 83"
35. (4} Seven steps would be needed to complete the re-
arrangement.
3%.(3) 1t is Step V.
37.44) Option (4) is Step 1.
38.(2) Option (2) is the final arrangement.
%.01) The word ‘sun’ 1s at the 7th position from the

right in the Step IV. .
Ho44) ;

:ﬂer careful analysis of the given input and various
teps of rearrangement it is evident that only num-

der,

er.

and right positions respectiveiy. in the second step
the third lowest and the fourth lowest numbers are
placed at the extreme left and right positions respec-
tively. In the third step, the second highest and the
highest numbers are placed at the extreme left and
right positions respectively. In the fourth step the
words which appear at the first and the second posi-
tions in alphbetical order are placed at the exireme
left and right positions respectively. Similarly, in the
second step, the words which appear at the third and
the fourth positions in alphabetical order are placed
at the extreme left and right positions respectively.

The same procedure is continued in the next step (s).
Input : chemical 68 11 reaction 87 is 21 hard to 53
92 detect
StepI:11 chemical 68 reaction 87 is hard to 53 92
detect 21 .
Step II : 53 11 chemical reaction 87 is hard to 92
detect 21 68
Step 111 ; 87 53 11 chemical reactionisl rd t« de-
tect 21 68 92
+ Step IV : chemical 87 53 11 reaction is hard to 21
68 92 detect
< Step V: hard chemical 87 53 11 reaction t« 21 88
92 detect is
- Step VI : reaction hard chemical 87 53 11 21 68 92
detect is to
40; (2) The elements ‘to 92 detect 21’ -are found in the
. same order in the Step II.
41.(5) The position of ‘21’ from the right end in t e
Jlast Step is Sixth.
42.(4) The elements ‘87 53 11 reaction’ are found in

the same order in both the fourth and fifth steps.
43. (1) 5th to the left of 9th from the left and means 4th

from the left end. - :

4th elements from the left end in the step IV = 11

44. (3) The element ‘reaction’ Is exactly between ‘chemi:

cal' and ‘87" in the step Il
a9

e ——
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i Ty
MODE 4.1 Step Il of an InpLE 1 mtm

I

nt machine,
Directions (1-3) : A word arrangeme following a

it
when given a particular input. rearranges of the input

particular rule. The following Is the illustration
steps of arrangement
e t::pu:l:s put pocket hand watch he for them
Step I : put for he watch hand pocket them
Step I : put he for watch pocket hand them
Step HI: put hand pocket watch for he them
Step IV: put pocket hand watch for he them © and
Andsoongoestl-lemaclunr;.studylhcm
answer the questions that follow.
1. If step Il of a given input be fly sky birds my su fur
say', what s the seventh step of the input?
(1} fly sky birds my su fur say
(2) fly birds sky my fur su say
{3) fly fur su my birds sky say
(4) fly su fur my sky birds say

(5) None of these
2. If step VI of an input 1s ‘slow ran dhurwa pat hak dig

VI, what s step V of that input?

(1) slow dig hak pat dhurwa ran vi

(2) slow hak dig pat ran dhurwa vi

(3 slow dhurwa ran pat dig hak vi

(4) slow ran dhurwa pat hak dig vi

{5) None of these

3. Given the following

Input : ana dhir raj ran san rah aji
What step will be the following arrangement?
Arrangement : ana san rah ran dhir raj ajf
mw 2 v 3v1
(4) vl (5) None of these

Directions (4-7) : Read the following information
carefully to answer these questions.

A word number arrangement machine when given,
an ipput as set of words-numbers, rearranges them
following a particular rule and generates stepwise output
till the rearrangement is completed following that ryje.

Following Is an Mustration of tnput and steps of
rearrangement till the Jast step.

Input : pour agk 57 dear 39 fight 17 2g
Step! : ask pour 57 dear 39 fight 17 og
Step Il : ask 57 pour dear 39 fight 17 28
Step Il: ask 57 dear pour 39 fight 17 2g
Step IV: ask 57 dear 39 pour fight 17 28
StepV :ask 57 dear 39 fight pour 17 23

Step VI: ask 57 dear 3g fight 28
Pourl7ands
I8 the last output, PV

As per the rufe followed 1n the ahoye steps, find oyt

Input : ropes 12 33 stro

» which of the following wil] be the
mv @
([4} vil {5) None of thege
I of an input is “car 17 vas g,
5. '5[2“..1:,?:1?!’1 of the following will be the Step ?vz?g, i\
92 like 87 tiger 17 vas 52 (2) car g3 e gl
> 52 17 '
{3) car 92 like 87 tiger vas
{4) car 92 like 17 vas tiger 87 52
(8) None of thes; a1 (22 track 1
: for 4 high .
s ;gﬁ;;;’;avlﬂu be the Step III? w"'kh%
(1) for 49 high zeal 31 22 track 12

(2} for 49 high 31 zeal 22 track 12
(3) for 49 high 31 track 22 zeal 12
{4) for 49 high 31 track zeal 22 12
(5) None of these “
7. Input : 19 feet 34 28 dog bag 43, B“S‘“ﬁog]gfm
34 28" would be the Step
(1 2w
@n (4) None of these

Directions (8-12) : Study the following mfm%

N
@y ‘uy

' carefully and answer the questions given below .

When a word and number arrangement Machig,

glven an input line of words and numbers, it
‘| them following a particular rule. The following i o llys,
tration of Input and various steps rearrangement,

(All the numbers are two digit numbers)

Input :2593aslullstampbolt453463total 13 alter py,
StepI : alter2593&shﬂlstampbolt453463totalrhem
Stepn:alteras%hﬂlétmnpbolt453463totalrhe2513

As per the rules followed in given steps, find out the

appropriate steps for the given input,

Input for qQuestions :
ng 35 19 in blue ample kite 47

ment
(1) 47 (2) 35 3) 57
{4) 33 (5) 77 R

of the second last step of the 7

given arrangemen
(1) Tenth (2) Elghth (3) Eleventh
(4} Seventh (5) Ninth




o N\ clement(s} 1s/are exatly between ‘strong’ and

Ly, 30 . Pyrmthe third step of the given arrangement ?

D?. ‘” 'ldtc’ 'm' a_nd *kite'

R @ po +a5' and ‘kite’

M&’he 3 poth

& l“l‘\ @77 N
; what is the position of ‘blue’ from the left of ‘strong’

B in the fourth step of the given arrangement ?

; () Fifth (2) Third (3) Second
42.1n which step of the given arrangement are the ele-
ments 38 kite 47 77" found in the same order ?
(D Step 111 (2) Step Il
(9) Step IV (4) StepV
(5) The givent order of elements is not found in any
_ step . :
lsf&q Directions (18-17) : Study the following information
carefu]]y and answer the questions given below :
when a word and number arrangement machine s
given an input line of words and numbers, it arranges
Natiy, pem following a particular rule. The following is an illus-
tration of input and rearrangement. (All the numbers are
ey o digit numbers)
Mgy uout @ 41 sprain 10 early 97 noble 26 65 ankle
Ty death '
stepl : 97 41 10 early noble 26 65 ankle death
sprain
'ty Gepll : noble 97 41 10 early 26 ankle death
e 3 sprain 65, |
13 Steplll : 41 noble 97 10 26 ankle death sprain 65
513 early . ' '
B SepIV : death 41 noble 97 10 ankle sprain 65
1 early 26 ..
B SepV : 10 death 41 noble 97 sprain 65 early 26
o ' ankle.

Step V is the last step of the above arrangement as
the intended arrangement is obtained.
As per the rules followed in the given steps, find out
the appropriate steps for the given input.
/ . Input; omits 36 59 yards 41 elect train 12 lakes
5
' 13. Which element comes exactly between ‘85’ and ‘lakes’
in the Step III of the given input?
(1) 59 (2) yards
(4) omits (5) train
14, Ifin the first step, ‘59’ interchanges its position with
‘lakes’ and *omits' also interchanges its position with
‘12’ then which element will be to the immediate left

(3) elect

represents the

18. Which of the following combinations
the Step V of

first two and the last two elements in
the given Input?
{1) 41, train and omits, 36
{2) 12, lakes and 36, elect
(3) 12, lakes and omits, 36
(4) lakes, 41 and 36, elect
(5} lakes, 41 and 59, omits
16. Which element is fourth to the right of
is ninth from the right in the Step V of the
input?
(1) yards (2) 36
{4) elect {5) 12
17. In which step are the elements ‘train 85 yard
found in the same order?

the one which
given

(3) 85

s 59

(1) Third (2) Fourth

(3) Second {4} Fifth

(5} The given order of elements is not found in any
step

—s SHORT ANSWERS

1.(1) 2.(2) 3.3) 4.(3) 5.(2)
6.(1) 7.(4) 8.(2) 9.(5) 10.(3)
11.(4) | 12.(1) |13.3) |14.(5} 15.(2)
16.(1) 17.{4)
—sm EXPLANATIONS ==
1. (1) fly sky birds my su fur say
Step
1t [Fly | sky\ birds jmay | su_fur |say
.| Fly [birds “sky [may| fur “su |say
v.|Fly| su fur |may| sky_ birds|say
VL.|Fly| fur “su |may |birds sky |say
VIL|Fly | sky birds [may| su fur |say

2. (2) slow hak dig pat ran dhurwa vi

Step
v.|Slowphak dig

pat] ran_dhurwa

vl1.[Slow| dig hak [patjdhurwa ran

hak  dig

Slow

Vil ran_dhurwa pal

of '41%?
(1) 59 (2) omits (3) 12
(4) elect (5) lakes
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av
2 afa]5 67
Input :lanaf dhir  raf frah | san rah|ajl
Step:1:Janaf ra san {rah raj dhir aji
Step : Il :fana| san “rah Jrah | dhir rajf ajl
Step: Il : raj, ,dhir{rah | rah sanjajl
Step : IV :Jana dhtrbgraj rah | san rah{ajl
Step:V: raxgan rah ;a}j?ihlr aji
Step: VI: san rah [rah | dhir raj{ajl

(4-7).-

After careful study of the given input and various
steps of reamngej:nent . “g may conclude that in
the first step one word which comes first in d!ctlcg
nary is placed at the first position from the left an
other terms are kept as they are. In the second step,
the highest number ia placed at the second place
keeping rest of the terma as they are and the same
process is continued till the rearrangement ends.
4. (3) Step I : cut 97 38 end for 20 46 down
Step lII: cut 97 down 38 end for 2946
Step IV: cut 97 down 46 38 end for 29
Step V: cut 87 down 46 end 38 for 29
Hence, step V is the last step.
8. (2) Step I:car 17 vas tiger 92 87 like 52
Step Il ; car 92 17 vas tiger 87 like 52
Step III: car 92 like 17 vas tiger 87 52
Step IV: car 92 like 87 17 vas tiger 52
8. (1) Input :zeal for 49 31 high 22 track 12
StepI : for zeal 49 31 high 22 track 12
Step Il : for 49 zeal 31 high 22 track 12
Step II: for 49 high zeal 31 22 track 12
7. (4) Input :19 feet 3¢ 28 dog bag 43
Step1 : baglefeet3428dog43
Step Il : bag 43 19 feet 34 28 dog
Step IlI: bag 43 dog 19 feet 34 28
(8-13) : After carefiy) analysis of the given Input and var.
lous steps of fearrangement, it is evident that in each

Same procedure 45 continued ti1 g th
etg ag per the dictionary order l'routl3

€ numbers get
the words {n descending oner get rearranged after

‘Topes 12 33 g, 35 19
4777 57 "6 %019 1n blue ampe e

Step1 pla
77 8 xmz a3 itrong 35 10 in blye kite 47

Steplll :.. 8533

: ample blue FOpes 93 aal“'“hq
57 1612 N
ample blue In ropes strong 3p o
v ;ample blue in kite ropes strong oy, |
Step 3319 12 "3
Step v :ample blue in kite ropes etrong 7, @
1912
[2), 1 ogffmm the right end of the lag; o iy,
% gth to the right of kite =3 ‘
o 3 oo T rom e g
) d last step I8 nte * .
?cmc;:l Step IlI, the elements ‘35, kite'
10 and '47'

'Btl'ong : [ »
11. (4) In the fourth step ‘blue’ s fourth tq the o

‘strong'. . ,
e elements '35 kite 47 77" are founq
12 gl}:::ordcr in the Step 1L g
(18-27) : analysis of the given inpyt and
v
Agfm.emcm. it 18 evident that in the gy

:htzp;ighest number moves to the extreme lef M‘lug
while the word which comes last in the alphabetioy o
der moves to the extreme right position, In th, oecoy
step the word which comes second last in the a’Phabn.
ical order moves to the extreme left position while ¢,
second highest number moves to the extreme right Pog;,
tion. These two steps are continued alternate]y til
the numbers and the words get rearranged,

step II
Step M ¢

Input gg:ﬂts 36 59 yards 41 elect traip 12 Jaky
StepI : 85 omits 38 59 41 elect train 12 lakey
Step II met’: omits 36 41 elect 12 lakes Vardy
.St‘ép I : Z? train 85 36 elect 12 lakes yards 59
Step IV : g::lit: 41 train 85 elect 12 yards 59 opy
StepV 1

112 lakes 41 train gs’ yards 59 omits 3%
e

ect
13. (3) The element ‘elect’ comes exactly between ‘85
and ‘lakes’ in the Step III,

elect 12 lakes ..,
14, (3)
Stepl: 85 omits 36 59 4 elect train 12 lakes
yards

After interchanging the Position of elements ;
mﬁr *86 12 36 lakes 41 elect train omits 5

‘Tlltv' the element ‘lakeg I3 to the immediate left of
18.(2) First two elements in the Step V = 12, lakes

Last two elementg in the Step V = 36, elect
16. (1) 9th from tpe right in the Step v = lakes

::h to the right ‘lakes
17.(4) The clements ‘trayn 85 ' are found I?
the same order in the Step ‘),:ards 59 are




